


VERTICAL PUMPS

EVM

CONTENTS 50Hz
Rev. J
Page
- SPECIFICATIONS 200-201
SELECTION CHART 202+204
TYPE KEY AND CURVE SPECIFICATIONS 205+207
PERFORMANCE CURVE EVM(.) 3 208+211
PERFORMANCE CURVE EVM(.) 5 212+216
PERFORMANCE CURVE EVM(.) 10 217+220
PERFORMANCE CURVE EVM(.) 18 221+224
PERFORMANCE CURVE EVM(.) 32 225+231
PERFORMANCE CURVE EVM(.) 45 232+236
PERFORMANCE CURVE EVM(.) 64 237+243
- CONSTRUCTION 300
SECTIONAL VIEW DRAWING EVM(.) 3 without ball bearing 300
SECTIONAL VIEW DRAWING EVM(.) 3 with single ball bearing 301
SECTIONAL VIEW DRAWING EVMG 3 without ball bearing 302
SECTIONAL VIEW DRAWING EVMG 3 with single ball bearing 303
SECTIONAL VIEW DRAWING EVM(.) 5 without ball bearing 304
SECTIONAL VIEW DRAWING EVM(.) 5 with single ball bearing 305
SECTIONAL VIEW DRAWING EVMG 5 without ball bearing 306
SECTIONAL VIEW DRAWING EVMG 5 with single ball bearing 307
SECTIONAL VIEW DRAWING EVM(.) 10 without ball bearing 308
SECTIONAL VIEW DRAWING EVM(.) 10 with single ball bearing 309
SECTIONAL VIEW DRAWING EVMG 10 without ball bearing 311
SECTIONAL VIEW DRAWING EVMG 10 with single ball bearing 312
SECTIONAL VIEW DRAWING EVM(.) 18 without ball bearing 314
SECTIONAL VIEW DRAWING EVM(.) 18 with single ball bearing 315
SECTIONAL VIEW DRAWING EVMG 18 without ball bearing 317
SECTIONAL VIEW DRAWING EVMG 18 with single ball bearing 318
SECTIONAL VIEW DRAWING EVM(.) 32 without bearing 320
SECTIONAL VIEW DRAWING EVM(.) 32 with single bearing 321
SECTIONAL VIEW DRAWING EVM(.) 32 with double bearing 323
SECTIONAL VIEW DRAWING EVMG 32 without bearing 324
SECTIONAL VIEW DRAWING EVMG 32 with single bearing 325
SECTIONAL VIEW DRAWING EVMG 32 with double bearing 327
SECTIONAL VIEW DRAWING EVM(.) 45 without bearing 328
SECTIONAL VIEW DRAWING EVM(.) 45 with single bearing 329
SECTIONAL VIEW DRAWING EVM(.) 45 with double bearing 331
SECTIONAL VIEW DRAWING EVMG 45 without bearing 332
SECTIONAL VIEW DRAWING EVMG 45 with single bearing 333
SECTIONAL VIEW DRAWING EVMG 45 with double bearing 335
SECTIONAL VIEW DRAWING EVM(.) 64 without bearing 336
SECTIONAL VIEW DRAWING EVM(.) 64 with single bearing 337
SECTIONAL VIEW DRAWING EVM(.) 64 with double bearing 339
SECTIONAL VIEW DRAWING EVMG 64 without bearing 340
SECTIONAL VIEW DRAWING EVMG 64 with single bearing 341
SECTIONAL VIEW DRAWING EVMG 64 with double bearing 343
100

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONTENTS 50Hz
Rev. J
Page
SECTIONAL VIEW TABLE EVM(.) 3-5 344-345
SECTIONAL VIEW TABLE EVM(.) 10 346-347
SECTIONAL VIEW TABLE EVM(.) 18 348-349
SECTIONAL VIEW TABLE EVM(.) 32 350-351
SECTIONAL VIEW TABLE EVM(.) 45 352-353
SECTIONAL VIEW TABLE EVM(.) 64 354-355
QUANTITY FOR MODEL EVM(.) 3-5 356
QUANTITY FOR MODEL EVM(.) 10-18 357
QUANTITY FOR MODEL EVM(.) 32 358
QUANTITY FOR MODEL EVM(.) 45 359
QUANTITY FOR MODEL EVM(.) 64 360
BEARINGS 361
MECHANICAL SEAL 362-363
- DIMENSIONS AND WEIGHT 400
DIMENSION DRAWING EVM(.) 3-18 400
DIMENSION TABLE EVM(.) 3-5 401
DIMENSIONS TABLE EVM(.) 10-18 402
DIMENSIONS DRAWING EVM(.) 32-64 403
DIMENSIONS TABLE EVM(.) 32 404
DIMENSIONS TABLE EVM(.) 45 405
DIMENSIONS TABLE EVM(.) 64 406
PACKING DRAWINGS 407
PACKING TABLE EVM(.) 3-5 408
PACKING TABLE EVM(.) 10-18 409
PACKING TABLE EVM(.) 32 410
PACKING TABLE EVM(.) 45 411
PACKING TABLE EVM(.) 64 412
- TECHNICAL DATA 500
MOTOR DATA EVM(.) 3-18 500
MOTOR DATA EVM(.) 32 501
MOTOR DATA EVM(.) 45 502
MOTOR DATA EVM(.) 64 503
101

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

SPECIFICATIONS 50Hz
Rev. J
EVM(.) 3-18
PUMP
Version EVMG EVM EVML
Clean water, water contains Drinking water,_ Clean Clean water, water contains
T - water, water contains glycol
ype of liquid glycol and moderately ) glycol and moderately
aggressive fluids and moderately aggressive aggressive fluids
Liquid 99 fluids 99
Handled o min. -15
Temperature [°C] max. +120
Max solid content 50 ppm (particle size 0.1-0.25 mm or less)
Max chlorine ion density 500 ppm
Maximum working pressure [MPa] 16/25
[bar] 16 /25

Impeller Closed centrifugal type
Construction Shaft seal type Mechanical seal
Bearing Sealed ball bearing with permanent grease
i Suction
Pipe . uet See dimension table
Connection Discharge
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Bottom casing Cast iron EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Casing cover Cast iron EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Shaft EN 1.4401 (AISI 316)
Material Liner ri PTFE / EN 1.4301 (AISI 304 PTFE/
iner ring 4301 ( ) EN 1.4401 (AISI 316)
. Castiron/ Castiron/
Motor bracket Castiron EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
. . . Silicon
Mechanical seal Silicon Carbide/Carbon/EPDM Carbide/Carbon/FPM
O-ring EPDM FPM

Applicable standard of test

1ISO 9906 — Annex A

* Approval for drinking water application
WRAS Approved product
DM174/2004

WRAS

PP
pRO®

Type

MOTOR
Electric - TEFC

Single Phase Three Phase

Efficiency level (Reg. 640/2009)

- from 0.37 kW to 0.55 kW
- IE2 from 0.75 kW to 15 kW
IE3 from 7.5 kW to 15 kW

No. of Poles 2
Rotation speed [min™] ~ 2900
Insulation Class F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power rating [kW] 0.37 +2.2 0.37 + 15
[HP] 0.5+3.0 0.5+20
Frequency [Hz] 50
Voltage V] 230 +10% 230/400 £10% (up to 4 kW)

400/690 £10% (above 5.5 kW)

Over load protection

Provided by the user

Casing material

Aluminium

Flange mount (IEC motor)

IM B14 (up to 4 kW)
IM B5 (above 5.5 kW)

200

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

SPECIFICATIONS

50Hz

Rev. J

EVM(.) 32-64
PUMP
Version EVMG | EVM | EVML
Type of liquid Clean water, water contains glycol and moderately aggressive fluids
- o min. -15
hlgrl::jdled Temperature [°C] max. +120
Max solid content 50 ppm (particle size 0.1-0.25 mm or less)
Max chlorine ion density 500 ppm
Maximum working pressure [MPa] 16/3.0
[bar] 16 /30
Impeller Closed centrifugal type
Construction Shaft seal type Mechanical seal
Bearing Sealed ball bearing with permanent grease
Elpe . Sfmtlon See dimension table
onnection Discharge
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Bottom casing Cast iron ASTMCF8 ASTMCF8M
Casing cover Cast iron Castron + Cast iron +
EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Material Shaft EN 1.4401 (AISI 316)
PTFE /
Liner ring EVM 32 PTFE / EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
EVM 45, 64 PTFE / EN 1.4401 (AISI 316)
Motor bracket Cast iron
Mechanical seal Silicon Carbide/Carbon/FPM
O-ring EPDM [ FPM
Applicable standard of test 1ISO 9906 — Annex A
MOTOR
Type Electric - TEFC
Three Phase
- IE2 from 2.2 kW to 37 kW
Efficiency level (Reg. 640/2009) IE3 from 7.5 KW to 22 kW
No. of Poles 2
Rotation speed [min™] ~ 2900
Insulation Class F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power rating kW] 22+ 37
[HP] 3.0+50
Frequency [Hz] 50
230/400 £10% (up to 4kW
Voltage X 400/690 £10% (a(bc?ve 5.5 k\)N)
Over load protection Provided by the user
Casing material Aluminium
Flange mount (IEC motor) III\/IMBBS1(A;3§JL:)F\)/;05‘_1SKI\</\\;\)/)

201

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

SELECTION CHART 50Hz
Rev. J
US.gp.m. 10 15 20 3 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
| | | | | | | | | || | | || | | | | |
T T T T T T | T T T T 1 I T T 11 [ T T T
0 Imp.g.p.m. 10 15 20 3 40 50 60 70 80 90100 120 140 160180200 250 300 350 400
H 300 H
900
ft
[m] 250 800 (A
5 700
200 i =
! EEEA - 600
™N = -~
150 | \ ] - 500
. \ !
120 | - 400
Y O ) B W ‘r**””J.r” e e e e Y e 350
100 \ \
L 300
80
(] -
i : 250
I | 1 in 200
50 : 3 5 101 8 32 145164
| | |
50 | |
150
40 I
30 I 100
i .
| L 75
20 — . — -
-
— | AN
15 T . AN - 50
N \
N n
N . \ \ “0
10 \\ \H
9 — 30
8 L 25
7
6 —20
5
15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [I/min]
I I | I | I | I T T 1 I I T T 1 I I I I I I I
1 15 2 3 4 5 6 7 8 910 12 14 161820 25 30 40 50 60 70 100 g [m3m]

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

SELECTION CHART 50Hz

Rev. J
EVM(.) 3-18
Pump Type Motor Maximum Q=Capacity
EVM(.) kW | HP | Size | Working | ymin 0| 20 40 60 75 100 | 130 150 200 250 300 | 350 | 400
p;fﬂs;:;e m¥h 0| 12 | 24 | 36 | 45 | 60 | 7.8 9 12 15 18 | 21 24
Single phase Three phase H=Total manometric head in meters
3 2N5/0.37 M 3 2N5/0.37 037 | 05 | 71 18.6| 16.7 | 14.0 | 103 | 6.6 - - - - - - - -
3 3N5/0.37 M 3 3N5/0.37 037| 05 | 71 27.9| 251 | 209 | 155 | 9.9 - - - - - - - -
3 4N5/0.55 M 3 4N5/0.55 055|075 | 71 37.2| 334 | 279 | 206 | 132 - - - - - - - -
3 5N5/0.55 M 3 5N5/0.55 0.55 | 0.75 | 71 46.5| 42.0 | 349 | 258 | 165 - - - - - - - -
3 6N5/0.75 M 3 6N5/0.75 075 | 1 80 16 56.0| 50.0 | 42.0 | 30.9 | 19.8 - - - - - - - -
3 7N5/0.75 M 3 7N5/0.75 075 | 1 80 65.0| 58.5 | 49.0 | 36.1 | 23.1 - - - - - - - -
39N5/1.1 M 3 9N5/1.1 11 | 15 | 80 84.0| 750 | 63.0 | 465 | 29.7 - - - - - - - -
3 11IN5/1.1 M 3 11N5/1.1 11| 15 | 80 102.0| 92.0 | 77.0 | 56.5 | 36.3 - - - - - - - -
3 13N5/1.5 M 3 13N5/1.5 15 2 | 90s 121.0/ 109.0 | 90.5 | 67.0 | 43.0 - - - - - - - -
3 15N5/1.5 M 3 15N5/1.5 15 2 | 90s 140.0| 125.0 | 1050 | 77.5 | 49.5 - - - - - - - -
3 18F5/2.2 M 3 18F5/2.2 22 3 | 9oL 167.0| 151.0 | 126.0 | 92.5 | 59.5 - - - - - - - -
3 22F5/2.2 M 3 22F5/2.2 22 3 | 9oL 25 205.0| 184.0 | 154.0 | 113.0 | 72,5 - - - - - - - -
- 3 26F5/3.0 3 4 | 100 242.0| 217.0 | 182.0 | 134.0 | 86.0 - - - - - - - -
5 2N5/0.37 M 5 2N5/0.37 037| 05 | 71 202| - 184 | 169 | 154 | 122 | 6.9 - - - - - -
5 3N5/0.55 M 5 3N5/0.55 055|075 | 71 302| - 276 | 253 | 231 | 184 | 10.3 - - R - - -
54N5/0.75 M 5 4N5/0.75 075 | 1 80 405 - 36.8 | 33.8 | 30.8 | 245 | 13.8 - - - - - -
55N5/1.1 M 55N5/1.1 11 | 15 | 80 50.5| - 46.0 | 420 | 386 | 306 | 17.2 - - - - - -
56N5/1.1 M 56N5/1.1 11| 1.5 | 80 60.5| - 55.0 | 50.5 | 46.5 | 36.7 | 20.6 - - - - - -
57N5/1.5M 57N5/1.5 15 2 | 90s 16 70.5| - 64.5 | 59.0 | 54.0 | 43.0 | 241 - - - - - -
58N5/1.5 M 5 8N5/1.5 15 2 | 90s 80.5| - 735 | 675 | 615 | 49.0 | 275 - - - - - -
5 10N5/2.2 M 5 10N5/2.2 22 3 | 9oL 102.0| - 935 | 86.0 | 79.0 | 63.0 | 36.6 - - - - - -
511N5/2.2 M 5 11N5/2.2 2.2 3 | 9oL 113.0| - 103.0 | 945 | 86.5 | 69.5 | 40.5 - - - - - -
5 12N5/2.2 M 5 12N5/2.2 2.2 3 | 9oL 123.0| - 112.0 | 103.0 | 94.5 | 755 | 44.0 - - - - - -
- 5 14N5/3.0 3 4 | 100 143.0| - 131.0 | 120.0 | 110.0 | 88.0 | 51.0 - - - - - -
- 5 16N5/3.0 3 4 | 100 164.0| - 150.0 | 138.0 | 126.0 | 101.0 | 58.5 - - - - - -
- 5 18F5/4.0 4 55 | 112 184.0| - 168.0 | 155.0 | 142.0 | 113.0 | 66.0 - - - - - -
- 5 19F5/4.0 4 55 | 112 25 194.0| - 178.0 | 163.0 | 150.0 | 120.0 | 69.5 - - - - - -
- 5 22F5/4.0 4 55 | 112 2250/ - | 206.0 | 189.0 | 173.0 | 139.0 | 80.5 - - - - - -
- 5 24F5/5.5 55 | 7.5 | 1328 2460/ - | 224.0| 206.0 | 189.0 | 151.0 | 88.0 - - - - - -
10 2N5/0.75M | 10 2N5/0.75 075 | 1 80 220| - - - 21.0 | 204 | 189 | 176 | 13.2 7.8 - - -
10 3N5/1.1 M 10 3N5/1.1 11| 15 | 80 33.0| - - - 316 | 305 | 284 | 264 | 198 | 117 - - -
10 4N5/1.5 M 10 4N5/1.5 15 2 | 908 440 - - - 42.0 | 405 | 378 | 352 | 264 | 156 - - -
10 5N5/2.2 M 10 5N5/2.2 2.2 3 | 9oL 55.0| - - - 52.5 | 51.0 | 47.5 | 44.0 | 33.0 | 195 - - -
10 6N5/2.2 M 10 6N5/2.2 22 3 | 9oL 16 66.0| - - - 63.0 | 61.0 | 57.0 | 53.0 | 39.5 | 234 - - -
- 10 8N5/3.0 3 4 | 100 88.0| - - - 84.0 | 815 | 755 | 705 | 525 | 312 - - -
- 10 10N5/4.0 4 55 | 112 1100 - - - 105.0 | 102.0 | 945 | 88.0 | 66.0 | 39.0 - - -
- 10 11N5/4.0 4 55 | 112 121.0| - - - 116.0 | 112.0 | 104.0 | 97.0 | 725 | 43.0 - - -
- 10 12N5/5.5 55 | 7.5 | 132S 134.0| - - - 130.0 | 126.0 | 118.0 | 111.0 | 86.5 | 55.0 - - -
- 10 14N5/5.5 55 | 7.5 | 1328 1570 - - - 151.0 | 147.0 | 138.0 | 130.0 | 101.0 | 64.5 - - -
- 10 15F5/5.5 55 | 7.5 | 1328 168.0| - - - 162.0 | 158.0 | 148.0 | 139.0 | 108.0 | 69.0 - - -
- 10 16F5/7.5 75 | 10 |132s 179.0| - - - 173.0 | 168.0 | 158.0 | 148.0 | 115.0 | 735 - - -
. 10 18F5/7.5 75 | 10 |1328 25 202.0| - - - 194.0 | 189.0 | 177.0 | 167.0 | 129.0 | 83.0 - - -
- 10 20F5/7.5 75| 10 | 1328 2240 - - - 216.0 | 210.0 | 197.0 | 185.0 | 144.0 | 92.0 - - -
- 10 22F5/11 11 15 | 160M 246.0| - - - 238.0 | 231.0 | 217.0 | 204.0 | 158.0 | 101.0 - - -
18 2F5/2.2 M 18 2F5/2.2 2.2 3 | 9oL 320 - - - - - 31.0 | 303 | 285 | 257 | 219 | 172 | 116
- 18 3F5/3.0 3 4 | 100 48.0| - - - - - 46.0 | 455 | 43.0 | 386 | 328 | 257 | 174
. 18 4F5/4.0 4 55 | 112 1.6 64.0| - - - - - 615 | 605 | 57.0 | 51.5 | 44.0 | 343 | 232
- 18 5F5/5.5 55 | 7.5 | 1328 80.0| - - - - - 77.0 | 755 | 715 | 645 | 545 | 43.0 | 29.0
- 18 6F5/5.5 55 | 7.5 | 1328 96.0| - - - - - 92.0 | 91.0 | 855 | 77.0 | 655 | 51.5 | 34.8
- 18 7F5/7.5 75| 10 | 1328 112.0| - - - - - 108.0 | 106.0 | 100.0 | 90.0 | 76.5 | 60.0 | 40.5
- 18 8F5/7.5 75 | 10 |132s 128.0| - - - - - 123.0 | 121.0 | 114.0 | 103.0 | 87.5 | 68.5 | 46.5
- 18 10F5/11 11 15 | 160M 162.0| - - - - - 157.0 | 155.0 | 147.0 | 134.0 | 116.0 | 93.5 | 69.0
- 18 12F5/11 11 15 | 160M 25 1940 - - - - - 189.0 | 186.0 | 177.0 | 160.0 | 139.0 | 112.0 | 83.0
- 18 14F5/15 15 | 20 |160M 2270 - - - - - 220.0 | 217.0 | 206.0 | 187.0 | 162.0 | 131.0 | 96.5
- 18 15F5/15 15 | 20 |160M 2430 - - - - - 236.0 | 233.0 | 221.0 | 201.0 | 174.0 | 141.0 | 104.0
- 18 16F5/15 15 | 20 |160M 259.0| - - - - - 252.0 | 249.0 | 236.0 | 214.0 | 186.0 | 150.0 | 110.0
1.6 MPa=16 bar ; 2.5 MPa=25 bar

203

E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

SELECTION CHART

50Hz

EVM(.) 32-64

Pump Type Motor Maximum Q=Capacity
EVM() working [I/min 0 | 200 | 350 | 500 | 600 | 700 | 900 | 1000 | 1200 | 1400
W | HP | size [Pressure fm3h 0 |12 21 3 | 36 42 54 60 72 84
[Mpa] H=Total manometric head in meters
32 1-0F5/2.2 22 3 | 9oL 24 217 19,6 16,4 13,2 9,7 - - - -
32 2-2F5/3.0 3 4 100 398 | 369 | 316 | 235 174 - - - - -
32 2-0F5/4.0 4 55 | 112 48 435 | 392 | 328 | 265 19,4 - - - -
32 3-3F5/5.5 55 | 75 | 1328 595 | 555 | 475 | 352 | 261 - - - - -
323-1F5/5.5 55 | 75 | 1325 68 62 55 445 | 352 | 245 - - - -
32 4-3F5/7.5 75 | 10 [132s 84 77 670 | 515 | 394 - - - - -
324-1F5/75 75 | 10 [132s| 16 92 835 | 745 61 485 | 342 - - - -
32 5-3F5/11 11 15 | 160M 106 100 89 70 54 37,3 - - - -
32 5-0F5/11 11 15 | 160M 118 110 100 84 67 49 - - - -
32 6-3F5/11 11 15 | 160M 130 122 109 87 67,5 47 - - - -
32 6-2F5/11 11 15 | 160M 133 125 113 915 | 715 51 - - - -
32 7-3F5/15 15 | 20 | 160M 153 144 129 104 81 57 - - - -
32 7-0F5/15 15 | 20 | 160M 165 154 141 118 94 69 - - - -
32 8-3F5/15 15 | 20 | 160M 177 166 150 121 94,0 67 - - - -
32 8-2F5/15 15 | 20 | 160M 184 172 157 130 103 75 - - - -
329-3F5/185 | 185 | 25 | 160L 200 188 170 137 108 76,5 - - - -
329-0F5185 | 185 | 25 | 160L 212 197 181 152 121 88,5 - - - -
3210-3F5/185 | 185 | 25 [ 160L| 25 224 210 190 154 121 86,5 - - - -
3210-2F5/185 | 185 | 25 | 160L 228 213 193 159 125 90,5 - - - -
32 11-3F5/22 22 | 30 | 180 247 232 210 171 134 96,5 - - - -
32 11-0F5/22 22 | 30 | 180 259 241 221 185 147 108 - - - -
32 12-3F5/22 22 | 30 | 180 271 254 230 188 148 106 - - - -
32 13-3F5/30 30 | 40 | 200 294 276 250 205 161 116 - - - -
32 13-0F5/30 30 | 40 | 200 306 285 261 219 174 128 - - - -
32 14-3F5/30 30 | 40 | 200 318 298 270 222 175 126 - - - -
32 14-0F5/30 30 | 40 | 200 330 307 281 236 188 138 - - - -
45 1-1F5/3.0 3 4 100 21,0 - 18,9 17,6 16,3 14,3 83 B - -
45 1-0F5/4.0 4 55 | 112 27,0 - 256 | 246 | 235 | 218 16,7 13,3 - -
45 2-2F5/5.5 55 [ 75 [1328] ¢ 42,0 - 38,1 358 | 334 | 298 18,6 - - -
45 2-0F5/7.5 75 | 10 [132s 54,0 - 515 50 48 45 354 | 291 - -
45 3-2F5/11 1 15 | 160M 69,0 - 64 61 58 53 37,3 - - -
45 3-0F5/11 11 15 | 160M 81,0 - 775 75 725 68 54 45 - -
45 4-2F5/15 15 | 20 [ 160M 96,0 - 90 86 82 76 56 43 - -
45 4-0F5/15 15 | 20 | 160M 108,0 - 103 100 96,5 91 73 60,5 - -
455-2F5/185 | 185 | 25 | 160L 123,0 - 116 111 107 990 | 745 | 585 - -
455-0F5185 | 185 | 25 | 160L 135,0 - 129 125 121 114 915 | 765 - -
45 6-2F5/22 22 | 30 [ 180 150,0 - 142 137 131 122 935 | 745 - -
45 6-0F5/22 22 | 30 | 180 25 162,0 - 155 151 146 137 110 925 - -
45 7-2F5/30 30 | 40 [ 200 177,0 - 168 162 155 145 112 90,5 - -
45 7-0F5/30 30 | 40 | 200 189,0 - 181 176 170 160 129 108 - -
45 8-2F5/30 30 | 40 [ 200 204,0 - 194 187 180 168 131 106 - -
45 8-0F5/30 30 | 40 | 200 216,0 - 207 201 194 183 148 124 - -
45 9-2F5/30 30 | 40 [ 200 231,0 - 219 212 204 191 150 122 - -
45 9-0F5/37 37 | 50 | 200 243,0 - 233 226 219 206 166 140 - -
45 10-2F5/37 37 | 50 [ 200 30 258,0 - 245 237 229 214 168 138 - -
45 10-0F5/37 37 | 50 | 200 270,0 - 259 251 243 229 185 156 - -
64 1-1F5/4.0 4 55 | 100 237 - - 21 20,4 19,7 17,5 15,9 114 -
64 1-0F5/5.5 55 | 75 | 1325 293 - - 266 | 26,1 254 | 237 | 223 18,5 135
64 2-2F5/7.5 75 | 10 [132s 475 - - 425 | 415 | 405 | 365 | 335 | 253 -
64 2-1F5/11 11 15 | 160M 53,0 - - 48 47 46 425 40 324 23
64 2-OF5/11 11 15 [ 160M 58,5 - - 53,5 53 52 49 465 | 395 | 306
64 3-3F5/15 15 | 20 | 160M 710 - - 64 625 61 555 51 39,3 -
64 3-2F5/15 15 [ 20 | 160M 76,5 - - 69,5 68 665 | 615 | 575 | 465 | 325
64 3-1F5/15 15 | 20 | 160M 82,5 - - 75 74 725 68 64 535 40
643-0F5185 [ 185 | 25 [160L| ¢ 88,0 - - 805 | 795 78 74 705 | 605 | 475
64 4-3F5185 | 185 | 25 | 160L 100,0 - - 91 89 87 805 | 755 | 605 42
644-2F5185 | 185 | 25 | 160L 106,0 - - 96,5 95 93 87 815 | 675 | 495
64 4-1F5/22 22 | 30 | 180 112,0 - - 102 101 98,5 93 88 745 57
64 4-0F5/22 22 | 30 [ 180 117,0 - - 108 106 104 990 | 945 | 815 | 645
64 5-3F5/30 30 | 40 | 200 130,0 - - 118 116 114 106 995 | 815 | 590
64 5-2F5/30 30 | 40 [ 200 135,0 - - 124 122 119 112 106 885 | 665
64 5-1F5/30 30 | 40 | 200 141,0 - - 129 127 125 118 112 955 | 740
64 5-0F5/30 30 | 40 [ 200 147,0 - - 135 133 131 124 119 103 81,5
64 6-3F5/30 30 | 40 | 200 159,0 - - 145 143 140 131 124 103 76,0
64 6-2F5/30 30 | 40 [ 200 165,0 - - 151 148 146 137 130 110 83,5
64 6-1F5/37 37 | 50 | 200 170,0 - - 156 154 151 143 136 117 91,0
64 6-0F5/37 37 | 50 [ 200 25 176,0 - - 162 160 157 149 143 124 99,0
64 7-3F5/37 37 | 50 | 200 188,0 - - 172 169 166 156 148 124 93,0
64 7-2F5/37 37 | 50 | 200 194,0 - - 178 175 172 162 154 131 101
64 7-1F5/37 37 | 50 | 200 200,0 - - 183 181 178 168 161 138 108

1.6 MPa=16 bar

;2.5 MPa=25 bar

3.0 MPa=30 bar

Rev. J

204

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

TYPE KEY AND CURVE SPECIFICATIONS 50Hz
Rev. J

TYPE KEY

EVM(.) 3-18

Example for pomp without motor

[Ew[10] [2 [N 5 |

50 Hz

N Oval flanges
F Round flanges

No. Of impellers

[2]3[4[5[6[8 |'10|'1|1 [12[ 141516 [ 18 [ 20 [ 22 |
{35 [10[ 18|

m3/h at max. efficency

Model series EVM AISI 304 version
EVML AISI 316 version
EVMG Cast iron version

Example for pomp with motor

[EWl 0] [2 [ N[5 /[ 11 [ ™M |

Single phase only

Power output in kW

[075] 11]15[22[3,0[40[55[75] 11 |

50 Hz

N Oval flanges
F Round flanges

No. Of impellers

Fr2[3J4[5]6]8 |'1or1|1 T2 14151618 20] 22 ]

F37 5 [10] 18

m3/h at max. efficency

Model series EVM AISI 304 version
EVML AISI 316 version
EVMG Cast iron version

205

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. J

EVM(.) 32-64

Example for pomp without motor

[Evwm| 10| [ 2 |- 2 ] F | 5 |

50 Hz

Round flanges

No of reduced diameter impellers

(o] 1[2]3]

No. Of impellers

[ 2] 3] 4] 5] 6] 8]10[11][12]14]

m3/h at max. efficency

32
Model series EVM AISI 304 version

EVML AISI 316 version
EVMG Cast iron version

Example for pomp with motor

[Ew] 10| [ 2 ]-] 2 [ F ] 5| /] 30 | ™M |

Single phase only

Power output in KW

[22]30 |40]55]|75] 11 ] 15 [185] 22 | 30 |

50 Hz

Round flanges

No of reduced diameter impellers o127 3]

No. Of impellers

[2[ 3] 4] 5[6]8]10[11]12]14]

32

m3/h at max. efficency

EVM AISI 304 version
EVML AISI 316 version
EVMG Cast iron version

Model series

206

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. J

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906 Annex A

The curves refer to effective speed of asynchronous motors at 50 Hz

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

During the pump selection, consider to get a safety margin of at least 0.5 m.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P, = pump power input (shaft power)

n pump efficiency
NPSH net positive suction head required by the pump
MEI minimum efficiency index

The minimun efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point,leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled,for example,by the use of a variable speed drive that matches the pump duty to the system

MEI = 0.4 for Multistage Vertical 2900rpm MEI=0.7 for Mutistage Vertical 2900 rpm

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)3 MEI > 0.70 - Impeller diameter =89 mm
0 USg.pm. 4 8 10 12 14 16 18 20 22
I I I I I I I II I I I I I I I
0 Imp.g.p.m. 4 6 10 12 14 16 18
30
\\. —90
H % H
™~
[m] \1»\ 80 [ft]
T~
5 70
20 \‘/0{
M~ N —60
T \\
e~ N
I 24/5 \ — 50
/a37 N
\\\ L 40
10 \‘\
NPSH [30
[m] [ft]
310 20
NPSH — 2
[ ———— —T 5 10
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
| T T T T T T T T T T
0.0 0.5 1.0 15 2.0 25 3.0 3.5 4.0 45 50 Q [m3/h]
0.4
P2 03
[kw] = - —
y 3N5/=O‘37 S ——
N5 /0.37 et
0.1 i
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
[%] 50 —
/// ~—
40 7
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~12850 min™
Test standard: ISO 9906-Annex A
208

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)3 MEI > 0.70 - Impeller diameter =89 mm

0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
0 impgpm : 6 ! 0 b 1 16 8
80 p.g.p.m.
- 250
H H
[m] [ft]
~ -~ -
60 m~. < - 200
P — \\\
T ™~ \\ 7
—— | T~ 6\57\5 150
—— _ ~—— 5N5 0 5 \\\\\
0 55‘ \\\\\\ NPSH
\\\ 34-10 |50
— NPSH —— 29,
1
0 0
0 10 20 30 40 50 60 70 80 Q [1/min]
[ | | | | | | | | | |
0.0 0.5 1.0 15 2.0 25 3.0 35 40 45 50 Q [m3/h]
0.8 |
P2 N5/0.75
[kw] ™ [6N5/0.75 T —
o4 5N5,/0.55 . ~[———""
’ 4N5 / 0.55 — e
0.2 I
0 10 20 30 40 50 60 70 80 Q [1/min]
60
n
(%] 50 —
/// .
40 ~
30
0 10 20 30 40 50 60 70 80 Q [I/min]

Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A

209

% E2ARA EBARA PUMPS EUROPE S.p.A.



EVM

VERTICAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)3 MEI > 0.70 - Impeller diameter =89 mm
0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
| I I I I | I I I I
0 Imp.g.pm. 4 6 8 10 12 14 16 18
150
~<l - 450
H —~— H
™~~~
[m] I~ 00 [ft]
— \\\\ ~
™~ 7 B
N \5,1,5/ 350
100 0 ~ /5
™~ SNUs SN - 300
——— ~_ T N
-1 5 — 250
9
\\/Vf 77 T~ - 200
S~ N
50 \‘\ ™
\\\\\1 NPSH [~150
NN [m] [f]
3——10 100
NPSH - 2
— i —T 5 50
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 15 2.0 2.5 3.0 35 40 4.5 50 Q[m3/h]
1.6
|
P2 15N5,/1.5 —T _
[kw] ~ 13N5/1.54 T —
08 1IN5 /114 ]
' 9IN5 /11— ——
0.4 I
0 10 20 30 40 50 60 70 80 Q [1/min]
60
n
[%] 50 —
/// ~
40 ]
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
210

EBARA PUMPS EUROPE S.p.A.



EVM

VERTICAL PUMPS

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)3 MEI > 0.70 - Impeller diameter =89 mm
0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
| I I I I | I I I I
0 Imp.gp.m. 4 6 8 10 12 14 16 18
300
— 900
H H
[m] _ 800 [ft]
\\‘\.\
- 700
200 =
- \
— ~3r - 600
S~ J‘0
~ - 500
~— \‘!@2 ~
!
~ 550, TN - 400
NN N
100 ~ ~ N
\\\\\1 NPSH [~300
~ N [m] [#t]
3—10 (200
NPSH — 2
T — 5 (100
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 15 2.0 2.5 3.0 35 4.0 45 50 Q [m3/h]
32 |
P2 f
2.4 26F5/3.0
KW
[} 22F5/2.2 — —
16 18F5/2.2 R
0.8
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
[%] 50 —
40 ]
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
211

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)5 MEI > 0.70 - Impeller diameter =95 mm

0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
| I I I I | I
- 0 Impgpm. 5 10 15 20 25 30
—160
H
[m] ~10 11y
40 ==
T — —120
Ny 4/1/5/07
30 = ‘ 2 —100
T — I\
T~ 3/\/5 /055 \‘\ 0
2 R R \\
I —60
\\2/\/@7 \\ \ NPSH
N Y [[m][f]
\\ —40
10 S~ 8
20
\ . — 20
NPSH . — 10
0 0
0 50 100 Q [I/min]
| T T T T T T T T |
0 1 2 3 4 5 6 7 8 Q [m3/h]
0.8 | |
Po \ 1 —
RE N5 /0.75 =t
3N5/0.55 ——
0.4 2N5,/0.37
]
0.2
0 50 100 Q [I/min]
60
n /r
(7]
50 — N
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
212

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)5 MEI > 0.70 - Impeller diameter =95 mm

0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
| I I I I | I
0 Impgpm. 5 10 15 20 25 30
90
H = ‘s\s H
~— — 250
[m] \»\ [ft]
60 — S~ d 200
“\_\\ \LVS/]\
S~ | < \
—— — 5,\,5// ~ N
~— —_ .7 \\\\ 150
[ 5/\/5/777\\ \\\
30 T~ \\\\\ —100
\\\\\\1 NPSH
TN [m] [#]
™ 620 50
4
NPSH — ) 10
0 0
0 50 100 Q [I/min]
[ I I I I I I I I
0 1 2 3 4 5 6 7 8 Q [m3/h]
16 | |
Pa 8N5/1.5 —
[kw] ™ IN5/1.5 — 1 —
08 6NS /11— T —T
' 5N5,/1.1———
0.4 | |
0 50 100 Q [I/min]
60
Tl /r
(%]
50 ,/ N,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
213

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)5 MEI > 0.70 - Impeller diameter =95 mm

0 US.gpm.5 10 15 20 25 30 35
| | | | | | | |
| T T T | I T
0 Impgpm. 5 10 15 20 25 30
150
— 450
H H
[m] L 100 [ft]
—— ——l S — 350
100 == o~ “~ E\ 72/\/5/22
— T7N5 2'2 - 300
~JW5> N
RN N - 250
\\\
\\\\ — 200
\\\ NPSH 150
N [m] [ft]
6—20 100
4
NPSH — 1 |, ["r®
0 0
0 50 100 Q [I/min]
| | I I | I I I I |
0 1 2 3 4 5 6 7 8 Q [m3/h]
2.4
| |
P2 1N5,/2.2  — —
kW] < : = —
16 10N5/2.2 S
R I
1.2
0 50 100 Q [I/min]
60
n —
(%]
50 — N\,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
214

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)5 MEI > 0.70 - Impeller diameter =95 mm
0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
| T T T T I T
0 Impgpm. 5 10 15 20 25 30
180
NS S - H
[m] T~ — 500 [ft]
M~ — 4 \\
= ~Jous,
e~ w
120 T4lys ) ~ — 400
S
\\ \
\‘\‘\ — 300
N
\i\
60 \\ NPSH 200
[m] [ft]
4
- 310 |-100
NPSH — 2 5
1
0 0
0 50 100 Q [I/min]
| T | T T T | T T |
0 1 2 3 4 5 6 7 8 Q [m3¥/h]
30 | |
P2 T T / e —
] 26 16N5/3.0 —
N —
2.2 14N5 /3.0 > o
| / | ///
18 [ |
0 50 100 Q [I/min]
60
n -
(%]
50 — N\,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
215

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)5 MEI > 0.70 - Impeller diameter =95 mm

0 US.gpm.5 10 15 20 25 30 35
| | | | | | | |
| I I I I | I
0 Impgpm. 5 10 15 20 25 30
300
- 900
H b
f
[m] ~— i - 800 !
e = Iy - 700
200 T \\ 24/3
- - ~<2% 7> - 600
——T ‘ ‘
T ;FS%\\\
0 500
78F5/N\\\
0 \\ \\ — 400
\k NPSH [~ 300
\1 [m] [ft]
6— 20 |- 200
4
NPSH ] 10 100
2
0 0
0 50 100 Q [I/min]
[ I I I I I I I I
0 1 2 3 4 6 7 8 Q [m3/h]
° ]
P2, 24F5/5.5 ]
(kW) 22F5/4.0 - ——
19F5/4.0
9 \ \
0 50 100 Q [I/min]
60
n o —
(7]
50 ,/ N,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
216

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)10 MEI > 0.70 - Impeller diameter =96 mm
0 USgpm.10 20 30 40 50 60 70
| | | | | | | |
| I I I I | I
0 Imp.gpm. 10 20 30 40 50 60
80
— 250
H H
[m] L [ft]
50 [ — - 200
T T "F\\ <
~L e | N
o ~Jy o 150
40 I e N
~
\\5/’,{\ \\\
— N5 /1 \\ —100
\‘V\l'\J \\\ N NPSH
N
20 e e e e e 2/\/5/0 7’\ \\ N [m] [ft]
—~=09 ~
1240 50
T— ™~
—~ 20
NPSH p—
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/n]
2.4 T T T
P, 6N5/2.2 .
RE 5N5/2.2 P —
4N5/1.5 >
0.8 3N5/1.1
2F5/0.75 =
0.0 —t+—
0 50 100 150 200 250 Q [I/min]
70
n —
[%] 60 rl/ ™~
// ™N\
prd N
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
217

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)10 MEI > 0.70 - Impeller diameter =96 mm

0 USgpm.10 20 30 40 50 60 70
| | | | | | | |
| T T T T 1 T
0 Imp.gpm. 10 20 30 40 50 60
150
! - 450 !
ft
[m] _ i 400 [ft]
— 7 - 350
100 — \\]04/% 0
— \LVS/{ O\ — 300
T T T T T— ‘ \\
— N L
~W5 30 \\ 250
~_ )
\E\ - 200
50 \\‘ AN
N § NPSH [~150
[m] [ft]
6—20 100
4
NPSH _— T
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/h]
45
5 T
35 11N5,/4.0
[kn] 10N5,/4.0 —
2.5 §N5/3.9 ——
5 L]
0 50 100 150 200 250 Q [I/min]
70
n —
~
[%] 60 I
// ™N
d N
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
218

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)10 MEI > 0.70- Impeller diameter =96 mm

0 US.gpm.10 20 30 40 50 60 70
| | | | | | | |
| I I I I | I
0 Imp.gpm. 10 20 30 40 50 60
200
— 600
H
[m] ———— ] [ft]
160 —1— — 4= =
] gy — 500
—'—\\\\\ 75,~%
T~ /4/1/ )
T T r—— 55
_'+§\\ ‘ ) q \
120 ~</2N5 e AN 400
) N
~L N
~N
N NN\ — 300
80 N NPSH
NG \ [m] []
\\ 620 |- 200
15
40 4
7 —10 100
NPSH — |
I =5
0 0
0 50 100 150 200 250 Q [1/min]
[ I I I I I I I I
0 2 4 6 8 10 12 14 16 Q [m3/h]
55
. - L
o] 45 15F5,/5.5 ]
14N5/5.5\\,§,4/ L
35 12N5/5.5—>= —
| L ™|
25 L]
0 50 100 150 200 250 Q [I/min]
70
n
-
L~ ™N
%] 60 - ~
(7] P N
//
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
219

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)10 MEI > 0.70 - Impeller diameter =96 mm

0 US.gpm.10 20 30 40 50 60 70
| | | | | | | |
| I I I I | I
0 Impgpm. 10 20 30 40 50 60
300
- 900
H H
[m] N 500 [ft]
BEE "I—\\\\\
I '*I—\\\ ~ 23/‘5 700
L ~ Y
Ll T~ 5 & \\ - 600
T T — 7
\\\\}@gi\i\\\ — 500
N
N~ \Q\\ - 400
100 ™ NN\
N n
NO NPSH [~ 300
~N [m] [ft]
620 |- 200
4
NPSH L , 10 100
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I
0 2 4 6 8 10 12 14 16 Q [m3/h]
9
T
P2 22F5 /11 —
kW] 20F5/7.5 T
; 18F5/7.5 _Nrf—
16F5,/7.5
3 \ ! \
0 50 100 150 200 250 Q [I/min]
70
n
-
1 ™N
[%] 60 ~ N
T h
//
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A
220

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)18 MEI > 0.60 - Impeller diameter =115 mm

0 USgpm 20 30 40 5 60 70 8 90 100 110 120 130
| | | | | | | | | | | | | |
| I I I I | I I I I | ]
G 0 mpgpm 20 30 40 50 60 70 80 90 100 110
- 250
H H
[m] [ft]
60 B B e = - 200
~ ~
5)
2
N ol e = - NG - 150
N~ T
40 ~75 5 0
T N
~—22 | NN [m] [t
20 \> 8
\> < 620 |-50
/ 4 —]
i —— "
2 —
0 0
0 100 200 300 400 Q [I/min]
[ I I I I I I I I I I I I I I ]
o 2 4 & 8 10 12 14 16 18 20 22 24 26 28 Q[mh]
4
]
P 2 I I
G 4F5/4.0
35/3.0 =T | |
i1
2 2F5/2.24]
0 100 200 300 400 Q [I/min]
70
n —
[%] 60 /,’/ <
1 N
7 N
50 AN
N
40
0 100 200 300 400 Q [I/min]

Rotation speed ~ 2850 min™’
Test standard: ISO 9906-Annex A

221

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM(.)18 MEI > 0.60 - Impeller diameter =115 mm
0 USgpm. 20 30 40 50 60 70 80 90 00 110 120 130
| ! ! ! ! ! | ! ! ! ! ! | !
| | | | | 1 | | | | 1 |
50 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
— 450
H H
T T T —— —_— ft
[m} i o [
\ é)
| | %
100 T s %0
%
T T —— 5
— \(25 Ny — 300
T~
1| \\6’%\575\\
= T— S 1Y — 250
<i‘\ \\\\ — 200
50 \‘\‘\\ [rEI]P&EI:t]
—150
\E\\ 8 —
>( 6—20 —100
NPSH/// 10 5o
2_
0 0
0 100 200 300 400 Q [I/min]
| | | | | | | | | | | | | | | |
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[m3h]
8
|
P2 8F5/7.5<
[kw] 7F5/7.5 T~ —F—1_
. 6F5/5.5_| ter——
5F5,/5.51— T ——
9 ||
0 100 200 300 400 Q [I/min]
70
Tl /
/
[%] 60 ]
_~ N
prd \\
50
N
40
0 100 200 300 400 Q [I/min]
Rotation speed ~ 2850 min™’
Test standard: 1ISO 9906-Annex A
222

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)18 MEI > 0.60 - Impeller diameter =115 mm

0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| I I I I | I [ I I [ |
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
200
ST T
' T~ - 600
\ 7
20,
m L] NG (1]
160 e 7
— | 7\ 500
\///\
~ N\, -
120 \\ ‘\ 400
AN \\ NPSH
AN [m] 1) | 300
80 AN 8-
25
/ Lok
Y / 620 [ 200
15
40 /'/ 4
NPSH L= —10 100
4// 2 —
5
0 0
0 100 200 300 400 Q [I/min]

I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[mh]

" ‘ ‘
P2 ! ! l//
[kW] 9 1%F5/11\\ ]
I I ~" |1
7 10F5 /11 ==——1—
. ]
0 100 200 300 400 Q [I/min]
70
n - e~
L1 \
[%] 60 N
1 N
T N
50
40
0 100 200 300 400 Q [I/min]

Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A

223

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM(.)18 MEI > 0.60 - Impeller diameter =115 mm

0 USgpm. 20 3 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| I I I I [ I I I I [ ]
0 Imp.gp.m. 20 30 40 50 60 70 80 90 100 110
300
- 900
H | H
T T T T ft
[m] NN __*\\\ g0 (]
I I \\ \ /6\/:5/
= 7
——— I 8 —700
200 K ~
NON — 600
RN — 500
N
\k\ — 400
\\\ NPSH
100 N
(m] [f] | 500
8_
L~ 6 —— 20 |- 200
-
NPSH - 4-
| , 10 [-100
0 0
0 100 200 300 400 Q [1/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m/h]
14 .
P2 ‘ ‘ /’/
12 16F5/15< -
KW
[k} 15F5,/15 <> T
10 14F5/15
R ——
. ]
0 100 200 300 400 Q [I/min]
70
n - e~
L1 \
[%) 60 N
P N\
P N
50
40
0 100 200 300 400 Q [I/min]

Rotation speed ~ 2850 min™'
Test standard: ISO 9906-Annex A

224

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM32 1-0 F5 2.2 (2.2kW) MEI > 0.60 no.l impeller diameter =136 mm
EVM32 2-2F5 3.0 (3.0 kW) MEI > 0.60 no.2 impellers diameter = 125 mm
EVM32 2-0 F5 4.0 (4.0kW) MEI > 0.60 no.2 impellers diameter =136 mm
0 US.gpm. 50 100 150 200
| | | | |
| T T T
0 Imp.g.p.m. 50 100 150
50
— — 160
\\
H ——= H
\|
[m] \\ 140 1)
g
40 - \\2\0
S~
N~ N —120
\
\ P \
30 \\9\ 100
\\ \\ —80
" —— s \\\ N
\ NPSH
[m] [ft]
S~ — 40
10 ~ 8
7 20
NPSH a4 [
m— 10
0 0
0 200 400 600 Q [I/min]
| T T | T
0 10 20 30 40 Q [m3/h]
: |
P2 2-0
[kw] 5 2_\ 5 T
1-0=
: |
0 200 400 600 Q [I/min]
80 |
n 170
(%] — 2-0
50 7’4/ e B N/
2-2
40 ‘
0 200 400 600 Q [I/min]
Rotation speed ~ 2900 min -
Test standard: 1ISO 9906-Annex A
225

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM32 3-3 F5 5.5 (5.5kW) MEI > 0.60 no.3 impellers diameter = 125 mm
EVM32 3-1 F5 5.5 (5.5kW) MEI > 0.60 no.2 impellers diameter = 136 mm / no. 1 impeller diameter = 125mm
EVM32 4-3 F5 7.5 (7.5kW) MEI > 0.60 no.1 impeller diameter =136 mm /no. 3 impellers diameter= 125 mm
EVM32 4-1 F5 7.5 (7.5kW) MEI > 0.60 no.3 impellers diameter = 136 mm / no. 1 impeller diameter = 125 mm

0 US.gpm. 50 100 150 200
| | | | |
[ I I [
0 Imp.g.p.m. 50 100 150
100 mp.g.p.m
! —— - 300
-~ ~
M —— | (1]
80 j’t ~
T~~~ L 250
60 — S~ NG ~\ - 200
S~
~ T~
~—_ \!\\\\ \\
~0 TN N \ 150
40 \ \\
~_ NPSH | 100
N [m] [#]
20 8
7 20 |50
NPSH 4
0 0
0 200 400 600 Q [I/min]
[ [ [ [ I
0 10 20 30 40 Q [m3/h]
8 T
. 41 ,
2 \ -
LI 4-3_] E———
3-1 —
¢ \ —
3—3—
2 L
0 200 400 600 Q [I/min]
80 4\ ’
n / 1_
[%] = / 31
60 ~
4-3 /
\
3-3
40 :
0 200 400 600 Q [I/min]

Rotation speed ~ 2900 min ™

Test standard: ISO 9906-Annex A

226

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM32 5-3 F5 11 (11kW) MEI > 0.60 no.2 impellers diameter =136 mm / no.3 impellers diameter= 125 mm
EVM32 5-0 F5 11 (11kW) MEI > 0.60 no.5 impellers diameter =136 mm

EVM32 6-3 F5 11 (11kW) MEI > 0.60 no.3 impellers diameter =136 mm / no.3 impellers diameter= 125 mm

EVM32 6-2 F5 11 (11kW) MEI > 0.60 no. 6 impellers diameter = 136 mm / no.2 impellers diameter= 125mm

0 US.gpm. 50 100 150 200
| | | | |
| T T T
0 Imp.g.p.m. 50 100 150
150
- 450
H —— H
I i e ey ft
[m] - :|§\\ — 400 LA
— ~_ > - 350
100 — NN
\\ %\
250
N
~ \\ 200
D NPSH
50 \\ [m] [ft] 5
\) 5|
- 20 100
4 —
NPSH [ —10 |50
fmm—
0 0
0 200 400 600 Q [I/min]
[ [ [ [ [
0 10 20 30 40 Q [m3/h]
12 T
62 [ ]
I e e e S R e e B ———
50— F———]
53—
4 L
0 200 400 600 Q [I/min]
80
n 5-0
(%] = N 6-2
60 / RN
N
% 6-3
5-3
40
0 200 400 600 Q [I/min]

Rotation speed ~ 2930 min -

Test standard: ISO 9906-Annex A

227

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM32 7-3 F5 15 (15kW) MEI > 0.60 no.4 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm
EVM32 7-0 F5 15 (15kW) MEI > 0.60 no.7 impellers diameter = 136 mm

EVM32 8-3 F5 15 (15kW) MEI > 0.60 no.5 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm

EVM32 8-2 F5 15 (15kW) MEI > 0.60 no.6 impellers diameter = 136 mm / no. 2 impeller diameter = 125 mm

0 US.gp.m. 50 100 150 200
| ! ! ! !
{ 1 1 l
0 Imp.g.p.m. 50 100 150
200
—— - 600
H \\\\\\\ H
[m] _ = [ft]
T 8\
—— T JJ
N
400
100 \E\
\\\ — 300
\\\1
NPSH
200
N ft
. [m] [ft]
8
20 |-100
NP SH 4
| — 10
0 0
0 200 400 600 Q [1/min]
{ 1 1 1 1
0 10 20 30 40 Q [m3/h]
16 T
P o — ———
[kw] 12 8T3 | — T —T— T
I e
7TO ////
I
; 7*‘3\\/
0 200 400 600 Q [I/min]
80 ‘
1 /-0—
(%] e~ _
. —— \\28 2
- 8-3
7=3|
40 |
0 200 400 600 Q [1/min]

Rotation speed ~ 2930 min ™

Test standard: ISO 9906-Annex A
228

% E2ARA EBARA PUMPS EUROPE S.p.A.



EVM

50Hz

Rev. J

VERTICAL PUMPS

PERFORMANCE CURVE

EVM32 9-3 F5 18.5 (18.5kW)MEI>0.60 no.6 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 9-0 F5 18.5 (18.5kW)MEI > 0.60 n0.9 impellers diameter= 136 mm
EVM32 10-3 F5 18.5 (18.5kW)MEI>0.60n0.7 impellers diameter=136 mm / no.3 impellers diameter = 125 mm

EVM32 10-2 F5 18.5 (18.5kW)MEI>0.60n0.8 impellers diameter= 136 mm / no.2 impeller diameter = 125 mm

0 US.gp.m. 50 100 150 200
| | | | |
[ I I [
0 Imp.g.p.m. 50 100 150
250
— 800
H ::\:\\\ H
[m] —_— T T —10-2 700 )
200 — — == _
I —— o~ 0~
— .
~—— \\\ —600
\ N "N\
~_ SN\
150 9-0 \ - 500
Il N
93— NN
NN — 400
ANIAN
100 \Q\
N 300
N\
NPSH
[m] [ft] [~200
50
8
L~ 20 {100
NPSH g— 1o
0 0
0 200 400 600 Q [1/min]
[ I I I I
0 10 20 30 40 Q [m3/h]
22 T
P, 10‘—2
[kw] 18 10-3 ——
I p—
9-0 e
) 9 5 /l‘g,
10 e
0 200 400 600 Q [1/min]
80
N
(7] T~
40
0 200 400 600 Q [1/min]
Rotation speed ~ 2930 min ™
Test standard: ISO 9906-Annex A
229

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM32 11-3 F5 22 (22kW) MEI>0.60 no. 8 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 11-0 F5 22 (22kW) MEI>0.60 no.11 impellers diameter= 136 mm
EVM32 12-3 F5 22 (22kW) MEI >0.60 no. 9 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm

0 US.gpm. 50 100 150 200
| | | | |
| T T T
0 Imp.g.p.m. 50 100 150
300
- 900
H T —— H
L eSS e o
\\\ — 700
200 N
N R 600
11-0
| N\
1-3 NSO\ —500
\\\\
\ N 400
\\\ NPSH
100 [m] [ft]
300
8_
// — 20 {200
4_
NPSH | —10 {100
fm—
0 0
0 200 400 600 Q [I/min]
[ I I I I
0 10 20 30 40 Q [m3/h]
24
L
P2 L
[kw] %0 12-3 e
‘ -
I, 11-0 ——
| —
1M-3—
12 :
0 200 400 600 Q [I/min]
80
n
(%] ] T~
60 —
40
0 200 400 600 Q [I/min]
Rotation speed ~ 2930 min ™’
Test standard: ISO 9906-Annex A
230

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE

50Hz

Rev. J

EVM32 13-3 F5 30 (30kW)MEI>0.60 no.10 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 13-0 F5 30 (30kW)MEI>0.60 no.13 impellers diameter= 136 mm

EVM32 14-3 F5 30 (30kW)MEI>0.60 no.11 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm

EVM32 14-0 F5 30 (30kW)MEI>0.60 no.14 impellers diameter= 136 mm /no.1 impellers diameter =125 mm

0 US.gpm. 50 100 150 200
| ! | ! |
| T T T
0 Imp.gp.m. 50 100 150
400 mPopm
1200
H H
[m] —— 14._0 (ft]
300 ::\::E\ 14-3 1000
T — g\\
~ T - 800
- \\
13)'—0 \\ \\ 600
13-3 NN
\\\
N g [+
100 "
8
e 20 |- 200
NPSH 4
0 0
0 200 400 600 Q [I/min]
| T T T T
0 10 20 30 40 Q [m3/h]
28 T
- 140 — —
2 13-0 =
| =
N 13-3— =
0 200 400 600 Q [I/min]
80
n
(7] - T~
60 —
40
0 200 400 600 Q [I/min]
Rotation speed ~ 2960 min ™
Test standard: ISO 9906-Annex A
231

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE 50Hz
Rev. J
EVM45 1-1 F5 3.0 (3.0kW) MEI > 0.70 no.1 impeller diameter =127 mm
EVM45 1-0 F5 4.0 (4.0kW) MEI > 0.70 no.1 impeller diameter =143 mm
EVM45 2-2 F5 5.5 (5.5kW) MEI > 0.70 no.2 impellers diameter = 127 mm
EVM45 2-0 F5 7.5 (7.5kW) MEI > 0.70 no.2 impellers diameter = 143 mm
0 USgpm. 50 100 150 200 250 300
| ! ! ! ! ! |
| 1 1 1 | 1
6 0 Imp.g.p.m. 50 100 150 200 250
180
H ——_-§§ —— H
[m] R 22, o [
—— 140
40 = ——T N
T 5 \ 120
N —100
— -0 - 80
NPSH
0-——= ——— 7'7 \‘\\1 [m] [f] o
>q' . 40
10
NPSH,// ) - 20
0 0
0 200 400 600 800 1000 Q [I/min]
| | | | | | | |
0 10 20 30 40 50 60 Q [m3/h]
8
I
Py 2_|O B
[kw] 2-2 ]
4 !
1=0—0o
T=T——
0 |
0 200 400 600 800 1000 Q [I/min]
80
n |~
[%] 70 \\\\\
220 NN TN Zanit
; i U IS
1_I\A\
N
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2900 min ™
Test standard: 1ISO 9906-Annex A
232

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM45 3-2 F5 11 (11kW) MEI > 0.70 no.1 impeller diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 3-0 F5 11 (11kW) MEI > 0.70 no.3 impellers diameter = 143 mm

EVM45 4-2 F5 15 (15kW) MEI > 0.70 no.2 impellers diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 4-0 F5 15 (15kW) MEI > 0.70 no.4 impellers diameter = 143 mm

0 US.gpm. 50 100 150 200 250 300
| | | | | | |
[ I I I I [
0 Imp.g.p.m. 50 100 150 200 250
120
H —— 350 H
— ]
[m] 4~p [t]
\\--§_§_“l _ \\\ - 300
0
o B \Il\\ \\ 250
'_\ 5\ —
— *\\\5\2 \&\ 200
\\ \ NPsH [ 120
40 N [m] [ft]
6——20 100
L— '/ 4
NPSH —10 50
// 2]
0 0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I I
0 10 20 30 40 50 60 Q [m3/h]
16 i
"2 450 T
kW] 4-2_ < ——
8 30— T —
342 —
4
0 200 400 600 800 1000 Q [1/min]
80 ‘
— 40
n — 30
i TS
” _o/
60 s 3-2
4-2
50 |
0 200 400 600 800 1000 Q [I/min]

Rotation speed ~ 2930 min ™’

Test standard: ISO 9906-Annex A
233

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM45 5-2 F5 18.5 (18.5kW) MEI>0.70 no.3 impellers diameter = 143 mm/no.2 impellers diameter= 127 mm
EVM45 5-0 F5 18.5 (18.5kW) MEI > 0.70 no.5 impellers diameter = 143 mm
EVMA45 6-2 F5 22 (22kW) MEI > 0.70 no.4 impellers diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 6-0 F5 22 (22kW) MEI > 0.70 no.6 impellers diameter = 143 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
[ T T T T I
0 Imp.g.pm. 50 100 150 200 250
200
600
H H
[m] [ft]
150 == - \6\0\ - 500
——_—— | __ . \6\‘2
—— L I \\5}0 N 400
——] 5.,
100 RN
\\\\ [
N 200
NPSH
50
[m] [ft]
6——120 [-100
S —— ;
0 0
0 200 400 600 800 1000 Q [I/min]
[ T T T T T T T
0 10 20 30 40 50 60 Q [m3/hn]
22 |
P2 6-0 S —
[kw) '8 6-2 —
14 270
5-2 —
10 l
0 200 400 600 800 1000 Q [I/min]
80 !
n 5-0,/6-0—
[%] 70 §<
P 6-2 N
60 7 5-2
50
0 200 400 600 800 1000 Q [I/min]

Rotation speed ~ 2940 min ™’

Test standard: ISO 9906-Annex A
234

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE

50Hz

Rev. J

EVMA45 7-2 F5 30 (30kW)MEI> 0.70 no.5 impellers diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 7-0 F5 30 (30kW) MEI > 0.70 no.7 impellers diameter = 143 mm
EVM45 8-2 F5 30 (30kW) MEI > 0.70 no.6 impellers diameter = 143 mm / no.2 impellers diameter = 127 mm
EVM45 8-0 F5 30 (30kW) MEI > 0.70 no.8 impellers diameter = 143 mm

250

(m]

200

150

100

50

30

P2

[kW] 20

60

50

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| I I I I |
0 Imp.g.p.m. 50 100 150 200 250
— 800
—— 1 - 700
[ — - I
== —&0_
——— ., \&\\ 600
1 | \7‘0 - \‘
~ \\ \‘ — 500
\\
— 400
\\
N\
NPSH [~300
[m] [ft]
620 200
NPSH ~ 4
10 100
e 2
0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I I
0 10 20 30 40 50 60 Q [m3/h]
| /__,—
8-0 I
820 I~ —
' —me
=
7-2
|
0 200 400 600 800 1000 Q [I/min]
\
a\ ]
" /8-0
7 7-2/8-2 7\
P /
7
0 200 400 600 800 1000 Q [I/min]

Rotation speed ~ 2960 min ~

1

Test standard: ISO 9906-Annex A

(#t]

235

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM45 9-2 F5 30 (30kW) MEI > 0.70 no.7 impellers diameter = 143 mm / no.2 impellers diameter = 127 mm
EVM45 9-0 F5 37 (37kW) MEI > 0.70 no.9 impellers diameter = 143 mm
EVM45 10-2 F5 37 (37kW) MEI > 0.70 no.8 impellers diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 10-0 F5 37 (37kW) MEI > 0.70 no.10 impellers diameter = 143 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| T T I | I
0 Imp.g.pm. 50 100 150 200 250
300
- 900
H —_ . H
T —— . —_\ ft
e — - '“\‘\;g\'\o\ a0 [
— T —— ~
== H:h'g\\\\
- 700
200 9—&\\
\\\\: - 600
NN
— 500
N\
— 400
100 NPSH | 300
[m] [ft]
6— 20 200
1 "
NPSH — 4
o , e
0 0
0 200 400 600 800 1000 Q [I/min]
| T T T T I T T
0 10 20 30 40 50 60 Q [m3/h]
40 i
P2 10-0
[l 5 10-2 —————
; — —
N
2% | N~
I
0 200 400 600 800 1000 Q [I/min]
80 i
M 9-0,/10-0—
[%] 70 7\\/
- 9-2/10-2
60 P
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2960 min -
Test standard: ISO 9906-Annex A
236

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM64 1-1 F5 4.0 (4.0kW) MEI > 0.70 no.1 impeller diameter= 131 mm
EVM64 1-0 F5 5.5 (5.5kW) MEI > 0.70 no.1 impeller diameter= 143 mm

0 USgpm. 100 200 300 400
| | | | |
| I I I
0 Imp.g.p.m. 100 200 300
—_ — 90
H — . H
=0 ft
[m] \\ s [ft]
I~ —~ — \\
~— \ —70
SN N — 60
\\
— 50
‘\ \
N e | ‘O
10 [m] [ft]
— 30
8 —]
—~ =20 20
/
//
NPSH ——— 4-
_— —10 10
0 0
0 400 800 1200 Q [I/min]
| T T T T
0 20 40 60 80 Q [m¥/h]
6 |
P2 1-0
L, i T
‘ —~
1-1 "
‘ —
2
0 400 800 1200 Q [I/min]
80
n
— T —
[%] 70 1—1 ] \\\‘
} \’?'/ N \\
N\
60 1-0=——r <
50
0 400 800 1200 Q [I/min]

Rotation speed ~ 2900 min ™

Test standard: ISO 9906-Annex A
237

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE

50Hz

Rev. J

EVM64 2-2 F5 7.5 (7.5kW) MEI > 0.70 no.2 impellers diameter =131 mm
EVM64 2-1 F5 11 (11kW)MEI > 0.70 no.1 impeller diameter = 143 mm / no.1l impeller diameter = 131mm
EVM64 2-0 F5 11 (11kW) MEI > 0.70 no.2 impellers diameter = 143 mm

0 USgpm 100 200 300 400
| | | | |
| | | |
0 Imp.g.p.m 100 200 300
—= — 180
H L ~— H
T~ e \ 2\
[m] = ~— \ig\ g0 [
~~ ~ ~ _ \\2\7 \\\
T —— 7\ \ 140
40 ~Z=0
T~ N - 120
N \
\ \\ —100
\ NPSH
N [m] [ft] 80
20 8—
60
A L
- 20
7 — 40
// 4 —
NPSH -
,// 015
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m3/h]
12 |
P2 2-0
‘ I\\\//:
2= —
\ |
0 400 800 1200 Q [I/min]
80
n = ~——
[%] 70 2—7 A \ N
I = NN\
— N
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2930 min -
Test standard: ISO 9906-Annex A
238

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE

50Hz

Rev. J

EVM64 3-3 F5 15 (15kW) MEI > 0.70 no.3 impellers diameter = 131 mm
EVM64 3-2 F5 15 (15kW) MEI > 0.70 no.1 impeller diameter =143 mm /no.2 impellers diameter = 131mm
EVM64 3-1 F5 15 (15kW) MEI > 0.70 no.2 impellers diameter = 143 mm / no.1 impeller diameter = 131mm
EVM64 3-0 F5 18.5 (18.5kW) MEI > 0.70 no.3 impellers diameter = 143 mm

0 USgpm 100 200 300 400
| | | | |
| I I I
0 Imp.g.p.m 100 200 300
H \\\\ ‘\ J\O | H
[m] = — - —~—— 250 [ft]
60 \\\‘;\'5\ \\\‘ \ — 200
T~ \\\\\
NN NN
\\\\\\\ A 150
30 A NPSH |-100
[m] [ft]
8
— 20 50
NPSH _— 4
| f—
0 0
0 400 800 1200 Q [I/min]
[ I I I I
0 20 40 60 80 Q [m3/h]
18 |
P2 3—‘0 [I—
3-2 ————
! ] |t
3-3
6 \
0 400 800 1200 Q [I/min]
80
n ‘%
(%] 70 NN
\\
~N
60 \\
50 |
0 400 800 1200 Q [I/min]
Rotation speed ~ 2940 min ™’
Test standard: ISO 9906-Annex A
239

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM64 4-3 F5 18.5 (18.5kW) MEI > 0.70 no.1 impeller diameter = 143 mm/no.3 impellers diameter = 131mm

EVM64 4-2 F5 18.5 (18.5kW) MEI> 0.70 no.2 impellers diameter = 143 mm/no.2 impellers diameter=131mm

EVM64 4-1 F5 22 (22kW) MEI > 0.70 no.3 impellers diameter = 143 mm / no.1 impeller diameter =131mm
EVM64 4-0 F5 22 (22.5kW) MEI > 0.70 no.4 impellers diameter = 143 mm

0 USgpm. 100 200 300 400
| | | | |
| I | I
120 0  Imp.g.p.m. 100 200 300
H \\:\\\\\:‘ﬂ\\ 410 350 H
N S g "
T —— ‘:%2\ \\\\ - 300
4
80 ™ \\\\\\
NN - 250
\\\\\\\\\
\\ - 200
N
L NPSH
ft
\ (m] [ft] | 150
40 8
P | og
o - 20 100
NPSH 7 4
" 10
- 10 |50
_"-’-/'
0 0
0 400 800 1200 Q [I/min]
| T | T |
0 20 40 60 80 Q [m3/h]
24 ‘
4-0
) ; —
e
4-3—
8 |
0 400 800 1200 Q [I/min]
80 |
n \ T
[%] 70 \‘k\/ 4_‘0
60 N =42
4-3
50 |
0 400 800 1200 Q [I/min]

Rotation speed ~ 2940 min ™

Test standard: ISO 9906-Annex A
240

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM64 5-3 F5 30 (30kW) MEI > 0.70 no.2 impellers diameter = 143 mm / no.3 impellers diameter = 131mm

EVM64 5-2 F5 30 (30kW) MEI > 0.70 no.3 impellers diameter = 143 mm / no.2 impellers diameter = 131mm

EVM64 5-1 F5 30 (30kW) MEI > 0.70 no.4 impellers diameter = 143 mm / no.1 impeller diameter =131mm
EVM64 5-0 F5 30 (30kW) MEI > 0.70 no.5 impellers diameter = 143 mm

0 USgpm. 100 200 300 400
| | | | |
[ I I I
0 Imp.g.p.m. 100 200 300
150
\\: ——— — 450
Tr—— T —— —— = ft
[rm] ——— —+— ‘%\‘ g0 M
\X\\\\\
~N N\ — 350
100 \\\\\\\
\\\\\ - 300
\\\\
\\1 - 250
N
Nest | 20
50 [m] [#]
150
8_
—~ 20 [~ 100
/
//
NPSH —— 4-
|~ 10 150
0 0
0 400 800 1200 Q [I/min]
[ I I I I
0 20 40 60 80 Q [m3/h]
30 |
PZ 5_\0 m—
[ 5-1 ——
T ——— e
5-3—
10 |
0 400 800 1200 Q [I/min]
80 |
n < ‘
[%] 70 L
N5
N _
60 5-2
5-3
50 |
0 400 800 1200 Q [1/min]

Rotation speed ~ 2960 min ™’

Test standard: ISO 9906-Annex A

241

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

PERFORMANCE CURVE 50Hz

Rev. J

EVM64 6-3 F5 30 (30kW) MEI > 0.70 no.3 impellers diameter = 143 mm / no.3 impellers diameter = 131mm

EVM64 6-2 F5 30 (30kW) MEI > 0.70 no.4 impellers diameter = 143 mm / no.2 impellers diameter= 131mm

EVM64 6-1 F5 37 (37kW) MEI > 0.70 no.5 impellers diameter = 143 mm / no.1 impeller diameter =131mm
EVM64 6-0 F5 37 (37kW) MEI > 0.70 no.6 impellers diameter = 143 mm

0 USgpm. 100 200 300 400
| | | | |
| I I I
0  Imp.g.p.m. 100 200 300
200
- 600
H —
0 T et S B vy 6-0 [ft]
—— _ = 61
150 T —— \::ﬂ’\: ‘\ — 500
B \\\\\\
NN
627 N NN - 400
6-3 NN
100 N
N
\\| - 300
N
m ) [ 2
m
50
8
— 20 100
l/,
NPSH ——— 4
- 10
0 0
0 400 800 1200 Q [I/min]
[ I I I I
0 20 40 60 80 Q [m3/h]
35 |
P2 BTO /’4
[kw] " 6—1 —
. —
—— e
6-3—F—F
15 |
0 400 800 1200 Q [I/min]
80 - |
n }
[%] 70 6-0
X_X—6-1
6-2
60 ;
6-3
50 |
0 400 800 1200 Q [I/min]

Rotation speed ~ 2960 min ™’

Test standard: ISO 9906-Annex A

242

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

PERFORMANCE CURVE

50Hz

Rev. J

EVM64 7-3 F5 37 (37kW) MEI > 0.70 no.4 impellers diameter = 143 mm / no.3 impellers diameter = 131mm
EVM64 7-2 F5 37 (37TKW)MEI > 0.70 no.5 impellers diameter = 143 mm / no.2 impellers diameter = 131mm
EVM64 7-1 F5 37 (37kW) MEI > 0.70 no.6 impellers diameter = 143 mm / no.1 impeller diameter =131mm

0 USgpm. 100 200 300 400
| ! | | |
| I I I
0 Imp.g.p.m. 100 200 300
200 ~—p_
\\\:\::\\_‘ —_— 7\7 600
m o Y
\\\\
150 7—2>§\\ 500
7-3 RN
AN
NN — 400
N
ANNN
100 \\1
— 300
NPSH | 900
ft
- [m] [ft]
8
— 20 100
///
NPSH e S
0 0
0 400 800 1200 Q [I/min]
| | | | T
0 20 40 60 80 Q [m3/h]
40 |
P2 7—1 I
W5y 722 —
\ ~ /%7
7_3\\\7"4
20
0 400 800 1200 Q [I/min]
80 ——
n ~ —
[%] 70 / &Q/;_;_
60 / 7-3—
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2960 min ™
Test standard: ISO 9906-Annex A
243

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

SECTIONAL VIEW
EVM(.) 3
Pump without ball bearing

128-6
131-1 135-6
245 140
130-2 120-5
120-3 120-13
11-3 162
120-1 075
128-1 = —H 273
135-1 b N H ’ 212
S ==
047 _\ i - =1 115-1
046 _\‘\\ O) O O O :) M’“ 007
043-3 E—y — 005-4
044—1———— i m
075-1 052-1 % i = 005-3
2731 1371 9% msif 005-1
212-1  048————— | I . %: ) 120-11
| 031 —7; NS i \021
_____ . 006 ﬂ%% g \— 107
t /I | [T
128-5 : \219
115-3
160
See dimensions page 401
300

% E2ARA EBARA PUMPS EUROPE S.p.A.



VM

50Hz

Rev. J

VERTICAL PUMPS

CONSTRUCTION

EVM(.) 3
Pump with single ball bearing

075-1
2731
2121

See dimensions page 401

301

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 3
Pump without ball bearing

128-1 =it 075
I HraEiT

135-1—\ 5’5’ - J 212
0431 NN - 115-5
047 i | N 115-1

s | 1o

046_\,[ 3 B —— oo
043-3 Hid ] - 005—4

0751 og4—1——— 1 | D—
213-1 052-1 e | e 03
22-1 437 B L &oow
48— [ — | . | \120—11

0— o \021

i 219

See dimensions page 401.

302

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVMG 3
Pump with single ball bearing
274-2 140
150 120-13
131-1 051
245 274-3
130—4\ / 056
130-2 ! ! gl /120—6
-_!4
120-3 *\\_{ - : “QJ“ % / 162
111-3\ IQIS=S (=t /273
128—1\ I 4 075
135-1\- '* al e 012
— .ﬂxy___ | F== { HHE 1151

m
043-1

g R
2—
7
ﬂ// d
IS
r\l O/
T

005—4

075-1
2731
2121

See dimensions page 401.

303

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 5
Pump without ball bearing

131-1

245 128-6
130-2 135-6
120-3 140
1M1-3 120-5
120-1 120-13
128-1 /\ 162
135-1 1Lt /273
043-1 | S 075
047 —
046 - 115-5
043-5 1151
043-3 007

— 1
005-4
e ———005-3
0051
12011
021
107
219
115-3
160

!

052-1
075-1 043-6
273-1 1371

2121 08— |

031 |

77

/

128-5

/

See dimensions page 401

304

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 5
Pump with single ball bearing

075-1
2731
2121

See dimensions page 401

305

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 5
Pump without ball bearing

128-6
131-1
25 135-6
130-2 140
120-3 120-5
11-3 120-13
120~1 162
1281 273
135-1 SNl 075
043-1 L2 5 e ’ 212
047 * E&L—j / 115-5
046 | S 115-1
043-5 m—
043-3 ©U 11
0441 T —005-4
052-1 I O — !
075-1  043-6 l W= 0051
2731 137-1 M suo-n
2121 048 . T 021
031 o U] sm

006

See dimensions page 401

306

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 5
Pump with single ball bearing

131-1 140
120-13 274-2

HL
043-5 -\I — ‘ %s
043-2—\!! l%\\—m5-4
i |
e 1=5 | = ) p—
052-1-\< = T'_.‘ I — - ] 005-2
075-1  043-6 e el = 3
731 NI —— | e e — o051
N1 48— T o o
S o T
T

See dimensions page 401

307

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 10
Pump without ball bearing
120-5
120-6-\\
131-1— N
130-4 —
140 —
128-6 T
162 135-6
245 140
131-1 120-13
130-2 T 120-5
120-3 | B 1-3
128-1 5 075
135-1 i 273
043-1%:!:# i L — / 212
120-1\ : hns—s
- —F O 0 k 115-1
274-1 T T~ Vo054
043-5 J!r”* | %\km
043-3—— [l | T \111
M- i e 005-3

075-1
2731
] e

/F
]
_—

212-1 031_/

§\
- v\\ \
&

See dimensions page 402

308

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 10
Pump with single ball bearing

T T
131-1 5 =l T 1 LJJ//- 162
120-3 i 25
1281 L 1 130-2
1351 B 120-6
! ]

See dimensions page 402

309

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 10
Pump with single ball bearing

See dimensions page 402

310

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 10
Pump without ball bearing

128-6
162 135-6
245 140
131-1 120-13
130-2 120-5
120-3 11-3
1281 273
135-1_\ 075
W1§E% 212
120-1 B 115-5
047 Sy 115-1
274-1 /JFZ _ ———005-4
a5— ||| 007
043-3——— I m
oM-1—— 4 005-3
075-1 052-1 s 005-1
273-1  137-1 — 120-11
22-1  048—— b 021
031 _—7/ 107
006 R 219
H 17
L
See dimensions page 402
311

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 10
Pump with single ball bearing

150

274-3
120-13— ﬁ— 056
140 L - 051

-—b
@
|
-—b
—
rt
[y

= ']/

135-1—\ TS |4 / 120-6

0431 it — e 075

1201 L e 212

\ q O ~

m1— ] | \\11&1
T 1 e (T 005—4
I & 3 ' 115-5
11-3

}Q 007

M

[uuU U e

2

J/

[

i
/)

005-2

273-1 031 005-3
005-1

212-1 006 3 =S
I \ R /// / 021

- i-i D__ 107
= =

312

See dimensions page 402

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 10
Pump with single ball bearing

7
T
{

ddd
NN
"di'oo'f’
L1 4
-— b
—f

043-1
pr—
274-1 -\m[
043—5/ |
|
|
|
|
|
|
|
|
|
|
i
o
i
|

See dimensions page 402

313

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 18
Pump without ball bearing

131-1

075-1 137-1——

273-1 048
( | 212-1 031
B

T
|
|
|
|
|
L
I
_J
]
i
(4]
L=
|
—
J
AN
j
¥>_
-
»N
S S

See dimensions page 402

314

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 18
Pump with single ball bearing
274-2
150
T 274-3
I 056

IOIN
L3
E

f

120-6
075
g 212
O 273
043-1 ~

////
8 =z
TLY

IURRRRRRRN

N T

120—1/ \x 005-2
043-2 L \007
043-3 L ~/I 005-3
044-1 | E il 5% 0051
075-1  052-1 L 021
273-1 1371 / 7 T 115-1
( 202-1 048 /L %) JJ \ 107
031 T R 160
= BT
,,,,,,,, ay 128-5 e
See dimensions page 402
315

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 18
Pump with single ball bearing
120-7 nE
051 - 274-2
135-4 _\L_ T ST 71 150
] J—
070-1 - E @ [ . 128-3
120-8 —— [ 120-13
245 . \162
140 \ 056
130-2 &\ Lo 1311
\ »{3{ @ ®<‘
130-4 e N 120-6
128-1 —— T 075
1351 /EI ['n \ﬁu\, 212
120-3 "1 {0 O \\ 273
047 /I::A—aw, =5 \111—3
2741 74(//% % 005-4
043-5 | 111
| =il =
|
| =l =
|
| g Qg
‘
|| =L =
|
|
| = QQ?\
120-1 //g \\_ 005-2
043-2 _/L,,@ % \_007
043-3 L— i —/[ 005-3
0441 i{% %& 0051
075-1  052-1 2% 021
2731 1371 i 7 T 115-1
16— 2121 I L 0y J‘ \ 107
‘ ; SN ; 160
,,,,,,,, fLW J ﬂ
See dimensions page 402
316

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 18
Pump without ball bearing

005-3
005-1
115-1
021
107

I
il

See dimensions page 402

317

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 18
Pump with single ball bearing

I
i

—

—

—

I

—

“H;
I

e

i %é e E 005-1
— 021

il N s—_ 115-1

g 107

See dimensions page 402

318

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 18
Pump with single ball bearing

120-7 T
051 . T 274-2

13500 — = i e ——— 50
== lsl|alle

120-8 —— [}

f

T,

‘\é
g

I

/

e R

NRRRRRRRR

L
i
i

See dimensions page 402

319

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

EVM(.) 32
Pump without ball bearing

120-13
o 120-5
130-4_\‘ _rIL"JL 130-2
P
130-1—\\ N =t g 162
- N s
120-3_\ SR et 273
128-1_\ i 075
135-1-\‘[ n o [ 22
m 2-\-r I - " Dﬁ? 115-1
- Wi
07— = 7
\ H o054
R AN | SEES
T ] M-3
043 5-\~|\\P 11-1
o43-3— ]| \k_
052-1 I
044-1_\+\
043-4— ]
137-1 L v
048 =
0751
2731
7 2121
/ .
k
|
\

See dimensions page 404

320

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 32
Pump with single ball bearing
120-13 274-2
B Nw’o
131 1_\! ' v /HJJ\_274-3
- ¥ 0 =N 5 i 056
130-4 g T~
- 051
111-4% : aiil dK—m—a
120-3 5
- ] 130-2
1261 el ¥
W 120-6
135 "\ 182
11-2 N _l R (= 075
047 | D — .
274-1\ T g
5‘\ ~ Q) 273
N € ® ™~
043 _\ \\s \ X&?‘i
1 115-5
J - -
120-1—— =t
\ 1M1-5
043-2 il A 115-4
043-3 J
052_1-\\\ 043—1
T 130-3
M | = 005-2
043-4—— 1] 005-3
'3;;; == ] ; 005-1
— N 021
075-1 031 —— ‘\, \—107
273-1 006 = \ 120-10
- 2241 05— / J L A, \ /160
o 613 N O -
(S =
.\ If
/! | | l
[ [ | ﬁ
) Uy
See dimensions pages 404
321

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

EVM(.) 32
Pump with single ball bearing

120-7

135-4——
120-13 =

!
N
128-3 L
120-8

245 e

051—— L ““\"%

140-2

131-1
130-2
130-4
1M1-4

130-1

120-3
128-1

\\ | n |
Y]
[

135-1

075-1 O—
273-1 006 ——_|

22-1 05— |

See dimensions page 404

Rev. J

274-2
150

322

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 32
Pump with double ball bearing
120-7 = 129
135-4 136
120-13—— ¥ N \ ] 070-1
ost——L Q Q 1 /.
128-3 NN ! ‘~.‘ /7
120-8 \‘l\wﬂlj‘ \
25 S =7
140-2 . —] : 058
131-1 ( [ A= =t ’ 162
130-2 ‘1 wy| | (U j 140-1
130-4 ‘. ; 039-1
114 = S 135-3
130-1 | 3 | 120-5
120-3 '.‘ ?rly—w | 120-6
128-1 L FET @ J 120-4
135—1\ W\JJ‘\E,,:L,, - 3:
y
T X e o2
—— |
P | o
- :\115-1
115-4 L \\_115-5
043-1 J Lj&\im-z,
47— ] e \111-1
M| m-2
~ 0054
g L \130_3
; %\/ % % 043-5
) .
J [\
) .
J .
1201——— ; %\{ e A
M-3— | ) 1 (N \
re—l = | 2 o
W"\pi@; I =] 11 " g 005-2
M @ ] 043-2
137-1 SSNE. : \
- [ — 005-3
us I \005-1
o75-1 OI——— ——— \ o
2731 06— | \ \ / w07
22-1 045 PN \
(a7
-k / J L O :“2?' 10
A AT e
E Fﬁ& -
Wy

See dimensions page 404

323

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

075-1
273-1
2121

See dimensions page 404

EVMG 32

Rev. J

Pump without ball bearing

3

131-1

¢

111-4

120-3
128-1

/

)

135-1—— 7

)

1M1-2
047

2741

ik

[ /T

043-4

|

137-1

s

048
031
006

045
613

/]

324

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 32
Pump with single ball bearing

120-1— |
043-2

043-3—— |
052-1—0

044-1
043-4

1371

048

075-1 031

273-1 006

e 212-1 045
( 613

|

See dimensions page 404

325

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

120-7
135-4

EVMG 32
Pump with single ball bearing

120-13———]

128-3
120-8
245
140-2
131-1
130-2

|

See dimensions page 404

274-2
150
070-1

Rev. J

326

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVMG 32
Pump with double ball bearing
120-7—_ 129
135-4— 136
120-13— ] | 070-1
NI T VN
051:9‘*& Q Q \
120-8 N Sy
‘N,F‘ i ‘\,,7//
25 JY =
140-2 ! i \_056
131-1 15 A =t ’ 162
130-2 " wh| | [t ] 140-1
130-4 '1 ‘ 039-1
I
11-4 } 4| 135-3
130-1 '. ~ ; 120-5
120-3 ‘.. ?rlez | 120-6
128-1 L 7@ J 120-4
__qm dish
135-1\ o~ H 273
fi i i 075
SH{ = : T
— 115-1
I~
115-4-\__*__Q i\_ns-s
043-1 . &\m-s
47— I B ‘ Q\L \ -1
274-1 Q \m-z
~ 0054
i [T \130_3
,é %\/ f@ % 043-5
) .
f
J .
e
) .
¢
) .
) .
1201 —— g Q(; g@ j\
u-3— | B 1] \
052-1 na
i —l[] = || 2N w
== 1 E: 005-2
7 @ < 045-2
o8 T— _ - 005-3
o751 —— —— \ x”
2731 06— \ \ / 07
22-1 045 PR
- T / J L *@‘ il | — 12010

See dimensions page 404

327

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

EVM(.) 45
Pump without ball bearing

e e e ae e

g
&
oy
i,

075-1 052-2— |
2731 044-2— |
212-1 006 — |

613 —
131-2—

2
— 'fx
e

See dimensions page 405

328

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 45
Pump with single ball bearing

FIITET

¥

031 _ILJ‘\ \ rh
043-7———+1 N
075-1 052-2—— 1111 e

2731  044-2—
2121 006 — |

(W
—
)

Zagz
d S SET

See dimensions page 405

329

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 45
Pump with single ball bearing
120-7
135-4 i f;o"z
120-13 I T N\ i []
om%J 2 % ‘ &H
128-3 Al I 1401
120-8 iy 162
25 Ll 0391
1::1'_21 e P : =4 ‘ 135-3
1302 '.. jusij i ; :ﬁ:
130-4 1 |
M-4 e N 120-4
130-1 I r le ,'
120-3 '.L - & ).’ 273
“1-3‘\J:F L n da ] 075
128—1-\ ] \‘L\ I K [
§ 0 212
135-1—— \\_ = o
"5'5'\‘1\\Li —_t — 1151
130-3—— | / N 007
M A S 0
71— [T - 1y
A5 — i = m-2
043-3 T S —\\1! I \§ 115-4
0521 i ~_ i 0431
OA=— [Tl T ™ 136-1
oA3-4—__IT1 —q T
A 043-8
==
) =
\ gl
—i=~
u-2—— || id == I ~ ——
120-1— | — & ] 053
o43-6—— ||| | il —u§“|‘ L — 71
13(7);81: — I\ L:i:?J‘N“L;!E.‘ iy :7\—005-2
) N I T ——o12
031 —— L) LS o~ [ T—128-2
043—7——"—‘f:: Y é \ ‘,‘ \120_2

See dimensions page 405

330

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

B

075-1
27341
2121

EVM(.) 45

Rev. J

Pump with double ball bearing

120-7
135-4 ———

120-13 T
128-3
120-8

245
140-2
131-1
130-2
130-4

I
I - 4

1)

[ ]

[

/

1=

f¥i

See dimensions page 405

331

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 45
Pump without ball bearing

140
131-1

130-1

Wi

-

2741 — |
043-5
120-1

| | [ |7

075-1 043-7—
273-1 052-2— |
212-1 044-2—

T
e e e o 0 e e e e e

See dimensions page 405

332

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 45

Pump with single ball bearing
274-2

150

120-13 274-3
140\ 056
051
T ne ]

120-8
@

120-6

s = -
™~ q

115-5 R =s —H] 245

128-1—\ T m-3

273
—— ~ — 075

-
o
|
-
=4
I
-

N

i

il
N

(2

!

1151

g

i

il

i

111-1

B8

77771

i

136-1

Z
l

_I
h
/
;

([

(
:

/]

: . 070-2

Y 1372

r j\EE\-%—s

! 1 120-12
g T i

(

IR

See dimensions page 405

333

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION 50Hz
Rev. J
EVMG 45
Pump with single ball bearing
120-7 274-2
135-4 S22= 150
120-13 A\ 0701
=i x
128-3 U 1ot
120-8 \& LE
WHE
245 i
140-2 O T a rh
131-1 ( g=zto 3 ) 162
: = - !
130-2 \ iRk ; 031
130-4 . ! 135-3
m-4 e N | 120-5
130-1 | ~ & | 120-6
~ = ‘ 120-4
120-3 = !
111-3\ . olTe ‘ 73
| |
075
123-1:§£F il il
135-1-—/4f Lt L\ e F /—212
15-5 | L_ ‘ \ o
m_s\h\ omgy L 115-1
a— | N —
274-1\‘\\? i \\-005-4
e LS N —
was— 1T : 11— \\_111-1
R 11-2
043-3 i \\_
o \115-4
044-1§\\\ — 9
g Hy \_136—1
T 043-8
o43-2—— 1|1 |
120-1—— o
043-6—  [[I | | H :\_g
Sl o
048‘\,, L] I~ i\_
oM —— § e t@\_m—z
= & — 012
043-7 - Z 0 .
0751 052-2——— 1] ) NN
2731 02— \\\ o 120-2
i 4 r I
= - i ! J1AN PN | 107
L~ 221 m L b 45 I 5 f [ —120-9
13— Bt | -z
T ,’,§1N-2
\ = - \135—5
[ ] RN L]
1 L~ |
See dimensions page 405
334

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 45
Pump with double ball bearing

(

See dimensions page 405

335

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

EVM(.) 64
Pump without ball bearing

3 g
il /
o e e et B

Ay

075-1 052-2—
273-1 044-2— |
221 006— |

/

S

See dimensions page 406

336

5 E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVM(.) 64
Pump with single ball bearing

\

I@]
P

11-5 LU ] \\ g" 075
i : B 115-1
N5-4—— HEIT o
R Ny 4 & { S
47— ||| ] ]( _ i
A M-
2741 + ] T o431
M43-5—T] i I
| i 053
| i 021
120-1— || | 005-2
W6\+ 1 136-1
137-1— ] I ' 043-8
48— T | T —043-2
03— (i ——o012
043-7— |1 —128-2
052-2— 1] 1202
075-1 044-2— 11 \\—107
273-1 006 —_ | ~~—120-9
212-1 045—_ ||| | 070-2
613~ sy 137-2
131-2—_ T | 135-5
+
L

See dimensions page 406

337

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION 50Hz
Rev. J
EVM(.) 64
Pump with single ball bearing
120-7 274-2
135-4 T 150
120-13— i1 N\ 7 0701
051 _/*’F“F} \. \ﬁ 056
128-3 N 140-1
120-8 A\
25 i
140-2 T : —
131-1 { i i . 162
130-2 ! TP W : :’33:_';
130-4 w |
11-4 '~ N Sl 120-5
‘ | 120-6
130-1 ‘. — g !
~ A 120-4
120-3 \L BE O | gy | P
1M1-3 e o5
128-1 1 NN i
135-1——5 aall /3112
| _ =thy -
11'1?':\~ \I 115-1
T ———o007
130-3— || M o054
47— | mr—
2741 - e m
043-5 L
043-3 H \\115-4
‘\
: i 0431
092-1——_ || \\—136—1
41— | T
0M43-4— ] 043-8
\
|
\
\
!
Il
\
Il
i
ik
5
HHH
|
!
:r’\ A
i
,{‘,
L
See dimensions page 406
338

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J
EVM(.) 64
Pump with double ball bearing
1207 -
136
' 070-1
Q I /rii?/% w
\t:;/’//
140-1
:=Y \ 162
ki | 0391
‘.‘ 135-3
| 120-5
i 120-6
i 120-4
& f 73
% r}: HE 075
4 L o
135-1 r5i N | b M=
115-5-\15__% : WQW_'—: :’1';_1
m-s— T / NP
wBo-3—— 1 a R ‘. N | o054
o7—— [T ]
274-1 I
043-5
043-3—— |
os-1— ||
o-1— |
O-4—— T
L
See dimensions page 406
339

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 64
Pump without ball bearing

137-1—

048 — 014,
031———

043-7
075-1 052-2—
2731 044-2—
212-1  006——-

I

See dimensions page 406

/

|
\

e e o o 1 et et S a1

2
Z
[

=
/‘"
T
|

340

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 64
Pump with single ball bearing

-4 g y=q =ﬁ’//A’//? e
130-1 gﬁ%\Q Q /Ej 9120—6
120-3 ~ I e
115—5\ = Yaiml 1302
128-1\ > f_‘ | < ———u5
135-1\ |/ ] m-3
111-2—\\\i\ X = — 075
115-4 il ; T 212
130-3>i\J h '\@ \\115.1
047— [T/ \007
274-1 1l 005—4
043-5 | ” 4!|j':%111-1
1 [N ——
| I \_
120-1——" | Jihk\_m
o43-6— || | | NI | S 70052
137-1— ] T _Ef\136-1
i ity e
031 _\f” | - e NN d\—(us-z
043-7 \!\ - \ 2 . \ % \—012
075-1 052-2-/~’Jr: /Q/
2731 o-2— [ [1jl] i
221 o006—| | ||l ". P
/ ol A
| 613 e
: Sl Vam
R ‘ =l
in U]

See dimensions page 406

341

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION

50Hz

Rev. J

EVMG 64
Pump with single ball bearing

2742

il

See dimensions pages 406

342
_—J=-TETY

EBARA PUMPS EUROPE S.p.A.




VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

EVMG 64
Pump with double ball bearing

120-7

129
138
! 070-1

15-1

//H f
g

f

/[ ]

§_115—4
=

1
[ ]
[ ]
J/ 5

/]

See dimensions page 406.

343

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE

EVM(.) 3-5

Rev. J

N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
EVMG | EVM EVML
005-1 [Suction casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
005-2 |Intermediate casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 11
005-3 |Intermediate casing bearing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) ]
005-4 |Discharge casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
006 Bottom casing Cast iron EN-GJL-200-EN 1561 ‘ EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
007 Outer casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
021 Impeller EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
031 Shaft EN 1.4401 (AISI 316) 1
043-1 |Shaft sleeve (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
043-2 |Shaft sleeve (intermediate) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) ]
043-3  [Shaft sleeve (bearing) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) ]
043-5 |Shaft sleeve (last stage) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [11
043-6 [Shaft sleeve (adjustment) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) ]
044-1 |Shaft sleeve bearing Tungsten carbide 1
046 Split ring (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
047 Ring holder EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
048 Impeller nut A2-70 UNI 7323 with inox insert A‘:i‘;oi n%zli::(f: M8 1
051 Motor adapter Cast iron EN-GJL-200-EN 1561 [1]
052-1  [Bearing Tungsten carbide [
056 Ball bearing See table pag.356 1
075 O-ring (plug) EPDM FPM 1
075-1 |O-ring (plug) 7EVM' EvML EPDM FPM 2
EVMG 4
107 Liner ring PTFE / EN 1.4301 (AISI 304) PTFE / EN 1.4401 (AISI 316) 1]
111 Mechanical seal Silicon carbide/Carbon/EPDM Silicon carbide/Carbon/FPM 1
111-3  [Mechanical seal seat EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
115-1 |O-ring (outer casing) EPDM FPM 129.54x5.34 OR 6510 2
115-3  |O-ring / ‘ EPDM FPM 50x3.1 [1]
115-5 |O-ring EPDM FPM 23.47x2.62 OR 3093 1
17 Flange gasket EPDM ‘ / / [1]
120-1 [Tie rod Zincate steel 6.8 strenght class 1ISO 898/1 4
120-3  |Screw A2-70 UNI 7323 M4x6 UNI 5931 4
120-5 |Screw for coupling Zincate steel 8.8 strenght class 1ISO 898/1 M6x25 UNI 5931 [1]

[1] See table on page 356

344

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
MATERIAL
N°® PART NAME DIMENSIONS STANDARD QTY
EVMG | EVM EVML
EVM3, EVM5 2 to 22 . M6x16 UNI 5931
120-6  |Screw for coupling Zincate steel [
EVM5 24 M8x20 UNI 5931
120-8 |Screw (motor adapter) Zincate steel 8.8 strenght class 1ISO 898/1 M12x25 UNI 5739 M
120-11 |Screw for counterflange A2-70 UNI 7323 M10x20 UNI 5739 [
EVM3 2to 11, EVM5 2 to 6 M6x16 UNI 5739
EVM3 13 1t0 15, EVM57to 8 ) M8x20 UNI 5739
120-13 |Screw for motor Zincate steel 8.8 strenght class 1ISO 898/1 4
EVM3 18 to 26, EVM5 10 to 22 M8x30 UNI 5739
EVM5 24 M12x25 UNI 5739
128-1  |Nut for tie rod Zincate steel M10 UNI 5588 4
128-5 |Nut for tie rod / A2-70 UNI 7323 M10 UNI 7474 4
128-6 |Nut for coupling Zincate steel M6 UNI 5588 M
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-4 |Set-screw Carbon steel M5x6 UNI 5929 [1]
131-1  |Pin for shaft Carbon steel 1
135-1 |Washer Zincate steel 10.5x21x2 UNI 6592 4
135-6 [Washer knurled Carbon steel D6 [1]
137-1  |Impeller spacer EN 1.4301(AISI 304) ‘ EN 1.4401 (AISI 316) 1
UP TO 1.5 kW Die cast Aluminium EN AB-AISi11Cu2 (Fe) 2
140 Coupling
2.2 kW AND ABOVE Brass OT 58 UNI 5705 1
150 Spacer Carbon steel [1]
160 Base / ‘ Die cast Aluminium EN AB-AISi11Cu2 (Fe) 1
162 Motor bracket Cast iron EN-GJL-200-EN 1561 ‘ Castiron + EN 1.4301(AISI 304) | Castiron + EN 1.4401 (AISI 316) 1
212 Plug EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
EVM, EVML 2
212-1  |Plug EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
EVMG 4
219  [Counter flange Zincate steel \ EN 1.4301(AISI 304) EN 1.4401 (AISI 316) Ml
245 Coupling guard EN 1.4301(AISI 304) 2
273 Washer (plug) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
EVM, EVML 2
273-1  |Washer (plug) EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
EVMG 4
EVM3 18, EVM 3 22, EVM 5 10 to 12 D35
274-2  |C-type snap ring (coupling) EVM3 26, EVM5 14 to 22, Carbon steel TC 80 D40 UNI 7435 [1
EVM5 24 D50
EVM3 18, EVM 3 22, EVM 5 10 to 12 D72
274-3 |C-type snap ring (bracket) EVM3 26, EVMS5 14 to 22, Carbon steel TC 80 D90 UNI 7437 [
EVM5 24 D110

[1] See table on page 356

345

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
SECTIONAL VIEW TABLE
EVM(.) 10
MATERIAL
N° PART NAME DIMENSIONS STANDARD QTY
EVMG | EVM EVML

005-1 [Suction casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
005-2 [Intermediate casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
005-3 |Intermediate casing bearing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
005-4 |Discharge casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
006  |Bottom casing Cast ir_"gNE;\ggJ"'zoo EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
007 Outer casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
021 Impeller EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1]
031 Shaft EN 1.4401 (AISI 316) 1
043-1 |Shaft sleeve (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
043-2 |Shaft sleeve (intermediate) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1
043-3 |Shaft sleeve (bearing) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1]
043-5 |Shaft sleeve (last stage) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1]
044-1 |Shaft sleeve bearing Tungsten carbide 1
047 Ring holder EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
048 |impeller nut A2-70 UNI 7323 with inox insert A;i‘;oin‘i’:'igjjj M10 1
051 Motor adapter Cast iron EN-GJL-200-EN 1561 1
052-1 |Bearing Tungsten carbide 1
056 Ball bearing See table pag.357 [1
070-1 |Ring for bearing EN 1.4301(AISI 304) 1]
075 O-ring (plug) EPDM FPM 1
075-1  |O-ring (plug) 7EVM' EVML EPDM FPM 2

EVMG 4
107 Liner ring PTFE/EN 1.4301(AISI 304) PTFE/EN 1.4401 (AISI 316) 1]
111 Mechanical seal EPDM Silicon carbide/Carbon/FPM 1
111-3  |Mechanical seal seat EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
115-1  |O-ring (outer casing) EPDM FPM 164.46x5.34 OR 6645 2
115-3  |O-ring / \ EPDM FPM 60x3.1 11
115-5 |[O-ring EPDM FPM 31.34x3.53 OR 4125 1
117 Flange Gasket EPDM ‘ / / [1]
120-1  [Tie rod Zincate steel 6.8 strenght class ISO 898/1 4
120-3  [Screw A2-70 UNI 7323 M5x6 UNI 5931 4
120-5 |[Screw for coupling % Zincate steel 8.8 strenght class ISO 898/1 32;1265 UNI 5931 [1

EVM10 2/3/5/6 M6x16 UNI 5931
120-6 |Screw for coupling EVM10 8 to 20 Zincate steel M8x20 UNI 5931 [1]

EVM10 22 M10x25 UNI 5931
120-7 |Screw (bearing) Zincate steel 8.8 strenght class ISO 898/1 6x10 UNI 5739 [11
120-8 |Screw (motor adapter) Zincate steel M2x25 UNI 5739 [1]

[1] See table on page 357

346

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
SECTIONAL VIEW TABLE
EVM(.) 10
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
EVMG | EVM | EVML
120-11 |Screw for counterflange A2-70 UNI 7323 M12x20 UNI 5739 1
EVM10 2 to3 M6x16 UNI 5931
EVM10 4 M8x20 UNI 5739
120-13 |Screw for motor EVM10 5 to11 Zincate steel 8.8 strenght class ISO 898/1 M8x30 UNI 5739 4
EVM10 12 t020 M12x25 UNI 5739
EVM10 22 M16x65 UNI 5739
128-1  |Nut for tie rod Zincate steel M12 UNI 5588 4
128-3  |Nut (motor) Zincate steel [11
128-5 |Nut for tie rod ! Zincate steel M12 UNI 7474 4
128-6 |Nut for coupling Zincate steel M6 UNI 5588 1]
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-4 |Set-screw Carbon steel M6x6 UNI 5929 [1]
131-1  |Pin for shaft Carbon steel 1
135-1 |Washer Zincate steel 13x24x2.5 UNI 6592 4
135-4 |Washer (bearing) Carbon steel 1]
135-6 |Washer knurled Carbon steel D6 1
137-1  |Impeller spacer EN 1.4301(AISI 304) ‘ EN 1.4401 (AISI 316) 1
Other models Brass OT 58 UNI 5705 1
140 Coupling EVM10 4 Die cast Aluminium EN AB-AISi11Cu2 (Fe) 2
EVM10 22 CF 35 SMn Pb10 1
150 Spacer Carbon steel 1
160 Base / Die cast Aluminium EN AB-AISi11Cu2 (Fe) 1
162 [Motor bracket ceet Ir?gNE:‘S_;JL_zoo EN 133?1?2?37 304) | EN 122?1"((/)\?5: 316) 1
212 Plug EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
212-1 |Plug EVM, EVML EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 2
EVMG 4
219 Counter flange Zincate steel ‘ EN 1.4301(AISI 304) | EN 1.4401 (AISI 316) 1
245 Coupling guard EN 1.4301(AISI 304) 2
273 |washer (plug) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
273-1 |Washer (plug) EVM, EVML EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 2
EVMG 4
274-1 | C-type snap ring (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) | D.16 JIS B2804-1978 1
EVM10 5, EVM 10 6 D35
2742 |C:ype snapring EVIMO 8o 11 Carbon steel TC 80 D40 UNI 7435 1]
(coupling) EVM10 12 to 20 D50
EVM10 22 D65
X EVM 10 5, EVM 10 6 72
274-3 Ef)'gg:;;ap fing EVM 108 to 11 Carbon steel TC 80 90 UNI 7437 0!
EVM 10 12 to 20 110

[1] See table on page 357

347

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
SECTIONAL VIEW TABLE
EVM(.) 18
N° PART NAME MATERIAL DIMENSION STANDARD QTY
EVMG | EVM EVML

005-1 |Suction casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
005-2 |Intermediate casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
005-3 [Intermediate casing bearing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
005-4 |Discharge casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
006  |Bottom casing Cast "f’E”NE:\‘S'gJL'ZOO EN 1.4301(AIS| 304) EN 1.4401 (AISI 316) 1
007 Outer casing EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
021 Impeller EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
031 Shaft EN 1.4401 (AISI 316) 1
043-1 |Shaft sleeve (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
043-2 |Shaft sleeve (intermediate) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) [1]
043-3 |Shaft sleeve (bearing) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 11
043-5 |Shaft sleeve (last stage) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
044-1 |Shaft sleeve bearing Tungsten carbide [1]
047 Ring holder EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
048 [Impeller nut A2-70 UNI 7323 with inox insert A:&Lgﬂ%g'ir:::j M12 1
051 Motor adapter Cast iron EN-GJL-200-EN 1561 1]
052-1 |Bearing Tungsten carbide 1]
056 Ball bearing See table pag.357 1
070-1 |Ring for bearing EN 1.4301(AISI 304) [1]
075 O-ring (plug) EPDM FPM 1
075-1 |O-ring (plug) 7EVM’ EVML EPDM FPM 2

EVMG 4
107 Liner ring PTFE/EN 1.4301(AISI 304) PTFE/EN 1.4401 (AISI 316) [1]
111 Mechanical seal EPDM Silicon carbide/Carbon/FPM 1
111-3 |Mechanical seal seat EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
115-1  |O-ring (outer casing) EPDM FPM 164.46x5.34 OR 6645 2
115-5 |O-ring EPDM FPM 36.1x3.53 OR 4143 1
120-1 |Tie rod Zincate steel 6.8 strenght class 1ISO 898/1 4
120-3 |Screw A2-70 UNI 7323 M5x6 UNI 5931 4
120-5 |Screw for coupling Zincate steel 8.8 strenght class ISO 898/1 M6x16 UNI 5931 [1]

EVM 18 2 M6x16 UNI 5931
120-6 |Screw for coupling EVM18 3 to8 Zincate steel M8x20 UNI 5931 [1]

EVM18 10 to 16 M10x25 UNI 5931

[1] See table on page 357

348

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
MATERIAL
N° PART NAME DIMENSIONS | STANDARD QTY
EVMG | EVM EVML
120-7 |Screw (bearing) Zincate steel 8.8 strenght class ISO 898/1 6x10 UNI 5739 [1]
120-8 |Screw (motor adapter) Zincate steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739 1
EVM18 2t0 3 M8x20 UNI 5739
EVM18 4 M8x30 UNI 5739
120-13 |[Screw for motor _—— Zincate steel 8.8 strenght class 1ISO 898/1 X 4
EVM18 5to 8 M12x25 UNI 5739
EVM18 10 to16 M16x65 UNI 5739
128-1  |Nut for tie rod Zincate steel M12 UNI 5588 4
128-3  |Nut (motor) Zincate steel [1]
128-5 |Nut for tie rod / Zincate steel M12 UNI 7474 4
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-4 |Set-screw Carbon steel M8x8 UNI 5929 [1]
131-1  |Pin for shaft Carbon steel 1
135-1  |Washer Zincate steel 13x24x2.5 UNI 6512 4
135-4 |Washer (bearing) Carbon steel 1]
137-1  |Impeller spacer EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
. Other models Brass OT 58 UNI 5705
140 Coupling 1
EVM18 10 to 16 CF 35 SMn Pb10
150 Spacer Carbon steel 1]
160 Base / Cast iron EN-GJL-200-EN 1561 1
Cast iron EN-GJL-200 Castiron + Cast iron +
162 |Motor bracket -EN 1561 EN 1.4301(AISI 304) | EN 1.4401 (AISI 316) 1
212 Plug EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
EVM, EVML 2
212-1  |Plug -_— EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
EVMG 4
245 Coupling guard EN 1.4301(AISI 304) 2
273 |Washer (plug) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
EVM, EVML 2
273-1 |Washer (plug) - EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
EVMG 4
274-1 |C-type snap ring (mechanical seal) EN 1.4301(AISI 304) EN 1.4401 (AISI 316) 1
c EVM18 4 D 40
R -type snap ring —iara |
274-2 (coupling) EVM18 5-8 Carbon steel TC 80 D 50 UNI 7435 [11
EVM18 10-16 D 65
X i EVM18 4 D 90
274-3 |C-lype snap ring 2 | Carbon steel TC 80 UNI 7437 ]
(bracket) EVM18 5t0 8 D 110

[1] See table on page 357

349

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE

Rev. J

EVM(.) 32
Ne PART NAME MATERIAL DIMENSIONS | STANDARD | QTY
EVMG | EVM EVML
005-1 [Suction casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
005-2 [Intermediate Casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
005-3 |Intermediate casing bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
005-4 |Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
006  [Bottom casing Cast "f’é‘Nﬁg;J"'%o EN 1.4308 (ASTM CF8) |  EN 1.4408 (ASTM CF8M) 1
007 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
011 Casing cover Cast Iron EN GJL-250 Cast iron+ Cast iron + 1
-EN1561 EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
021 Jimpelier EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) ]
021-1  |Reduced impeller [1]
031 Shaft EN 1.4401 (AISI 316) 1
039-1 |Key Carbon Steel 12x8x90 UNI 6604 [1]
043-1 |Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-2 |Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-3 |Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-4 |Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-5 |Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
044-1 |Shaft sleeve bearing Tungsten carbide 1]
045 Flange holder EN 1.402 (AISI 420) 4
047  |Ring Holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
048 |impolr i o incert i nox incert we :
051 Motor adapter Cast iron EN-GJL-200-EN 1561 1
052-1 |Bearing Tungsten carbide 11
056 Ball bearing See table page 361 1
070-1 |Ring for bearing EN 1.4301 (AISI 304) 1
075 O-Ring (plug) EPDM FPM 1
075-1 |O-Ring (plug) EPDM FPM 4
107 Liner ring PTFE / EN 1.4301 (AISI 304) PTFE / EN 1.4401 (AISI 316) M1
111-1  [Mechanical seal Silicon carbide / Carbon / FPM 1
111-2  [Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-3  [Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-4  |Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316) 1
111-5 |Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M1
115-1 |O-Ring (outer casing) EPDM FPM D.208.91x5.34 2
115-4 |O-Ring (cartridge sleeve) EPDM FPM D. 24,99x3,59 1
115-5 |O-Ring (seal cover) EPDM FPM D.44,04x3,53 1
120-1 |Tie-rod Zincate steel 6.8 strenght class ISO 898/1 4
120-3 |Screw A2-70 UNI 7323 M5xX10 UNI 5931 4
120-4 [Screw Zincate steel 8.8 strenght class ISO 898/1 M10x25 UNI 5739 11
EVM32 1 M6x16 UNI 5931
120-5 |Screw for coupling EVM32 2 and 2-2 Zincate steel 8.8 strenght class I1SO 898/1 M8x20 UNI 5931 [1]
EVM32 5 to 14 M10x30 UNI 5739

[1] See table on page 358

350

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



EVM

50Hz

VERTICAL PUMPS

CONSTRUCTION

Rev. J
SECTIONAL VIEW TABLE
EVM(.) 32
Ne PART NAME MATERIAL DIMENSIONS | STANDARD | QTY
EVMG | EVM EVML
EVM32 1 M6x16 UNI 5931
120-6  |Screw for coupling EVM32 2 to 4-3 Zincate steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931 2
EVM32 5 to 14 M12x30 UNI 5931
120-7 |Screw Zincate steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739 [11
120-8 |Screw EVMs23tod4 | Zincate steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739 [11
EVM32 5 to 14 M10x30 UNI 5739
120-10 |Screw Zincate steel 8.8 strenght class ISO 898/1 M12x40 UNI 5739 4
EVM32 1to 2 M8x20 UNI 5739
120-13 |Screw for motor EVM32 3 to 4 Zincate steel 8.8 strenght class ISO 898/1 M12x30 UNI 5739 4
EVM32 5 to 14 M16x65 UNI 5739
128-1  |Nut for tie rod Zincate steel M16 UNI 5588 4
128-3  |Nut Zincate steel M16 UNI 5588 [11
129 Lock nut Carbon Steel [11
130-1 |Set screw A2-70 UNI 7323 M6x8 UNI 5923 3
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-3 |Set screw A2-70 UNI 7323 M6x6 UNI 5923 1
130-4 |Set screw Carbon steel M10x10 UNI 5923 1
131-1  |Pin for shaft Carbon Steel 1
135-1  |Washer Zincate steel 17x30x3 UNI 6592 4
135-3 |Washer Zincate steel 10.5x17.5x2.2 UNI 1751 [
135-4 |Washer Plated carbon steel 06:04 UNI 1751 1
136 Washer Carbon steel [1]
137-1  |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
140 Coupling Brass OT 58 UNI 5705 [1]
140-1  |Motor coupling Carbon steel )]
140-2 |Coupling (motor side) Carbon steel ]
150 Spacer carbon steel 11
160 Base Cast iron EN-GJL-200-EN 1561 1
162 Motor bracket Cast iron EN-GJL-200-EN 1561 1
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
212-1 |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
245 Coupling guard EN 1.4301 (AISI 304) 2
273 Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
273-1  [Plug Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
274-1 [C-type snap ring (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435 1
EVM32 3 to 4 D.50 UNI 7435
274-2 [C-type snap ring (coupling) EVM32 5to 10 Carbon Steel TC 80 D.65 UNI 7435 [1]
EVM32 11 to 12 D.75 UNI 7535
274-3 |C-type snap ring (bracket) Carbon Steel TC 80 D.110 UNI 7437 11
613 Flange Carbon steel 2

[1] See table on page 358

351

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE

Rev. J

EVM(.) 45
Ne PART NAME MATERIAL DIMENSIONS | STANDARD | Q.TY
EVMG | EVM EVML

005-2 Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
005-4 Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
006 Bottom casing Cast iron EN GJL 250 EN 1561 ‘ EN. 1.4308 (ASTM CF8) EN. 1.4408 (ASTM CF8M) 1
007 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
011 Casing cover Cast iron EN GJL 250 EN 1561 En 1323'1"(‘:; 300 N 1jjzt1i;;’:; 316) i
012 Suction cover EN. 1.1301 (AISI304) EN 1.4401 (AISI 316) 1
021 Impeller

EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
021-1 Reduced impeller
031 Shaft EN 1.4401 (AISI 316) 1
039-1 Key Carbon steel 12x8x90 UNI 6604 [1]
043-1 Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-2 Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
043-3  |Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 11
043-4  |Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 11
043-5 Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-6 Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-7 Shaft sleeve EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-8 Shaft sleeve (discharge-lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
044-1 Shaft sleeve bearing Tungsten carbide [1]
044-2 Bearing sleeve (bottom bearing) Tungsten carbide 1
045 Flange holder EN 1.402 (AISI 420) 4
047 Ring holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
048 fimpelr nut Vit nox nsert i nox nsert e :
051 Motor adapter Cast iron EN-GJL-200-EN 1561 11
052-1 Bearing Tungsten carbide 11
052-2 Bearing Tungsten carbide 1
053 Bush holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
056 Ball bearing see table page 361 11
070-1 Ring for bearing EN 1.4301 (AISI 304) 11
070-2 Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
075 O-Ring (plug) EPDM FPM 1
075-1  |O-Ring (plug) EPDM FPM 4
081 Bush PTFE 1
107 Liner ring PTFE /EN 1.4401 (AISI316) [1]
111-1 Mechanical seal Silicon carbide /Carbon/FPM 1
111-2 Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-3 Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-4 Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316) 1
111-5 Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
115-1  |O-Ring (outer casing) EPDM FPM D.240.66x5.34 2
115-4 |O-Ring (cartridege sleeve) EPDM FPM D.24.99x3.53 1
115-5 O-Ring (seal cover) EPDM FPM D.44.04x3.53 1
120-1 Tie Rod Zincate steel 6.8 strenght class ISO 898/1 4
120-2 Tie Rod EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 2
120-3 Screw A2-70 UNI 7323 M5x10 UNI 5931 4
120-4 Screw Zincate steel 8.8 strenght class 1ISO 898/1 M10x25 UNI 5739 [11

[1] See table on page 359

352

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE

Rev. J

EVM() 45
Ne PART NAME MATERIAL DIMENSIONS | STANDARD | QTY
EVMG | EVM | EVML
1205 |Screw for coupling EVM 45 1-0and 1-1 Zincate steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931 1]
EVM 45 3to 10 M10x30 UNI 5739
120-6 Screw for coupling EVM45 1 to 2 Zincate steel 8.8 strenght class ISO 898/1 M8x20 UNI 5931 2
EVM 45 3to 10 M12x30 UNI 5931
120-7 Screw Zincate steel 8.8 strenght class ISO 898/1 M6X10 UNI 5739 [1]
1208 |Screw EVM 45 2-0and 22 Zincate steel 8.8 strenght class ISO 898/1 M12x25 UNI 5739 1]
EVM 45 3to 10 M10x30 UNI 5739
120-9 Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M5x8 UNI 8737 4
EVM, EVMG UNI 5739
120-12 Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931 1
EVM45 1-0, 11 M8x20 UNI 5739
EVM45 2-0, 2-2 M12x30 UNI 5739
120-13 Screw EVML45 9-0, 10-0, 10-2 Zincate steel 8.8 strenght class ISO 898/1 M6x10 UNI 5739 4
EVM45 9-0, 10-0, 10-2 M16x55 UNI 5737
EVM45 3-0 to 9-2 M16x65 UNI 5739
128-1 Nut for tie rod Zincate steel M16 UNI 5588 4
128-2 Nut Carbon steel EN 1.4401 (AISI 316) M5 UNI 5588 4
128-3 Nut Zincate steel M16 UNI 5588 1]
129 Lock nut Carbon steel M75x2 [1]
130-1 Set screw A2-70 UNI 7323 M6x8 UNI 5923 3
130-2 Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-3 Set screw A2-70 UNI 7323 M6x6 UNI 5923 1
130-4 Set screw Carbon steel M10x10 UNI 5923 1
131-1 Pin for shaft Carbon steel 1
131-2 Elastic pin - Zincate steel 6x25 UNI 6873 1
135-1 Washer Zincate steel 17x30x3 UNI 6592 4
135-3 Washer Zincate steel 10.5x17.5x2.2 UNI 1751 [1]
135-4 Washer Plated carbon steel 6,4 UNI 1751 [1]
135-5 Washer EN 1.4301 (AISI 304) ‘ EN 1.4401 (AISI 316) 1
136 Bearing washer Carbon steel 1]
136-1 Stopper ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
137-1 Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
137-2 Shaft spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
140 Coupling Brass OT 58 UNI 5705 1]
140-1 Motor coupling Carbon steel 1]
140-2 Coupling (pump side) Carbon steel 1
150 Spacer Carbon steel [1]
160 Base - ‘ Cast iron EN-GJL-200 EN1561 1
162 Mator bracket Cast iron EN-GJL-200 EN1561 1
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
2121 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
245 Coupling guard EN 1.4301 (AISI 304) 2
273 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
2731 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
2741 C-type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435 1
EVM45 2-0, 2-2 D.50 UNI 7435
274-2 C-Typr snap ring EVM45 3 to 5 Carbon steel TC80 D.65 UNI 7435 [1]
EVM45 6-0 and 6-2 D.75 UNI 7535
274-3 C-Typr snap ring Carbon steel TC80 D.110 UNI 7437 [1]
613 Flange Carbon steel 2

[1] See table on page 359

353

_—J=-TETY

EBARA

PUMPS EUROPE S.p.A.



EVM

50Hz

Rev. J

VERTICAL PUMPS

CONSTRUCTION

SECTIONAL VIEW TABLE

EVM(.) 64
MATERIAL
N° PART NAME DIMENSIONS STANDARD QTY
EVMG | EVM EVML
005-2 |Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1]
005-4 |Discharge casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
006  |Bottom casing Cast it°|’E‘NE2\‘5(g1JL'25° EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
007 Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
011 Casing cover Cast iron EN GJL-250 Castiron + Cast iron + i
- EN 1561 EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)

012 Suction cover EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
021 Impeller

- EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
021-1  |Reduced impeller
031 Shaft EN 1.4401 (AISI 316) 1
039-1 |Key Carbon steel 12x8x90 UNI 6604 [11
043-1  |Shaft sleeve (mechanical seal) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-2 [Shaft sleeve (intermediate) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
043-3 |Shaft sleeve (bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
043-4 |Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
043-5 [Shaft sleeve (last stage) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-6 [Shaft sleeve (adjustment) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-7 |Shaft sleeve (bottom bearing) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
043-8 |Shaft sleeve (discharge/lower) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
044-1 |Shaft sleeve bearing Tungsten carbide [11
044-2 |Bearing sleeve Tungsten carbide 1
045 Flange holder EN 1.402 (AISI 420) 4
047 Ring holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
048 |impollr i nox ncert Wit nox ncert w6 1
051 Motor adapter Cast iron EN-GJL-200-EN 1561 1
052-1 |Bearing Tungsten carbide [1]
052-2 |Bearing Tungsten carbide 1
053 Bush holder EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) [1]
056 Ball bearing See table page 361 [11
070-1  |Ring for bearing EN 1.4301 (AISI 304) 1
070-2 |Ring for bearing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
075 O-Ring (plug) EPDM FPM 1
075-1 |O-Ring (plug) EPDM FPM 4
081 Bush PTFE 1
107 Liner ring PTFE / EN 1.4401 (AISI 316) 1
111-1  |Mechanical seal Silicon carbide / Carbon /FPM 1
111-2  [Mechanical seal cartridge EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-3  [Mechanical seal seat EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
111-4  [Seal holder Brass OT 58 UNI 5705 EN 1.4401 (AISI 316) 1
111-5 |Adjusting ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
115-1 |O-Ring (outer casing) EPDM FPM D.240.66x5.34 2
115-4 |O-Ring (cartridge sleeve) EPDM FPM D.24.99x3.53 1
115-5 |O-Ring (seal cover) EPDM FPM D.44.04x3.53 1
120-1 |Tie-rod Zincate steel 6.8 Strenght class ISO 898/1 4
120-2 [Tie-rod EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
120-3 |Screw (mechanical seal) A2-70 UNI 7323 M5x10 UNI 5931 4
120-4 |Screw (casing cover) Zincate steel 8.8 Strenght class ISO 898/1 M10x25 UNI 5739 1

[1] See table on page 360

354

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
SECTIONAL VIEW TABLE
EVM(.) 64
N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
EVMG | EVM EVML
120-5 ([Screw for coupling Evmeat1 | Zincate steel 8.8 Strenght class ISO 898/1 M8x20 UNI 5931 [1]
EVM 64 2 and higher M10x30 UNI 5739
120-6 |Screw for coupling EVME4 10, 11,22 | Zincate steel 8.8 Strenght class ISO 898/1 Mgx20 UNI 5931 2
EVM 64 2 and higher M12x30 UNI 5931
120-7 [Screw Zincate steel M6x10 UNI 5739 1
120-8 [Screw EvMed 10, 22 | Zincate steel 8.8 Strenght class 1ISO 898/1 M6x10 UNI 5739 [1]
M10x30 UNI 5739
120-9 [Screw EVML EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M58 UNI 5737 4
EVM, EVMG M5x8 UNI 5739
120-12 [Screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6x20 UNI 5931 1
EVM 64 1-1 M8x20 UNI 5739
120-13 |Screw EVM641-0.22 | Zincate steel 8.8 Strenght class 1SO 898/1 M12x30 UNI 5739 4
EVM646to 7 M16x55 UNI 5737
EVM642to5 M16x65 UNI 5739
128-1  [Nut for tie rod Zincate steel M16 UNI 5588 4
128-2  |Nut Carbon steel EN 1.4401 (AISI 316) M5 UNI 5588 4
128-3  [Nut Zincate steel M16 UNI 5588 [1]
129 Lock nut Carbon steel [
130-1 [Set screw A2-70 UNI 7323 M6x8 UNI 5923 3
130-2 |Screw for coupling guard A2-70 UNI 7323 M5x6 UNI 7687 4
130-3 |Set screw EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) M6X6 UNI 5923 1
130-4 [Set screw Zincate steel M10x10 UNI 5923 1
131-1  [Pin for shaft Carbon steel 1
131-2  |Elastic pin - | Zincate steel 6x25 UNI 6873 1
135-1  (Washer Zincate steel 17x30x3 UNI 6592 4
135-3 |Washer Zincate steel 10.5x17.5x2.2 UNI 1751 [1]
135-4 |Washer Plated carbon steel 6.4 UNI 1751 [1]
135-5 |Washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.6 1
136 Bearing washer Carbon steel [1]
136-1 |Stopper ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
137-1  |Impeller spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
137-2  [Shaft spacer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
140 Coupling Brass OT 58 UNI 5705 11
140-1  [Motor coupling Carbon steel [1]
140-2 |Coupling (pump side) Carbon steel 1
150 Spacer Carbon steel 1]
160  [Base - | Cast iron EN-GJL-200 EN 1561 1
162 Motor bracket Cast iron EN-GJL-200-EN 1561 1
212 Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
212-1  |Plug EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
245 Coupling guard EN 1.4301 (AISI 304) 2
273 Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 1
273-1 |Plug washer EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 4
274-1 |C-Type snap ring EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) D.26 UNI 7435 1
EVM 1-0, 2-2 D.50 UNI 7435
274-2 |C-Type snap ring EVM64 2 to 4-3 Carbon steel TC80 D.65 UNI 7435 11
EVM64 4-0, 4-1 D.75 UNI 7535
274-3 |C-Type snap ring Carbon steel TC80 D.110 UNI 7437 11
613 Flange Carbon steel 2

[1] See table on page 360

355

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J

QUANTITY FOR MODEL
EVM(.) 3-5

Pump Type Quantity for model
EVMO) 005-2 | 005-3 | 021 | 043-2 | 043-3 | 043-5 | 043-6 | 044-1 | 046 | 051 | 052-1 | 056 B?yaprieng 107 | 115-3 | 117 | 120-5 | 120-6 | 120-8 | 120-11| 128-6 | 130-4 | 135-6 | 150 | 219 | 274-2 | 274-3

3 2N5/0.37 ! 1 2 ! 1 / / 1 1 / 1 ! ! 2 2 2 4 ! ! 4 4 / 4 ! 2 / /
3 3N5/0.37 1 1 3 1 1 / / 1 1 / 1 ! ! 3 2 2 4 / / 4 4 / 4 / 2 / /
3 4N5/0.55 2 1 4 2 1 / / 1 1 / 1 ! ! 4 2 2 4 / / 4 4 / 4 / 2 / /
3 5N5/0.55 3 1 5 3 1 / / 1 1 / 1 ! ! 5 2 2 4 / / 4 4 / 4 / 2 / /
3 6N5/0.75 4 1 6 4 1 / / 1 1 / 1 ! ! 6 2 2 4 / / 4 4 / 4 / 2 / /
3 7N5/0.75 5 1 7 5 1 / / 1 1 / 1 ! ! 7 2 2 4 / ! 4 4 / 4 / 2 / /
39N5/1.1 7 1 9 7 1 / / 1 1 / 1 ! ! 9 2 2 4 / / 4 4 / 4 / 2 / /
3 11N5/1.1 9 1 11 9 1 / / 1 1 / 1 ! / 11 2 2 4 / / 4 4 / 4 ! 2 / /
3 13N5/1.5 10 2 13 10 2 / / 2 1 / 2 ! ! 13 2 2 4 / / 4 4 / 4 / 2 / /
3 15N5/1.5 12 2 15 12 2 / / 2 1 / 2 ! / 15 2 2 4 / / 4 4 / 4 / 2 / /
3 18F5/2.2 15 2 18 15 2 / / 2 1 1 2 1 6207 ZZ 18 ! / ! 2 / / / 1 ! 1 / 1 1
3 22F5/2.2 19 2 22 19 2 / / 2 1 1 2 1 6207 ZZ 22 ! / ! 2 / / / 1 ! 1 / 1 1
3 26F5/3.0 23 2 26 23 2 / / 2 1 1 2 1 6207 ZZ 26 ! / ! 2 / / / 1 ! 1 / 1 1
5 2N5/0.37 ! 1 2 ! 1 1 1 1 1 / 1 ! / 2 2 2 4 / / 4 4 / 4 / 2 / /
5 3N5/0.55 1 1 3 1 1 1 1 1 1 / 1 ! / 3 2 2 4 / / 4 4 / 4 / 2 / /
54N5/0.75 2 1 4 2 1 1 1 1 1 / 1 ! / 4 2 2 4 / / 4 4 / 4 / 2 / /
55N5/1.1 3 1 5 3 1 1 1 1 1 / 1 ! / 5 2 2 4 / / 4 4 / 4 / 2 / /
56N5/1.1 4 1 6 4 1 1 1 1 1 / 1 ! / 6 2 2 4 / / 4 4 ! 4 / 2 ! !
57N5/1.5 5 1 7 5 1 1 1 1 1 / 1 ! / 7 2 2 4 / / 4 4 / 4 / 2 ! !
58N5/1.5 6 1 8 6 1 1 1 1 1 / 1 ! / 8 2 2 4 / / 4 4 ! 4 / 2 ! !
5 10N5/2.2 8 1 10 8 1 1 1 1 1 1 1 1 6207 ZZ 10 2 2 ! 2 / 4 / 1 ! 1 2 1 1
511N5/2.2 8 2 1 8 2 1 1 2 1 1 2 1 6207 ZZ 1 2 2 ! 2 / 4 / 1 ! 1 2 1 1
5 12N5/2.2 9 2 12 9 2 1 1 2 1 1 2 1 6207 ZZ 12 2 2 ! 2 / 4 / 1 ! 1 2 1 1
5 14N5/3.0 1" 2 14 1 2 1 1 2 1 1 2 1 6308 ZZ 14 2 2 ! 2 / 4 ! 1 ! 1 2 1 1
5 16N5/3.0 13 2 16 13 2 1 1 2 1 1 2 1 6308 ZZ 16 2 2 / 2 / 4 ! 1 ! 1 2 1 1
5 18F5/4.0 15 2 18 15 2 1 1 2 1 1 2 1 6308 ZZ 18 ! / / 2 / ! ! 1 ! 1 ! 1 1
5 19F5/4.0 16 2 19 16 2 1 1 2 1 1 2 1 6308 ZZ 19 ! / / 2 / ! ! 1 ! 1 ! 1 1
5 22F5/4.0 19 2 22 19 2 1 1 2 1 1 2 1 6308 ZZ 22 ! / / 2 / ! ! 1 ! 1 ! 1 1
5 24F5/5.5 21 2 24 21 2 1 1 2 1 1 2 1 63102z 24 ! / / 2 4 ! ! 1 ! 1 ! 1 1

356

E2ARA

EBARA PUMPS EUROPE S.p.A.




VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J
QUANTITY FOR MODEL
EVM(.) 10-18
Pump Type Quantity for model
EVM() 005-2 | 005-3| 021 | 043-2 | 043-3 | 043-5| 044-1| 051 | 052-1| 056 BT:‘;Z]Q 070-1| 107 | 115-3| 117 | 120-5| 120-6 | 120-7 | 120-8 | 120-11| 128-3 | 128-6 | 130-4 | 135-4 | 135-6 | 150 | 219 | 274-2| 274-3

10 2N5/0.75 ! 1 2 / 1 1 1 / 1 ! / / 2 2 2 2 2 / / 4 / / 1 / / / 2 ! /
10 3N5/1.1 1 1 3 1 1 1 1 / 1 ! / ! 3 2 2 2 2 ! ! 4 ! ! 1 ! / ! 2 ! /
10 4N5/1.5 2 1 4 2 1 1 1 / 1 ! / ! 4 2 2 4 / ! / 4 ! 4 / / 4 / 2 ! /
10 5N5/2.2 3 1 5 3 1 1 1 1 1 1 6207 ZZ ! 5 2 2 / 2 ! ! 4 ! ! 1 ! / 1 2 1 1
10 6N5/2.2 4 1 6 4 1 1 1 1 1 1 6207 ZZ ! 6 2 2 / 2 ! ! 4 ! ! 1 ! / 1 2 1 1
10 8N5/3.0 6 1 8 6 1 1 1 1 1 1 6308 ZZ ! 8 2 2 / 2 ! ! 4 ! ! 1 / / 1 2 1 1
10 10N5/4.0 8 1 10 8 1 1 1 1 1 1 6308 ZZ ! 10 2 2 / 2 ! ! 4 ! ! 1 / / 1 2 1 1
10 11N5/4.0 9 2 11 9 1 1 1 1 1 1 6308 ZZ / 1 2 2 / 2 ! / 4 ! / 1 / / 1 2 1 1
10 12N5/5.5 9 2 12 9 2 1 2 1 2 1 631022 / 12 2 2 / 2 / 4 4 / / 1 / / 1 2 1 1
10 14N5/5.5 11 2 14 1 2 1 2 1 2 1 6310 ZZ ! 14 2 2 / 2 ! 4 4 ! ! 1 ! / 1 2 1 1
10 15F5/5.5 12 2 15 12 2 1 2 1 2 1 631022 ! 15 ! ! / 2 ! 4 ! ! ! 1 ! / 1 ! 1 1
10 16F5/7.5 13 2 16 13 2 1 2 1 2 1 631022 ! 16 ! ! / 2 ! 4 ! ! ! 1 ! / 1 ! 1 1
10 18F5/7.5 15 2 18 15 2 1 2 1 2 1 63102Z ! 18 / ! / 2 ! 4 ! ! ! 1 / / 1 / 1 1
10 20F5/7.5 17 2 20 17 2 1 2 1 2 1 631022 ! 20 / ! / 2 ! 4 ! ! ! 1 / / 1 ! 1 1
10 22F5/11 19 2 22 19 2 1 2 1 2 1 63132z 1 22 / / / 2 3 4 ! 4 / 1 3 / 1 / 1 /
18 2F5/2.2 / 1 2 / 1 1 1 / 1 ! / / 2 / ! 2 2 ! / ! ! / 1 / / / / ! /
18 3F5/3.0 1 1 3 1 1 1 1 / 1 ! / / 3 / ! 2 2 ! / ! ! / 1 / / / / ! /
18 4F5/4.0 2 1 4 2 1 1 1 1 1 1 6308 ZZ ! 4 / / / 2 / / / / ! 1 / / 1 / 1 1
18 5F5/5.5 3 1 5 3 1 1 1 1 1 1 631022 ! 5 ! ! / 2 ! 4 ! ! ! 1 ! / 1 ! 1 1
18 6F5/5.5 4 1 6 4 1 1 1 1 1 1 631022 ! 6 ! ! / 2 ! 4 ! ! ! 1 ! / 1 ! 1 1
18 7F5/7.5 5 1 7 5 1 1 1 1 1 1 631022 ! 7 ! ! / 2 ! 4 ! ! ! 1 / / 1 / 1 1
18 8F5/7.5 6 1 8 6 1 1 1 1 1 1 631022 ! 8 / ! / 2 ! 4 ! ! ! 1 ! / 1 / 1 1
18 10F5/11 7 2 10 7 2 1 2 1 2 1 63132z 1 10 / ! / 2 3 4 ! 4 / 1 3 / 1 / 1 1
18 12F5/11 9 2 12 9 2 1 2 1 2 1 6313 2Z 1 12 / / / 2 3 4 / 4 ! 1 3 / 1 / 1 1
18 14F5/15 11 2 14 1 2 1 2 1 2 1 631322 1 14 ! / / 2 3 4 / 4 ! 1 3 / 1 ! 1 1
18 15F5/15 12 2 15 12 2 1 2 1 2 1 63132Z 1 15 ! ! / 2 3 4 ! 4 ! 1 3 / 1 ! 1 1
18 16F5/15 13 2 16 13 2 1 2 1 2 1 63132Z 1 16 ! ! / 2 3 4 ! 4 ! 1 3 / 1 ! 1 1

357

E2ARA

EBARA PUMPS EUROPE S.p.A.




VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

Rev. J

QUANTITY FOR MODEL

EVM(.) 32

Pump Type Quantity formodel
EVM() 005-2| 005-3[7 o1t [[021 | 02+1| 039-1| 043-2| 043-3 | 043-4| 044-1| 051 | 052-1[7056 | 070-1[ 07 | 1145 | 204 | 20-5 | 207 | 0-8 | 28-3 [ 29 | 1853 | B5-4 [ 86 [TH0 | H0-1| W02 [0 | 2742 274-3
32 +0F5/22 / [N / K IR / RN N
322-2F5/3.0 / [N RN / R IR / RN RN
322-0F5/4.0 / RN / R IR / RN R
323-3F5/55 1 AR 1 K RN RN I ENEREE
323-F5/55 1 IR 1 K RN R B ENEREE
324-3F5/75 2 1 [ s/ ]2 K [N ER N RN IR
324-F5/75 2 1 [ s 17 ]2 K NI RN IR
325-3F5/11 R vl s el a s e e a0 NN
325-0F5/11 3 | 1 [ 15 [N ERE vl s el a s a e a7 7] ‘IR
326-3F5/11 s [l s 1] IR e[ [ ala s a e a7 ] ‘IR EER N
326-2F5/11 s [ alal 2 1] R e[ [ ala s a e a7 ] ‘IR EER N
327-3F5/6 5 | 1 [ 1[4 3 1[s ] 1] Al a e s a a a7/ ‘IR N
327-0F5/ 6 5 | 1 1| 7] s | 1] a7 al el s a e a7 ] ‘NI EER N
328-3F5/5B 6 1 1 5 3 1 6 1 1 1 1 1 1 1 8 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 !
328-2F5/5 6 1 1 6 2 1 6 1 1 1 1 1 1 1 8 1 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
329-3F5/B5 RN R IR vl e el e s e e a0 ‘NI EEE N
329-0F5/B5 R ERENN [N ERE vl e el a s a e a7 ‘IR EEE N
203585 | 7 | 2 | 1|7 3| 1] 7222121 1o 1v[alals[alalr|als]|/]/]1 ‘IR
202585 | 7 | 2 | 1|8 | 2] 1] 7|22t 2[ 1] 1o 1+[alals[alal ||/ ]/]1 ‘IR
32 1+3F5/22 8 |2 | 18| 3 1]e| 222121 1] [ alals[alalr[aTls] /] /] ‘IR
32 1H0F 5/22 8 | 2 | 1| n| s s [ 2 22121 1w 1 a]als|alal s/ a]ls|/[/]1 ‘NI EER N
32 2-3F5/22 9 2 1 9 3 1 9 2 2 2 1 2 1 1 r 1 4 4 3 4 4 / 4 3 ! / 1 1 1 1 /
32 B-3F5/30 0| 2 1|03 | 1] olz2z2]2 1211w /7 a]alsa|alalr]a]s| 1]/ RN /
32 B-0F5/30 o 2 [ 1w ol 222121 sl a]alsa]al a1 RN
32 ¥-3F5/30 | 2|1 n[ s [ n]2]2] 2121w 7 [a]las[a]a] 1] als] 1]/ IR /
32 %-0F5/30 IR 222121 +[wl /T a]alsalal a1/ 'R

358

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J
QUANTITY FOR MODEL
EVM(.) 45
Pump Type Quantity for model
EVM() 005-2| 011 | 021 | 021-1| 039-1| 043-2| 043-3 | 043-4 | 044-1| 051 | 052-1 | 053 | 056 | 070-1| 081 | 107 | 120-4 | 120-5| 120-7 | 120-8 | 128-3 | 129 | 135-3 | 135-4 | 136 | 140 | 140-1| 140-2| 150 |274-2| 274-3
45 1-1F5/3.0 1 ! / 1 ! / ! ! ! ! ! 1 / ! 1 1 ! 2 / ! ! / ! ! 1 1 ! / ! / !
45 1-0F5/4.0 1 ! 1 / / / / / / / / 1 / / 1 1 / 2 / ! / / / / 1 1 / / / / /
45 2-2F5/5.5 2 ! / 2 ! 1 ! / / 1 / 2 1 / 2 2 / / / 4 / / / / 1 1 / / 1 1 1
45 2-0F5/7.5 2 ! 2 ! / 1 ! ! ! 1 / 2 1 / 2 2 / / ! 4 ! ! ! ! 1 1 ! ! 1 1 1
45 3-2F5/11 3 1 1 2 1 2 ! ! ! 1 ! 3 1 1 3 3 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 3-0F5/11 3 1 3 ! 1 2 ! ! ! 1 / 3 1 1 3 3 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 4-2F5/15 4 1 2 2 1 2 1 1 1 1 1 4 1 1 3 4 4 4 3 4 4 / 4 3 / / 1 1 1 1 /
45 4-0F5/15 4 1 4 ! 1 2 1 1 1 1 1 4 1 1 3 4 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 5-2F5/18.5 5 1 3 2 1 3 1 1 1 1 1 5 1 1 4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 5-0F5/18.5 5 1 5 ! 1 3 1 1 1 1 1 5 1 1 4 5 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 6-2F5/22 6 1 4 2 1 4 1 1 1 1 1 6 1 1 5 6 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 6-0F5/22 6 1 6 ! 1 4 1 1 1 1 1 6 1 1 5 6 4 4 3 4 4 / 4 3 ! ! 1 1 1 1 !
45 7-2F5/30 7 1 5 2 1 5 1 1 1 1 1 7 1 1 6 7 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 7-0F5/30 7 1 7 ! 1 5 1 1 1 1 1 7 1 1 6 7 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 8-2F5/30 8 1 6 2 1 6 1 1 1 1 1 8 1 1 7 8 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 8-0F5/30 8 1 8 ! 1 6 1 1 1 1 1 8 1 1 7 8 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 9-2F5/30 9 1 7 2 1 7 1 1 1 1 1 9 1 1 8 9 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 9-0F5/37 9 1 9 ! 1 7 1 1 1 1 1 9 1 1 8 9 4 4 3 4 4 1 4 3 1 ! 1 1 ! / !
45 10-2F5/37 10 1 8 2 1 8 1 1 1 1 1 10 1 1 9 10 4 4 3 4 4 1 4 3 1 ! 1 1 / / !
45 10-0F5/37 10 1 10 / 1 8 1 1 1 1 1 10 1 1 9 10 4 4 3 4 4 1 4 3 1 / 1 1 / / /

359

E2ARA EBARA PUMPS EUROPE S.p.A.



E

VERTICAL PUMPS

50Hz

CONSTRUCTION

Rev. J

QUANTITY FOR MODEL

EVM(.) 64

Quantity for model

081

150 | 274-2 | 274-3

140-2

140-1

140

136

135-3 | 135-4

129

120-4 | 120-5| 120-7 | 120-8 | 128-3

107

053 | 056 | 070-1

052-1

051

043-2 | 043-3 | 043-4 | 044-1

039-1

021-1

021

005-2| 011

2

2
3
3
3
3
4
4
4
4

5
5
5
6
6
6
6

7

Pump Type

EVM(.)
64 1-1F5/4.0
64 1-0F5/5.5
64 2-2F5/7.5
64 2-1F5/11

64 2-0F5/11

64 3-3F5/15
64 3-2F5/15
64 3-1F5/15

64 3-0F5/18.5
64 4-3F5/18.5
64 4-2F5/18.5
64 4-1F5/22
64 4-0F5/22
64 5-3F5/30
64 5-2F5/30
64 5-1F5/30
64 5-0F5/30
64 6-3F5/30
64 6-2F5/30
64 6-1F5/37
64 6-0F5/37
64 7-3F5/37
64 7-2F5/37
64 7-1F5/37

360

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

CONSTRUCTION

50Hz

* DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

BEARINGS
Ball bearing Ball bearing
Pump Type Motor Pump Type Pump Motor

Pump side Fan side Pump side Fan side
3 2N5/0.37 6203-2Z 6203-2Z 32 1-0F5/2.2 / 6205-ZZ C3 | 6205-ZZ C3
3 3N5/0.37 6203-2Z 6203-2Z 32 2-2F5/3.0 / 6206-2Z C3 | 6206-ZZ C3
34N50.55 6203-Z22 6203-2Z 32 2-0F5/4.0 / 6206-ZZ C3 | 6206-ZZ C3
3 5N5/0.55 6203-Z22 6203-2Z 32 3-3F5/5.5 6310 2Z C3 6208-ZZ C3 | 6307-ZZ C3
3 6N5/0.75 6204-ZZ C3 | 6204-ZZ C3 32 3-1F5/5.5 631022 C3 6208-ZZ C3 | 6307-ZZ C3
3 7N5/0.75 6204-ZZ C3 | 6204-ZZ C3 32 4-3F5/7.5 6310 2Z C3 6208-ZZ C3 | 6307-ZZ C3
3 9N5/1.1 6204-ZZ C3 | 6204-ZZ C3 32 4-1F5/7.5 63102Z C3 6208-ZZ C3 | 6307-ZZ C3
3 11N5/1.1 6204-ZZ C3 | 6204-ZZ C3 32 5-3F5/11 631327 C3 6309-ZZ C3 | 6308-ZZ C3
3 13N5/1.5 6205-ZZ C3 | 6205-ZZ C3 32 5-0F5/11 631327 C3 6309-ZZ C3 | 6308-ZZ C3
3 15N5/1.5 6205-ZZ C3 | 6205-ZZ C3 32 6-3F5/11 631327 C3 6309-ZZ C3 | 6308-ZZ C3
3 18F5/2.2 6205-2Z C3 | 6205-ZZ C3 32 6-2F5/11 631327 C3 6309-ZZ C3 | 6308-ZZ C3
3 22F5/2.2 6205-2Z C3 | 6205-ZZ C3 32 7-3F5/15 6313 ZZ C3 6309-ZZ C3 | 6309-ZZ C3
3 26F5/3.0 6206-ZZ C3 | 6206-ZZ C3 32 7-0F5/15 6313 2Z C3 6309-2Z C3 | 6309-ZZ C3
5 2N5/0.37 6203-2Z 6203-2Z 32 8-3F5/15 631327 C3 6309-ZZ C3 | 6309-ZZ C3
5 3N5/0.55 6203-2Z 6203-2Z 32 8-2F5/15 631327 C3 6309-ZZ C3 | 6309-ZZ C3
5 4N5/0.75 6204-ZZ C3 | 6204-ZZ C3 32 9-3F5/18.5 6313 ZZ C3 6309-ZZ C3 | 6309-ZZ C3
5 5N5/1.1 6204-ZZ C3 | 6204-Z2Z C3 32 9-0F5/18.5 6313 ZZ C3 6309-ZZ C3 | 6309-ZZ C3
5 6N5/1.1 6204-ZZ C3 | 6204-2Z C3 32 10-3F5/18.5 6313 ZZ C3 6309-ZZ C3 | 6309-ZZ C3
57N5/1.5 6205-ZZ C3 | 6205-ZZ C3 32 10-2F5/18.5 6313 ZZ C3 6309-ZZ C3 | 6309-ZZ C3

5 8N5/1.5 6205-ZZ C3 | 6205-ZZ C3 32 11-3F5/22 631527 C3 6311 C3 6311 C3

5 10N5/2.2 6205-ZZ C3 | 6205-2Z C3 32 11-0F5/22 631527 C3 6311 C3 6311 C3

5 11N5/2.2 6205-2Z C3 | 6205-2Z C3 32 12-3F5/22 631527 C3 6311 C3 6311 C3

5 12N5/2.2 6205-2Z C3 | 6205-2Z C3 32 13-3F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

5 14N5/3.0 6206-2Z C3 | 6206-ZZ C3 32 13-0F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

5 16N5/3.0 6206-ZZ C3 | 6206-ZZ C3 32 14-3F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

5 18F5/4.0 6206-2Z C3 | 6206-ZZ C3 32 14-0F5/30 6315 2ZDT C3 * 6312 C3 6312 C3
5 19F5/4.0 6206-2Z C3 | 6206-ZZ C3 45 1-1F5/3.0 / 6206-2Z C3 | 6206-ZZ C3
5 22F5/4.0 6206-ZZ C3 | 6206-ZZ C3 45 1-0F5/4.0 / 6206-ZZ C3 | 6206-ZZ C3
5 24F5/5.5 6208-ZZ C3 | 6307-ZZ C3 45 2-2F5/5.5 6310 ZZ C3 6208-ZZ C3 | 6307-ZZ C3
10 2N5/0.75 6204-ZZ C3 | 6204-ZZ C3 45 2-0F5/7.5 6310 ZZ C3 6208-ZZ C3 | 6307-ZZ C3
10 3N5/1.1 6204-ZZ C3 | 6204-ZZ C3 45 3-2F5/11 6313 2Z C3 6309-ZZ C3 | 6308-ZZ C3
10 4N5/1.5 6205-ZZ C3 | 6205-ZZ C3 45 3-0F5/11 631327 C3 6309-ZZ C3 | 6308-ZZ C3
10 5N5/2.2 6205-2Z C3 | 6205-ZZ C3 45 4-2F5/15 631327 C3 6309-ZZ C3 | 6309-ZZ C3
10 6N5/2.2 6205-2Z C3 | 6205-ZZ C3 45 4-0F5/15 631327 C3 6309-ZZ C3 | 6309-ZZ C3
10 8N5/3.0 6206-2Z C3 | 6206-ZZ C3 45 5-2F5/18.5 631327 C3 6309-ZZ C3 | 6309-ZZ C3
10 10N5/4.0 6206-ZZ C3 | 6206-ZZ C3 45 5-0F5/18.5 631327 C3 6309-ZZ C3 | 6309-ZZ C3

10 11N5/4.0 6206-ZZ C3 | 6206-ZZ C3 45 6-2F5/22 631527 C3 6311 C3 6311 C3

10 12N5/5.5 6208-ZZ C3 | 6307-ZZ C3 45 6-0F5/22 6315272 C3 6311 C3 6311 C3

10 14N5/5.5 6208-ZZ C3 | 6307-ZZ C3 45 7-2F5/30 6315 Z2ZDT C3 * 6312 C3 6312 C3

10 15F5/5.5 6208-ZZ C3 | 6307-ZZ C3 45 7-0F5/30 6315 Z2ZDT C3 * 6312 C3 6312 C3

10 16F5/7.5 6208-ZZ C3 | 6307-ZZ C3 45 8-2F5/30 6315 Z2ZDT C3 * 6312 C3 6312 C3

10 18F5/7.5 6208-ZZ C3 | 6307-ZZ C3 45 8-0F5/30 6315 ZZDT C3 * 6312 C3 6312 C3

10 20F5/7.5 6208-ZZ C3 | 6307-ZZ C3 45 9-2F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

10 22F5/11 6309-ZZ C3 | 6308-ZZ C3 45 9-0F5/37 6315 Z2ZDT C3 * 6312 C3 6312 C3

18 2F5/2.2 6205-ZZ C3 | 6205-ZZ C3 45 10-2F5/37 6315 Z2ZDT C3 * 6312 C3 6312 C3

18 3F5/3.0 6206-ZZ C3 | 6206-ZZ C3 45 10-0F5/37 6315 Z2ZDT C3 * 6312 C3 6312 C3
18 4F5/4.0 6206-ZZ C3 | 6206-ZZ C3 64 1-1F5/4.0 / 6206-ZZ C3 | 6206-ZZ C3
18 5F5/5.5 6208-ZZ C3 | 6307-ZZ C3 64 1-0F5/5.5 6310 ZZ C3 6208-ZZ C3 | 6307-ZZ C3
18 6F5/5.5 6208-ZZ C3 | 6307-ZZ C3 64 2-2F5/7.5 6310ZZ C3 6208-ZZ C3 | 6307-ZZ C3
18 7F5/7.5 6208-ZZ C3 | 6307-ZZ C3 64 2-1F5/11 6313 2Z C3 6309-ZZ C3 | 6308-ZZ C3
18 8F5/7.5 6208-ZZ C3 | 6307-ZZ C3 64 2-0F5/11 6313 2Z C3 6309-ZZ C3 | 6308-ZZ C3
18 10F5/11 6309-ZZ C3 | 6308-ZZ C3 64 3-3F5/15 6313 2Z C3 6309-ZZ C3 | 6309-ZZ C3
18 12F5/11 6309-ZZ C3 | 6308-ZZ C3 64 3-2F5/15 6313 2Z C3 6309-ZZ C3 | 6309-ZZ C3
18 14F5/15 6309-ZZ C3 | 6309-ZZ C3 64 3-1F5/15 631322 C3 6309-ZZ C3 | 6309-ZZ C3
18 15F5/15 6309-ZZ C3 | 6309-ZZ C3 64 3-0F5/18.5 631327 C3 6309-ZZ C3 | 6309-ZZ C3
18 16F5/15 6309-ZZ C3 | 6309-ZZ C3 64 4-3F5/18.5 631327 C3 6309-ZZ C3 | 6309-ZZ C3
64 4-2F5/18.5 63132Z C3 6309-ZZ C3 | 6309-ZZ C3

64 4-1F5/22 631527 C3 6311 C3 6311 C3

64 4-0F5/22 631527 C3 6311 C3 6311 C3

64 5-3F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

64 5-2F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

64 5-1F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

64 5-0F5/30 6315 2ZDT C3 * 6312 C3 6312 C3

64 6-3F5/30 6315 Z2ZDT C3 * 6312 C3 6312 C3

64 6-2F5/30 63152ZDT C3 * 6312 C3 6312 C3

64 6-1F5/37 63152ZDT C3 * 6312 C3 6312 C3

64 6-0F5/37 63152ZDT C3 * 6312 C3 6312 C3

64 7-3F5/37 6315 Z2ZDT C3 * 6312 C3 6312 C3

64 7-2F5/37 6315 ZZDT C3 * 6312 C3 6312 C3

64 7-1F5/37 6315 2ZDT C3 * 6312 C3 6312 C3

Rev. J

361

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

MECHANICAL SEAL

EVM(.) 3-18
D1
N
1
1
j
. Material
Size Max.working d D, L L, L,
Pump Type pressure 1 2
[mm] [mm]| [mm] | [mm]| [mm]| [mm] . 3
[MPa] stationary | rotary
. . rubber
seal ring | seal ring
3-5 12,7 ;2 12,7| 23 | 23,5| 16 | 75
10 16 1.6 16 | 27 | 27 | 17 | 10 | Carbon | Siicon | gy, gy
2,5 graphite | carbide
18 20 ;2 20 | 35 | 33 |215| 115

(1) EPDM Only for version EVM and EVMG

362

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

CONSTRUCTION 50Hz

Rev. J

MECHANICAL SEAL
EVM(.) 32-64

D1
> Y
=]
=]
KR
. ! a 3
1 ] d 1
o 2
k] har 3 . 2
par 3
L
UP TO 2.5 MPa FROM 2.5 To 3.0 MPa
Max. Material
Size | working d D4 L L4 Lo L3 S
[mm]]| pressure | [mm] | [mm] | [mm]| [mm]| [mm]|{[mm]|[mm] ! 2 3
MPal] statlor!ary rotary rubber
sealring | seal ring
2.5 39 | 265|125 | 50 3.5 Carbon Silicon
25 3 25 43 50 | 385|115 - - graphite | carbide FPM

363

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

DIMENSIONS AND WEIGHT

50Hz

PUMP
EVM(.) 3-18
c ‘
|
B
\
[
M | L
o | | J
s
| L] I63/8
0 év|
A
N
* |
7 I
= S 3
ITH 5 I
e
L BM
BL
F
E
= i g
. ; ,

SN N° HOLES D3

I
N4 HOLES BF |||

D1

See dimensions pages 401, 402

BY1

BW

SN N° HOLES D3

l
[

N4 HOLES BF |

BY1

BW

Rev. J

400

_—J=-TE T

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
DIMENSIONS TABLE
EVM(.) 3-5
Pmax. Dimensions [mm] Weight
Pump type [MPa] Mgtor [kal
2) | Size | H| H2 H3 F|E B c BM| BL |BY1|BW| SA |SG| D1 | D2 |H8|SN| D3 | BF |BH| A |, |Pump+motor
1~ | 3~ 1~ [ 3~ | 1~ | 3~ 1~ 3~
3 2N5/0.37 1.6 7 50| 241 [215| 215|160 | 206 | 142 | 142 | 129 | 114 | 100 | 149 | 180 [ 210 | G 1" - 75 - -1 2 |MI0|@12| 20| @105 11.3 17 17.1
3 3N5/0.37 1.6 71 50| 262 | 215| 215| 160 | 206 | 142 | 142 | 129 | 114 | 100 | 149 | 180 | 210 | G 1" - 75 - -1 2 |M10] @12 | 20 | @105 118 | 175 | 17.6
3 4N5/0.55 1.6 71 50| 283 | 215| 215| 160 | 206 | 142 | 142 | 129 | 114 | 100 | 149 | 180 | 210 | G 1" - 75 - -1 2 |[M10] @12 | 20 | @105 12.3 | 19.3 | 18.5
3 5N5/0.55 1.6 71 50| 304 [215|215| 160 | 206 | 142 | 142 | 129 | 114 | 100 | 149 | 180 | 210 | G 1" - 75 - -1 2 |MI0|@12| 20| @105 12.8 | 19.8 19
3 6N5/0.75 1.6 80 (50| 335 | 232|232 160 | 206 | 160 | 160 [ 150 | 139 | 100 | 149 | 180 [ 210 | G 1" - 75 - -1 2 |[MI0]| @12 20| @120 13.7 | 251 | 22.1
37N5/0.75| 1.6 80 |50| 356 |232(232| 160|206 | 160 [ 160 | 150 | 139 [ 100 | 149 | 180 [ 210 | G 1" | - 75 - -] 2 |[M10|@12|20| @120 | 139 | 253 | 22.3
3 9N5/1.1 1.6 80 | 50| 398 | 232 232|160 (206 | 160 | 160 | 150 | 139 [ 100 | 149 | 180 [ 210 | G 1" | - 75 - -] 2 |[M10|@12|20| @120 | 148 | 26.6 | 25.9
311IN5/1.1 | 1.6 80 | 50| 440 | 232 232|160 | 206 | 160 [ 160 | 150 | 139 [ 100 | 149 | 180 [ 210 | G 1" | - 75 - - | 2 |[M10|@12|20| @120 | 462 28 273
¢ 313N5/1.5 1.6 90S | 50| 492 | 278|267 | 160| 206 | 172| 180 | 140 [ 148 | 100 [ 149 | 180 | 210 | G 1" - 75 - -1 2 |MI0|@12| 20| @140 17.7 | 355 | 31.7
¢ 315N5/1.5 1.6 90S | 50| 534 | 278|267 | 160| 206 | 172| 180 | 140 [ 148 | 100 [ 149 | 180 | 210 | G 1" - 75 - -1 2 |MI0|@12| 20| @140 19.2 37 33.2
¢ 318F5/22 25 90L (75| 632 | 278|267 | - |250| 172|180 | 140 | 148| 100 | 149 | 180 | 210 | @25 |@63| @85 |G115| 16| 4 | @14 | @12 | 20 | @140 | 248 | 443 | 408
¢ 322F5/2.2 25 0L (75| 716 | 278|267 | - |250| 172|180 | 140 | 148| 100 | 149 | 180 | 210 | @25 |@63| @85 G115\ 16| 4 | @14 | @12 | 20 | @140 | 272 | 467 | 43.2
3 26F5/3.0 25 100L [ 75| 810 - 1306 - |250| - 196 | - |155( 100| 149 | 180 | 210 | @25 |(Q63| @85 |@115| 16| 4 | B14 | @12 | 20 | @160 | 30.8 - 53.6
5 2N5/0.37 1.6 7 50| 255 [215|215| 160 | 206 | 142 | 142 | 129 | 114 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |MI0|@12| 20 | @105 115 | 172 | 17.3
53N5/0.55 | 1.6 71 | 50| 283 |215(215| 160 [ 206 | 142 | 142|129 | 114 [ 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - | 2 |M10| @12 | 20 | @105 12 19 18.2
54N5/0.75 | 1.6 80 | 50| 321 |232(232| 160|206 | 160 | 160 | 150 | 139 [ 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -] 2 [M10|@12|20| @120 | 129 | 243 | 21.3
5 5N5/1.1 1.6 80 | 50| 349 | 232 232|160 | 206 | 160 [ 160 | 150 | 139 [ 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -] 2 [M10| @12 | 20| @120 | 135 | 253 | 246
5 6N5/1.1 1.6 80 |50| 377 | 232 232|160 | 206 | 160 [ 160 | 150 | 139 [ 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - | 2 |MI0| @12| 20| @120 | 141 | 259 | 25.2
¢ 57N5/1.5 1.6 90S | 50| 415 |278| 267 | 160 | 206 | 172 | 180 | 140 [ 148 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |M10] @12 | 20 | @140 14.9 | 32.7 | 289
¢ 58N5/1.5 1.6 90S | 50| 443 |278| 267 | 160 | 206 | 172 | 180 | 140 | 148 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |[M10] @12 | 20 | @140 15.5 | 33.3 | 29.5
¢ 5 10N5/2.2 1.6 90L | 50| 509 |278| 267 | 160 | 206 | 172 | 180 | 140 | 148 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |M10] @12 | 20 | @140 17.9 | 374 | 339
¢ 511IN5/2.2 1.6 90L | 50| 537 |278| 267 | 160 | 206 | 172 | 180 | 140 | 148 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |MI0|@12| 20 | @140 19 38.5 35
¢ 512N5/2.2 1.6 90L | 50| 565 |278| 267 | 160 | 206 | 172 | 180 | 140 | 148 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |MI0|@12| 20| @140 19.7 | 39.2 | 357
5 14N5/3.0 1.6 100L | 50 | 631 - | 306|160|206| - [196| - |155| 100 | 149 | 180 | 210 |G 1"1/4| - 75 - -1 2 |[M10]| @12 | 20 | B160 22.0 - 44.8
516N5/3.0 | 1.6 | 100L | 50| 687 - | 306|160|206| - | 196 | - | 155|100 | 149 | 180 | 210 |G 1"1/4| - 75 - - | 2 |[M10|@12|20| @160 | 233 - 46.1
518F5/4.0 | 25 | 112M | 75| 768 - | 306 - | 250 - |[196| - [155| 100 149 | 180 | 210 | @32 |@71| @100 (2140| 20| 4 | @14 | @12 | 20 | @160 | 287 - 515
519F5/4.0 [ 25 | 112M | 75| 796 - | 306 - | 250| - |196| - | 155|100 | 149 | 180 | 210 | @32 |@71| 3100|2140{ 20| 4 | @14 | @12 | 20 | B160 | 294 - 52.2
5 22F5/4.0 25 | 112M | 75| 880 - |1 306| - | 250 - 196 | - | 155( 100 | 149 | 180 | 210 | @32 |@71| @100|B140f 20| 4 | @14 | @12 | 20 | @160 | 392 N 54
5 24F5/5.5 25 132S | 75| 947 - | 328 - [250| - | 220 - |161| 100 149 | 180 [ 210 | @32 |@71| @100|2140| 20| 4 | @14 | @12 | 20 | @300 | 354 - 74

1)  AEG motor dimensions except 4 Single phase motors manufactured by Ebara
2) 1.6 MPa=16 bar
2.5 MPa=25 bar

401

E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J

EVM(.) 10-18

Weight
Pump type TJ::] '\g?zt:r pmensions fmml P[:riﬂp + motor
2) H H2 H3 F E B Cc BM | BL [BY1|BW | SA |[SG| D1 D2 |H8|SN| D3 | BF |[BH| A |Pump *)
1~ | 3~ 1~ | 3~ [ 1~ | 3~ 1~ | 3~ | 3~
10 2N5/0.75 1.6 80 (80| 333 |[232]232(200| 252|160 | 160 | 150 | 139 | 130 | 190 | 215 | 250 |G 1"1/2| - | 100 - - | 2 |M12|@12| 20 |@120( 18 | 294 | 26.4| -
10 3N5/1.1 1.6 80 (80| 363 |232| 232200 | 252 160 | 160 | 150 | 139 | 130 | 190 | 215 | 250 |G 1"1/2| - | 100 - - | 2 [M12(@12] 20 (@120| 195 | 31.3 | 30.6 | -
¢ 104N5/1.5 1.6 90S | 80| 403 | 278|267 | 200 | 252 | 172 | 180 | 140 | 148 | 130 | 190 | 215 | 250 (G 1"1/2| - | 100 - - | 2 |M12|@12| 20 |@140( 219 | 39.7 | 35.9| -
¢ 105N5/2.2 1.6 90L | 80| 443 | 278|267 [ 200 | 252 | 172 | 180 | 140 | 148 | 130 | 190 | 215 | 250 |G 1"1/2| - | 100 - - | 2 |M12|@12| 20 |@140( 205 | 42 | 385| -
¢ 106N5/2.2 1.6 90L | 80| 473 | 278|267 [ 200 | 252 | 172 | 180 | 140 | 148 | 130 | 190 | 215 | 250 |G 1"1/2] - | 100 - - | 2 |M12|@12]| 20 | @140 24 | 435| 40 -
10 8N5/3.0 1.6 100L | 80 | 543 - | 306|200|252| - [196| - |155| 130|190 | 215| 250 [{G 1"1/2| - | 100 - - | 2 |M12|@12]| 20 | @160 306 - | s34 -
10 10N5/4.01 1.6 |112M| 80 | 603 - | 306|200|252| - [196| - |155|130| 190 | 215| 250 {G 1"1/2| - | 100 - - | 2 |M12|@12]| 20 |@160| 315 - | 543]| -
10 11N5/4.01 1.6 |112M| 80| 633 - | 306|200|252| - [196| - |155| 130|190 | 215| 250 {G 1"1/2| - | 100 - - | 2 |M12|@12]| 20 |@160( 34 - |s68]| -
10 12N5/5.5( 1.6 132S | 80 | 674 - | 328|200|252| - [220| - |161|130| 190 | 215|250 [{G 1"1/2| - | 100 - - | 2 |M12|@12]| 20 | @300 393 - 779 -
10 14N5/5.5( 1.6 132S | 80| 734 - | 328|200|252| - [220| - |161|130| 190 | 215|250 [{G 1"1/2| - | 100 - - | 2 |M12|@12] 20 | @300 418 - | 804l -
10 15F5/5.5 2.5 132S| 80 | 764 - | 328| - |280| - [220| - |[161| 130|190 | 215|250 | @40 |@79| 110 (B150( 21| 4 [&18|@12| 20 @300 | 458 - | ssa| -
10 16F5/7.5 2.5 1325 | 80 | 794 - | 328 - | 280| - [220| - [161|130| 190 | 215 | 250 | @40 |(Q79| @110 |D150| 21| 4 |@18|@12| 20 |D300| 47.8 - | 882|902
10 18F5/7.5( 2.5 132S | 80| 854 - | 328 - |280| - [220| - [161|130| 190 | 215|250 | @40 |(Q79|@110|@150| 21| 4 |@18|@12| 20 |@300| 498 - 902|922
10 20F5/7.5| 2.5 1325 | 80| 914 - | 328| - |280| - [220| - |161|130| 190 | 215|250 | @40 |@79|B110(B150( 21| 4 (&18|@12| 20 (@300 | 498 - | 902|922
10 22F5/11 2.5 [160M | 80| 1004 - | 403| - |280| - [248| - [195|130| 190 | 215 | 250 | @40 |@79| @110 |B150| 21| 4 |D18|@12| 20 |D350| 555 - 118 | 128.8
¢ 182F522 1.6 90L (90| 373 | 278|267 | - |300| 172|180 | 140 [ 148 | 130 | 190 | 215 | 250 | @50 |@92| @125|@165( 21| 4 |D18(@12| 20 (D140| 274 | 46.9 | 43.4| -
18 3F5/3.0 1.6 100L | 90 | 423 - |306| - |300| - [196| - [155|130| 190 | 215 | 250 | @50 (@92| @125 |D165| 21| 4 |D18|@12| 20 |D160| 289 - 517 -
18 4F5/4.0 1.6 |[112M) 90 | 473 - | 306| - |300| - [196 | - |155|130| 190 | 215| 250 | @50 |@92| @125 |B165( 21| 4 [G18|@12| 20 [B160| 31 4 - | s42]| -
18 5F5/5.5 1.6 132S | 90 | 524 - | 328| - |300| - [220| - |161|130| 190 | 215|250 | @50 |@92|B125|B165( 21| 4 (18| @12| 20 [@300| 334 - 77 -
18 6F5/5.5 1.6 132S| 90 | 564 - | 328 - |300| - [220| - [161|130| 190 | 215 | 250 | @50 |@92|@125|D165| 21| 4 |B18(@12| 20 |D300| 414 - 80 -
18 7F5/7.5 2.5 132S | 90 | 604 - | 328| - |300| - [220| - |161|130| 190 | 215|250 | @50 |@92|B125(B165( 21| 4 (@18|@12| 20 [@300| 43.9 - | 843|863
18 8F5/7.5 2.5 132S | 90 | 644 - | 328 - |300| - [220| - [161 130|190 | 215 | 250 | @50 |[@92|@125|D165| 21| 4 |B18(@12| 20 |B300| 438 - | 842|862
18 10F5/11 25 |[160M| 90| 754 - |403| - |300| - [248 | - |195| 130|190 | 215|250 | @50 |@92|B125|B165( 21| 4 (G18|@12| 20 [D350| 54 3 - 1168|1276
18 12F5/11 25 |160M| 90| 834 - |403| - |300| - [248 | - |195|130| 190 | 215| 250 | @50 |@92| D125 |B165( 21| 4 (18| @12| 20 (D350| 57.3 - 1119.8/130.6
18 14F5/15 25 |160M| 90| 914 - | 498| - |300| - [317| - [238|130| 190 | 215 | 250 | @50 |(@92|@125|D165| 21| 4 |D18|@12| 20 |D350| 57.8 - |144.9|161.8
18 15F5/15 2.5 |160M| 90| 954 - | 498 | - |300| - [317| - |238|130| 190 | 215|250 | @50 |@92|B125|B165( 21| 4 (18| @12| 20 @350 | 533 - |145.4| 162.3
18 16F5/15 25 |160M| 90| 994 - | 498| - |300| - [317| - [238|130| 190 | 215 | 250 | @50 |@92|@125|D165| 21| 4 |D18|@12| 20 |D350| 61,3 - | 148.4| 165.3

(*)  Only for IE3 Motors
1)  AEG motor dimensions except 4 Single phase motors manufactured by Ebara
2) 1.6 MPa=16 bar

2.5 MPa=25 bar

402

E2ARA EBARA PUMPS EUROPE S.p.A.



EVM

VERTICAL PUMPS

DIMENSIONS AND WEIGHT 50Hz
Rev. J
EVM(.) 32-64
‘#ﬁ
4B
. /]
N
3 A
SN _No. HOLES-@ D3
D< | - G 3/8
s & 9 8 /
sl v = ;@
1
No. 4 HOLES — @ BF H8
BM
BL
E
See dimensions pages 404,405,406
403

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
DIMENSIONS TABLE
EVM(.) 32

i i Weight

Pmax. Motor Dimensions [mm] ool
Pumptype | [MPa]| ' | H | H2 | H3| E | B | C |BM|BL |BY1|BW|SA|SG | D! | D2 |H8|SN|D3|BF|BH| A UMD + motor

2 g ) " Pump P
3~ 3~ | 3~ )

32 1-0F5/2.2 1,6 90L 105 | 493 | 267 | 320 | 180 | 148 | 170 | 210 | 240 | 280 |@65|@110|B145|@185| 23
32 2-2F5/3.0 1,6 100L | 105 | 503 | 306 | 320 | 196 | 155 | 170 | 210 | 240 | 280 |@65|2110|B145|@185| 23
32 2-0F5/4.0 1,6 112M | 105 | 503 | 306 | 320 | 196 | 155 | 170 | 210 | 240 | 280 (@65(D110|2145|185| 23
32 3-3F5/5.5 1,6 1328 | 105 | 572 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 |65|D110(D145(2185| 23
32 3-1F5/5.5 1,6 1328 | 105 | 572 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 (@65|@110|2145|2185| 23
32 4-3F5/7.5 1,6 1328 | 105 | 620 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 (@65|@110|2145|2185| 23
32 4-1F5/7.5 1,6 1328 | 105 | 620 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 (265|@110|D145|185| 23

218|214 35 | 140 | 56 72 -
218|214| 35 | 160 | 58 | 80,8 -
218|214| 35| 160 | 58 | 80,8 -
@18|@14| 35 | 300 | 74 | 112,6 -
218|@14| 35 | 300 | 74 | 112,6 -
218|214 35| 300 | 77 |117,4|119,4
218|214 35 | 300 | 77 | 117,4|119,4

32 5-3F5/11 1,6 160M | 105 | 799 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 |@65(@110(D145|@185| 23 ©18|@14| 35 | 350 | 96 |[158,5| 169,3
32 5-0F5/11 1,6 160M | 105 | 799 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 |@65(@110(D145|@185| 23 ©18|@14| 35 | 350 | 96 |[158,5| 169,3
32 6-3F5/11 1,6 160M | 105 | 847 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 |@65(@110(D145|@185| 23 ©18|@14| 35 | 350 | 99 |[161,5|172,3
32 6-2F5/11 1,6 160M | 105 | 847 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 (@65(D110|2145|185| 23 18| @14| 35 | 350 | 99 | 161,5|172,3
32 7-3F5/15 1,6 160M | 105 | 895 | 498 | 320 | 317 | 238 | 170 | 210 | 240 | 280 (@65(D110|2145|B185| 23 18| @14| 35 | 350 | 102 | 189,1| 206
32 7-0F5/15 1,6 160M | 105 | 895 | 498 | 320 | 317 | 238 | 170 | 210 | 240 | 280 (@65(D110|2145|B185| 23 18| @14| 35 | 350 | 102 | 189,1| 206

32 8-3F5/15 2,5 160M | 105 | 943 | 498 | 320 | 317 | 238 | 170 | 210 | 240 | 280 (@65(D110|2145|D185| 23
32 8-2F5/15 2,5 160M | 105 | 943 | 498 | 320 | 317 | 238 | 170 | 210 | 240 | 280 (@65(D110|2145|D185| 23
32 9-3F5/18.5 2,5 160L | 105 [ 991 | 542 | 320 | 317 | 238 | 170 | 210 | 240 | 280 |@65|2110|B145|@185| 23
32 9-0F5/18.5 2,5 160L | 105 | 991 | 542 | 320 | 317 | 238 | 170 | 210 | 240 | 280 |@65|D110| 3145|185 23
32 10-3F5/18.5| 2,5 160L | 105 | 1039 | 542 | 320 | 317 | 238 | 170 | 210 | 240 | 280 |@65|D110|B3145|D185| 23
32 10-2F5/18.5| 2,5 160L | 105 | 1039 | 542 | 320 | 317 | 238 | 170 | 210 | 240 | 280 |@65|D110|B3145|D185| 23
32 11-3F5/22 2,5 180M | 105 | 1087 | 577 | 320 | 360 | 268 | 170 | 210 | 240 | 280 (@65(D110|D145|185| 23
32 11-0F5/22 2,5 180M | 105 | 1087 | 577 | 320 | 360 | 268 | 170 | 210 | 240 | 280 (@65(D110|D3145|185| 23
32 12-3F5/22 2,5 180M | 105 | 1135 | 577 | 320 | 360 | 268 | 170 | 210 | 240 | 280 (@65(D110|D145|185| 23
32 13-3F5/30 3,0 200L | 105 | 1198 | 658 | 320 | 399 | 300 | 170 | 210 | 240 | 280 |D65|D110(D145(2185| 23
32 13-0F5/30 3,0 200L | 105 | 1198 | 658 | 320 | 399 | 300 | 170 | 210 | 240 | 280 |D65|D110(D145(2185| 23
32 14-3F5/30 3,0 200L | 105 | 1246 | 658 | 320 | 399 | 300 | 170 | 210 | 240 | 280 |D65|P110(D145(2185| 23
32 14-0F5/30 3,0 200L | 105 | 1246 | 658 | 320 | 399 | 300 | 170 | 210 | 240 | 280 |D65|D110(D145(2185| 23

18| @14| 35 | 350 | 105 | 192,1| 209
218|214 35 | 350 | 105 | 192,1| 209
18| @14| 35 | 350 | 108 | 205,5| 212
218|@14| 35| 350 | 108 |2055| 212
218|@14| 35| 350 | 112 |209,5| 216
218|@14| 35| 350 | 112 |209,5| 216
18| @14| 35 | 350 | 116 | 279 | 286
18| @14| 35 | 350 | 116 | 279 | 286
18| @14| 35 | 350 | 119 | 282 | 289
18| @14| 35 | 400 | 129 | 357 -
18| @14| 35 | 400 | 129 | 357 -
@18|@14| 35 | 400 | 133 | 361 -
218|214 35 | 400 | 133 | 361 -

0| 0| 0| 0| ||| |w|w|w|||A|B|BIBIBIBBHIBSDDDSDSDS

(*) Only for IE3 Motors
1) AEG motor dimensions
2) 1,6 MPa=16 bar

2,5 MPa=25 bar

3,0 MPa=30 bar

404

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
DIMENSIONS TABLE
EVM(.) 45
Pmax. Votor Dimensions [mm] V\{:;]ht
Pumptype | [MPa] | ‘o " H | H2 | H3| E | B | C |BM|BL|BY1|BW|SA|SG| D1 | D2 |H8|SN|D3|BF|BH| A Pump + motor
2) 1) 1) 1) Pump
3~ 3~ | 3~ *)
45 1-1F5/3.0 1.6 100L | 140 | 525 | 306 | 365 | 196 | 155 | 190 | 251 | 266 | 331 |@80|120|@160|B200| 20 | 8 |B18|@14| 45| 160 | 71 | 93.8 -
45 1-0F5/4.0 1.6 112M | 140 | 525 | 306 | 365 | 196 | 155 | 190 | 251 | 266 | 331 |@80|@120|2160|200]| 20 | 8 (D18|D14| 45| 160 | 73 | 95.8 -
45 2-2F5/5.5 1.6 132S | 140 | 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 |80|D120(B160|@200| 20 | 8 [@18(D14| 45 | 300 | 81 | 119.6| -
45 2-0F5/7.5 1.6 132S | 140 | 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 | @80|120|B160|3200| 20 | 8 |B18|B14| 45 | 300 | 81 | 121.4] 123.4
45 3-2F5/11 1.6 160M [ 140 | 821 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 |@80|@120|2160(B200| 20 | 8 |D18|D14| 45| 350 | 99 | 161.5| 172.3
45 3-0F5/11 1.6 160M | 140 | 821 | 403 | 365| 248 | 195 | 190 | 251 | 266 | 331 |@80|@120|2160|200| 20 | 8 (D18|D14| 45| 350 | 99 | 161.5| 172.3
45 4-2F5/15 2.5 160M | 140 | 893 | 498 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@80(@120|B160|B200| 20 | 8 |B18|D14| 45 | 350 | 108 | 195.1| 212
45 4-0F5/15 2.5 160M | 140 | 893 | 498 | 365| 317 | 238 | 190 | 251 | 266 | 331 |F80|D120|2160|200| 20 | 8 |D18|D14| 45 | 350 | 108 | 195.1| 212
45 5-2F5/18.5 2.5 160L | 140 | 965 | 542 | 365 | 317 | 238 | 190 | 251 | 266 | 331 | @80| 3120|2160\ 3200} 20 | 8 |B18|@14| 45 | 350 | 128 |225.5| 232
45 5-0F5/18.5 2.5 160L | 140 | 965 | 542 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |&80|B3120|B160|@200| 20 | 8 |B18(B14| 45 | 350 | 128 | 225.5| 232
45 6-2F5/22 2.5 180M | 140 | 1037 | 577 | 365 | 360 | 268 | 190 | 251 | 266 | 331 |@80(@120|B160|3200| 20 | 8 |B18|D14| 45 | 350 | 133 | 296 | 303
45 6-0F5/22 2.5 180M | 140 | 1037 | 577 | 365 | 360 | 268 | 190 | 251 | 266 | 331 |F80|@120|2160|200| 20 | 8 |D18|D14| 45 | 350 | 133 | 296 | 303
45 7-2F5/30 2.5 200L | 140 | 1124 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 [@80|D120|D160(J200| 20 | 8 |D18(D14| 45 | 400 | 139 367 -
45 7-0F5/30 2.5 200L | 140 | 1124 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@80|120|B160|B3200| 20 | 8 |B18|DB14| 45 | 400 | 139 | 367 -
45 8-2F5/30 2.5 200L | 140 | 1196 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 [B@80|D120|D160(F200| 20 | 8 |D18(D14| 45 | 400 | 146 374 -
45 8-0F5/30 2.5 200L | 140 | 1196 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@80|120|B160|B3200| 20 | 8 |B18|DB14| 45 | 400 | 146 | 374 -
45 9-2F5/30 2.5 200L | 140 | 1269 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 [380|D120|D160({F200| 20 | 8 |D18|D14| 45 | 400 | 151 379 -
45 9-0F5/37 2.5 200L | 140 | 1269 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@80|120|B160|3200| 20 | 8 |B18|B14| 45 | 400 | 151 | 393 -
45 10-2F5/37 3.0 200L | 140 | 1341 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 [@80|D120|D160(J200| 20 | 8 |D18(D14| 45 | 400 | 156 398 -
45 10-0F5/37 3.0 200L | 140 | 1341 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 | @80|120|B160|3200| 20 | 8 |B18|B14| 45 | 400 | 156 | 398 -

(*) Only for IE3 Motors
1) AEG motor dimensions
2) 1,6 MPa=16 bar

2,5 MPa=25 bar

3,0 MPa=30 bar

405

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
DIMENSIONS TABLE
EVM(.) 64
i i Weight
Pmax. Motor Dimensions [mm] kot
Pump type | [MPa] | ‘oo | H | H2 | H3| E | B | C |BM|BL|BY1|BW| SA|SG| D1 | D2 |H8|SN|D3|BF|BH| A PumD + motor
2 1) H1n Pump P
3~ 3~ | 3~ -

64 1-1F5/4.0 1.6 | 112M | 140 | 525 | 306 | 365 | 196 | 155 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 1-0F5/5.5 1.6 | 1328 | 140 | 546 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 2-2F5/7.5 1.6 | 1328 | 140| 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 2-1F5/11 1.6 | 160M | 140 | 749 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 2-0F5/11 1.6 | 160M | 140 | 749 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 3-3F5/15 1.6 | 160M | 140 | 821 | 498 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@100|2140|B3180(@220| 20
64 3-2F5/15 1.6 | 160M | 140 | 821 | 498 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 3-1F5/15 1.6 | 160M | 140 | 821 | 498 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@100|2140|B3180|@220| 20
64 3-0F5/18.5| 1.6 160L | 140 | 821 | 542 | 365| 317 | 238 | 190 | 251 | 266 | 331 | @100|D140{180|@220| 20
64 4-3F5/18.5| 1.6 160L | 140 | 893 | 542 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@100|D140{180|@220| 20
64 4-2F5/18.5| 1.6 160L | 140 | 893 | 542 | 365 | 317 | 238 | 190 | 251 | 266 | 331 |@100|D140{180|@220| 20
64 4-1F5/22 1.6 | 180M | 140 | 893 | 577 | 365 | 360 | 268 | 190 | 251 | 266 | 331 |F100|D140|B3180|B220| 20
64 4-0F5/22 1.6 | 180M | 140 | 893 | 577 | 365 | 360 | 268 | 190 | 251 | 266 | 331 | 100|140 B3180|@220| 20
64 5-3F5/30 1.6 | 200L | 140| 980 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 | 100|140 3180|@220| 20
64 5-2F5/30 1.6 | 200L | 140| 980 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |F100|2140|B3180|@220| 20
64 5-1F5/30 1.6 | 200L | 140| 980 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |F100|@140|B3180|B220| 20
64 5-0F5/30 1.6 | 200L | 140 | 980 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |F100|2140|B3180|@220| 20
64 6-3F5/30 1.6 | 200L | 140 | 1052 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |F100|2140|B3180|@220| 20
64 6-2F5/30 2.5 | 200L [ 140 | 1052 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@100|D3140|&190|D235| 26
64 6-1F5/37 25 | 200L [ 140 | 1052 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@100|D140|Z190|D235| 26
64 6-0F5/37 25 | 200L [ 140 | 1052 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |&100|D3140|Z190|D235| 26
64 7-3F5/37 25 | 200L [ 140 | 1124 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@100|D3140|2190|D235| 26
64 7-2F5/37 25 | 200L [ 140 | 1124 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@100|D140|&190|D235| 26
64 7-1F5/37 25 | 200L [ 140 | 1124 | 658 | 365 | 399 | 300 | 190 | 251 | 266 | 331 |@100|D140|2190|D235| 26

218|@14| 45| 160 | 70.4 | 93.2 -
218|@14| 45| 300 | 77 | 115.6 -
218|@14| 45| 300 | 81.4 | 121.8 | 123.8
218|@14| 45| 350 | 93.5 | 156 | 166.8
218|@14| 45| 350 | 93.5 | 156 | 166.8
218|@14| 45| 350 | 99 | 186.1| 203
218|@14( 45 | 350 | 99 | 186.1| 203
218|@14( 45| 350 | 99 | 186.1| 203
@18|@14| 45| 350 | 99 | 196.5| 203
@18|@14| 45 | 350 | 108 | 205.5| 212
@18|@14| 45 | 350 | 108 | 205.5| 212
©18|@14| 45 | 350 | 116 | 279 | 286
©18|@14| 45 | 350 | 116 | 279 | 286
@18|@14| 45| 400 | 128 | 356 -
@18|@14| 45| 400 | 128 | 356 -
@18|@14| 45| 400 | 128 | 356 -
218|@14| 45| 400 | 128 | 356 -
218|@14| 45| 400 | 136 | 364 -
@22|@14| 45| 400 | 136 | 364 -
@22|@14| 45| 400 136 | 378 -
@22|@14| 45| 400 136 | 378 -
@22|@14| 45| 400 | 139 | 381 -
@22|@14| 45| 400 [ 139 | 381 -
@22|@14| 45| 400 [ 139 | 381 -

| 0| CO| 0| | CO|CO| || || ||| || ||| O, | 0| |

(*) Only for IE3 Motors
1) AEG motor dimensions
2) 1,6 MPa=16 bar

2,5 MPa=25 bar

406

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J

PACKING

/) TR

s 7 4 TYPE 2

/| TYPE 3

Ry g a—

407

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
PACKING TABLE
EVM(.) 3-5
Pumps Pumps with motor ~1 Pumps with motor ~3

Pump type Packing [mm] Weight |Pack Packing [mm] Weight Pack Packing [mm] Weight |Pack

X v 7 [kafl | Type X v 7 [kaf] Type X v z [kafl | Type
3 2N5/0.37 265 265 410 12.3 1 265 265 525 18.2 1 265 265 525 18.2 1
3 3N5/0.37 265 265 410 12.8 1 265 265 525 18.7 1 265 265 525 18.7 1
3 4N5 0.55 265 265 410 13.3 1 265 265 525 20.5 1 265 265 525 19.8 1
3 5N5/0.55 265 265 410 13.8 1 300 300 825 23.8 2 300 300 825 23.1 2
3 6N5/0.75 265 265 410 14.7 1 300 300 825 29.1 2 300 300 825 26.1 2
3 7N5/0.75 265 265 410 14.9 1 300 300 825 29.3 2 300 300 825 26.3 2
3 9N5/1.1 265 265 525 16 1 300 300 825 30.6 2 300 300 825 29.9 2
3 11N5/1.1 265 265 525 17.4 1 300 300 825 32 2 300 300 825 31.3 2
3 13N5/1.5 265 265 525 18.9 1 300 300 935 39.7 2 300 300 935 35.9 2
3 15N5/1.5 300 300 825 23.2 2 400 400 1047 44 2 300 300 935 37.4 2
3 18F5/2.2 300 300 825 28.8 2 480 480 1147 54 2 400 400 1047 47.5 2
3 22F5/2.2 300 300 935 31.4 2 480 480 1297 57 2 400 400 1047 53 2
3 26F5/3.0 400 400 1047 37.6 2 - - - - - 480 480 1297 63.5 2
5 2N5/0.37 265 265 410 12.5 1 265 265 525 18.4 1 265 265 525 18.4 1
5 3N5/0.55 265 265 410 13 1 265 265 525 20.2 1 265 265 525 19.5 1
5 4N5/0.75 265 265 410 13.9 1 300 300 825 28.3 2 300 300 825 25.3 2
5 5N5/1.1 265 265 410 14.5 1 300 300 825 29.3 2 300 300 825 28.6 2
5 6N5/1.1 265 265 410 15.1 1 300 300 825 29.9 2 300 300 825 29.2 2
5 7N5/1.5 265 265 525 16.1 1 300 300 825 36.7 2 300 300 825 32.9 2
5 8N5/1.5 265 265 525 16.7 1 300 300 935 37.5 2 300 300 935 33.7 2
5 10N5/2.2 300 300 825 21.9 2 300 300 935 41.5 2 300 300 935 38.1 2
5 11N5/2.2 300 300 825 23 2 400 400 1047 45.5 2 300 300 935 39.2 2
5 12N5/2.2 300 300 825 23.7 2 400 400 1047 46 2 400 400 1047 42.5 2
5 14N5/3.0 300 300 825 26 2 - - - - - 400 400 1047 54.4 2
5 16N5/3.0 300 300 825 273 2 - - - - - 400 400 1047 56 2
5 18F5/4.0 300 300 935 32.9 2 - - - - - 480 480 1297 69.1 2
5 19F5/4.0 300 300 935 33.6 2 - - - - - 480 480 1297 70.1 2
5 22F5/4.0 400 400 1047 38 2 - - - - - 410 1350 542 75.6 3
5 24F5/5.5 400 400 1230 45 2 - - - - - 520 1540 547 97.1 3

408

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
EVM(.) 10-18
Pumps Pumps with motor ~1 Pumps with motor ~3
P : . . X . Weight

ump type Packing [mm] Weight| Pack Packing [mm] Weight| Pack Packing [mm] Ikgfl Pack

N v 5 [kdfl | Type N v 5 [kafl | Type N v 5 “ Type
10 2N5/0.75 265 265 410 22 1 300 300 825 33.4 2 300 300 825 30.4 - 2
10 3N5/1.1 265 265 410 23.5 1 300 300 825 35.3 2 300 300 825 34.6 - 2
10 4N5/1.5 265 265 525 25.9 1 300 300 825 43.5 2 300 300 825 39.9 - 2
10 5N5/2.2 265 265 525 26.5 1 300 300 935 46 2 300 300 935 425 - 2
10 6N5/2.2 265 265 525 28 1 300 300 935 47.5 2 300 300 935 44 - 2
10 8N5/3.0 300 300 825 34.6 2 - - - - - 400 400 1047 60 - 2
10 10N5/4.0 300 300 825 35.5 2 - - - - - 400 400 1047 71.6 - 2
10 11N5/4.0 300 300 825 38 2 - - - - - 400 400 1047 741 - 2
10 12N5/5.5 400 400 1047 46 2 - - - - - 480 480 1297 96.1 - 2
10 14N5/5.5 400 400 1047 48.5 2 - - - - - 480 480 1297 98.6 - 2
10 15F5/5.5 400 400 1047 52.5 2 - - - - - 410 1350 542 106.1] - 3
10 16F5/7.5 400 400 1047 54.5 2 - - - - - 410 1350 542 109.4|111.4] 3
10 18F5/7.5 400 400 1047 56.5 2 - - - - - 410 1350 542 111.4{113.4] 3
10 20F5/7.5 400 400 1230 59.5 2 - - - - - 410 1350 542 111.4{113.4| 3
10 22F5/11 400 400 1230 65.5 2 - - - - - 610 1750 597 162.5/173.3] 3
18 2F5/2.2 400 400 780 32.5 2 300 300 825 51.0 2 400 700 780 48.5 - 2
18 3F5/3.0 400 400 780 34 2 - - - - - 400 400 1047 58.5 - 2
18 4F5/4.0 400 400 780 36.5 2 - - - - - 400 400 1047 68.6 - 2
18 5F5/5.5 400 400 780 43.5 2 - - - - - 400 400 1047 91.6 - 2
18 6F5/5.5 400 400 780 46.5 2 - - - - - 400 400 1047 97.6 - 2
18 7F5/7.5 400 400 780 49 2 - - - - - 400 400 1047 100.9102.9] 2
18 8F5/7.5 400 400 1047 50.5 2 - - - - - 480 480 1297 101.4{103.4] 2
18 10F5/11 400 400 1047 61 2 - - - - - 500 1350 552 155.5/166.3| 3
18 12F5/11 400 400 1047 64 2 - - - - - 520 1540 547 159.5/170.3] 3
18 14F5/15 400 400 1230 67.5 2 - - - - - 520 1540 547 159.1| 176 | 3
18 15F5/15 400 400 1230 68 2 - - - - - 520 1540 547 160.1| 177 | 3
18 16F5/15 400 400 1230 71 2 - - - - - 610 1750 597 168.1] 185 | 3

(*) Only for IE3 Motors

409

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
EVM(.) 32
Pumps Pumps with motor ~3

Pump type Packing [mm] Weight [kgf] Pack Packing [mm] Weight [kg] V(\f)elght [k?*f; Pack

X Y z  |evme)evmy)| MPe X Y z  |evmo)|evmp)| Evm) evm)| Pe
32 10F5/2.2 400 400 780 56 | 61 2 400 400 1047 74 | 79 : : 2
32 2.2F5/3.0 400 400 780 58 | 63 | 2 400 400 1047 | 825 | 87,5 | - : 2
32 2-0F5/4.0 400 400 780 58 | 63 | 2 400 400 1047 | 9041 | 95,1 5 : 2
32 3.3F5/5.5 400 400 780 72 79 | 2 400 400 1047 | 123.6 | 130,6 | - : 2
32 31F5/5.5 400 400 780 72 79 | 2 400 400 1047 | 1236 | 1306 | - : 2
32 43F5/7.5 400 400 780 75 | 82 | 2 400 400 1047 | 127,4 | 134,4 | 1294 | 1364 | 2
32 41F5/7.5 400 400 780 75 | 82 | 2 400 400 1047 | 1274 | 1344 | 1204 | 1364 | 2
32 5-3F5/11 400 400 1047 94 | 103 | 2 500 1540 540 187,5 | 196,5 | 198,3 | 207,3 | 3
32 5-0F5/11 400 400 1047 94 | 103 | 2 500 1540 540 187,5 | 196,5 | 198,3 | 207,3 | 3
32 6-3F5/11 400 400 1047 97 | 106 | 2 500 1540 540 190,5 | 199,5 | 201,3 | 210,3 | 3
32 6-2F5/11 400 400 1047 97 | 106 | 2 500 1540 540 190,5 | 199,5 | 201,3 | 210,3 | 3
32 7-3F5/15 400 400 1047 100 | 100 | 2 500 1540 540 193,41 | 2021 | 210 | 219 | 3
32 7-0F5/15 400 400 1047 100 | 100 | 2 500 1540 540 1931 | 2021 | 210 | 219 | 3
32 8.3F5/15 400 400 1240 105 | 115 | 2 500 1540 540 1951 | 2051 | 212 | 222 | 3
32 8.2F5/15 400 400 1240 105 | 115 | 2 500 1540 540 1951 | 2051 | 212 | 222 | 3
32 9-3F5/18.5 400 400 1240 108 | 118 | 2 610 1750 593 | 209,5 | 2195 | 216 | 226 | 3
32 9-0F5/18.5 400 400 1240 108 | 118 | 2 610 1750 593 | 209,5 | 2195 | 216 | 226 | 3
32 10-3F5/18.5 400 400 1240 1 | 122 | 2 610 1750 503 | 212,5 | 223,5 | 219 | 230 | 3
32 102F5/18.5 400 400 1240 1 | 122 | 2 610 1750 503 | 212,5 | 223,5 | 219 | 230 | 3
32 11-3F5/22 400 400 1240 15 | 126 | 2 610 1750 593 264 | 275 | 271 | 282 | 3
32 11-0F5/22 400 400 1240 15 | 126 | 2 610 1750 593 264 | 275 | 271 | 282 | 3
32 12-3F5/22 400 1350 540 122 | 133 | 3 635 2130 587 328 | 339 | 335 | 346 | 3
32 13-3F5/30 500 1350 545 131 | 143 | 3 635 2130 587 387 | 399 : : 3
32 13-0F5/30 500 1350 545 131 | 143 | 3 635 2130 587 387 | 399 . . 3
32 14-3F5/30 500 1350 545 134 | 147 | 3 635 2130 587 390 | 403 n n 3
32 14-0F5/30 500 1350 545 134 | 147 | 3 635 2130 587 300 | 403 - - 3

(*) Only for IE3 Motors

410

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
EVM(.) 45
Pumps Pumps with motor ~3
. . ) ) Weight [kgf]
Pump type Packing [mm] Weight [kgf] | Pack Packing [mm] Weight [kgf] Pack
Type ") @] Type
X Y 4 EVM(G)| EVM(L) X Y 4 EVM(G)| EVM(L)| EVM(G)| EVM(L)
45 1-1F5/3.0 400 400 780 69 76 2 400 400 1047 93.5 | 100.5 - - 2
45 1-0F5/4.0 400 400 780 71 78 2 400 400 1047 106.6 | 110.1 - - 2
45 2-2F5/5.5 400 400 780 79 86 2 400 400 1047 131.4 | 137.6 - - 2
45 2-0F5/7.5 400 400 780 79 86 2 400 400 1047 131.4 | 138.4 | 133.4 | 1404 | 2
45 3-2F5/11 400 400 1047 97 106 2 500 1540 540 190.5 | 199.5 | 201.3 | 2103 | 3
45 3-0F5/11 400 400 1047 97 106 2 500 1540 540 190.5 | 199.5 | 201.3 | 2103 | 3
45 4-2F5/15 400 400 1047 105 115 2 500 1540 540 186.1 | 196.1 203 213 3
45 4-0F5/15 400 400 1047 105 115 2 500 1540 540 186.1 | 196.1 203 213 3
45 5-2F5/18.5 400 400 1240 126 138 2 610 1750 593 227.5 | 239.5 234 246 3
45 5-0F5/18.5 400 400 1240 126 138 2 610 1750 593 227.5 | 239.5 234 246 3
45 6-2F5/22 400 400 1240 130 143 2 610 1750 593 279 292 286 299 3
45 6-0F5/22 400 400 1240 130 143 2 610 1750 593 279 292 286 299 3
45 7-2F5/30 480 480 1297 136 149 2 635 2130 587 396 409 - - 3
45 7-0F5/30 480 480 1297 136 149 2 635 2130 587 396 409 - - 3
45 8-2F5/30 500 1350 545 147 160 3 635 2130 587 403 416 - - 3
45 8-0F5/30 500 1350 545 147 160 3 635 2130 587 403 416 - - 3
45 9-2F5/30 500 1350 545 151 165 3 635 2130 587 407 421 - - 3
45 9-0F5/37 610 1750 593 158 172 3 635 2130 587 421 435 - - 3
45 10-2F5/37 610 1750 593 162 177 3 635 2130 587 425 440 - - 3
45 10-0F5/37 610 1750 593 162 177 3 635 2130 587 425 440 - - 3
(*) Only for IE3 Motors
411

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS EVM

DIMENSIONS AND WEIGHT 50Hz

Rev. J
EVM(.) 64
Pumps Pumps with motor ~3
. . . . Weight [kgf]
Pump type Packing [mm] Weight [kgf] Pack Packing [mm] Weight [kgf] “) ) Pack
X Y z Evm©) |evmy)| YPe X Y z  |evmE)|evmu)|evme)|evmy)| P
64 1-1F5/4.0 400 400 780 69 76 2 400 400 1047 101.1 | 108.1 - - 2
64 1-0F5/5.5 400 400 780 75 82 2 400 400 1047 126.6 | 133.6 - - 2
64 2-2F5/7.5 400 400 780 79 87 2 400 400 1047 131.4 | 1384 | 133.4 | 140.4 2
64 2-1F5/11 400 400 1047 92 100 2 500 1350 545 185.5 | 194.5 | 196.3 | 205.3 3
64 2-0F5/11 400 400 1047 92 100 2 500 1350 545 185.5 | 194.5 | 196.3 | 205.3 3
64 3-3F5/15 400 400 1047 97 106 2 500 1540 540 191.1 | 200.1 208 217 3
64 3-2F5/15 400 400 1047 97 106 2 500 1540 540 191.1 | 200.1 208 217 3
64 3-1F5/15 400 400 1047 97 106 2 500 1540 540 191.1 | 200.1 208 217 3
64 3-0F5/18.5 400 400 1047 97 106 2 500 1540 540 195.5 | 204.5 202 211 3
64 4-3F5/18.5 400 400 1047 105 115 2 500 1540 540 203.5 | 213.5 210 220 3
64 4-2F5/18.5 400 400 1047 105 115 2 500 1540 540 203.5 | 213.5 210 220 3
64 4-1F5/22 400 400 1047 112 123 2 610 1750 593 264 275 271 282 3
64 4-0F5/22 400 400 1047 112 123 2 610 1750 593 264 275 271 282 3
64 5-3F5/30 480 480 1147 126 138 2 610 1750 593 325 337 - - 3
64 5-2F5/30 480 480 1147 126 138 2 610 1750 503 325 337 - - 3
64 5-1F5/30 480 480 1147 126 138 2 610 1750 593 325 337 - - 3
64 5-0F5/30 480 480 1147 126 138 2 610 1750 593 325 337 - - 3
64 6-3F5/30 480 480 1297 134 146 2 635 2130 587 394 406 - - 3
64 6-2F5/30 480 480 1297 134 146 2 635 2130 587 394 406 - - 3
64 6-1F5/37 480 480 1297 134 146 2 635 2130 587 408 420 - - 3
64 6-0F5/37 480 480 1297 134 146 2 635 2130 587 408 420 - - 3
64 7-3F5/37 480 480 1297 136 149 2 635 2130 587 410 423 - - 3
64 7-2F5/37 480 480 1297 136 149 2 635 2130 587 410 423 - - 3
64 7-1F5/37 480 480 1297 136 149 2 635 2130 587 410 423 - - 3
(*) Only for IE3 Motors
412

% E2ARA EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

TECHNICAL DATA

50Hz

*

MOTOR DATA EVM(.) 3-18

M Capacitor Full load efficency Full load current [A] Locked rotor current [A]
lotor d power-factor
Efficiency Single phase andp Single Three phase Single Three phase
Pump type Power Single phase Three phase Phase Phase
; % - % -
Single | Three [ Motor| vy | wien | ey | vy | M7 | o5 ne €S| 530 | 230V | 400v | 690V | 230V | 230V | 400V | 690V
Phase | Phase | S28 100% | 100% | 50% | 75% | 100% | 100%
3 2N5/0.37 - - 7 0.37 0.5 16 400 57.6 | 0.89 | 580 | 64.0 | 70.0 | 0.78 3.1 1.7 1.0 - 9.6 8.1 4.7 -
3 3N5/0.37 - - 7 0.37 0.5 16 400 576 | 0.89 | 580 | 64.0 | 70.0 | 0.78 31 1.7 1.0 - 9.6 8.1 4.7 -
3 4N5 0.55 - - 7 0.55 | 0.75 16 400 69.0 | 0.89 | 57.0 | 64.0 | 71.0 | 0.77 3.9 26 15 - 13.6 125 72 -
3 5N5/0.55 - - 7 055 | 0.75 16 400 69.0 | 0.89 | 57.0 | 64.0 | 71.0 | 0.77 3.9 26 15 - 13.6 125 72 -
3 6N5/0.75 - IE2 80 0.75 1 25 400 65.0 | 0.95 | 77.3 | 785 | 80.5 | 0.78 53 2.9 1.7 - 28.1 19.4 11.9 -
3 7N5/0.75 - IE2 80 0.75 1 25 400 65.0 | 0.95 | 77.3 | 785 | 80.5 | 0.78 53 29 1.7 - 28.1 19.4 11.9 -
3 9N5/1.1 - IE2 80 1.1 15 36 400 740 | 097 | 795 | 812 | 815 | 0.78 6.5 43 25 - 26.0 | 294 17.0 -
3 11N5/1.1 - IE2 80 1.1 1.5 36 400 74.0 | 097 | 795 | 81.2 | 815 | 0.78 6.5 4.3 25 - 26.0 | 294 17.0 -
¢  313N5/1.5 - IE2 90S 1.5 2 35 400 79.0 | 097 | 810 | 828 | 828 | 0.80 8.8 55 32 - 46.0 | 449 | 259 -
¢ 315N5/1.5 - IE2 920S 1.5 2 35 400 79.0 | 097 | 810 | 828 | 828 | 0.80 8.8 55 32 - 46.0 | 449 | 259 -
¢ 318F522 - IE2 o0L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 76 4.4 - 61.0 | 64.8 | 374 -
* 3 22F5/2.2 - IE2 90L 22 3 40 400 78.0 0.97 825 84.0 84.0 0.85 12,9 76 4.4 - 61.0 64.8 37.4 -
3 26F5/3.0 - IE2 | 100L 3 4 - - - - 84.1 858 | 855 | 0.84 - 10.2 59 - - 81.8 | 47.2 -
5 2N5/0.37 - - 7 0.37 0.5 16 400 57.6 | 0.89 | 580 | 64.0 | 70.0 | 0.78 3.1 1.7 1.0 - 9.6 8.1 4.7 -
5 3N5/0.55 - - 71 055 | 0.75 16 400 69.0 | 0.89 | 57.0 | 64.0 | 71.0 | 0.77 3.9 26 15 - 13.6 125 72 -
5 4N5/0.75 - IE2 80 0.75 1 25 400 65.0 | 095 | 77.3 | 785 | 80.5 | 0.78 53 29 1.7 - 28.1 19.4 11.9 -
5 5N5/1.1 - IE2 80 1.1 15 36 400 740 | 097 | 795 | 81.2 | 815 | 0.78 6.5 4.3 25 - 26.0 | 294 17.0 -
56N5/1.1 - IE2 80 1.1 15 36 400 74.0 0.97 79.5 81.2 815 0.78 6.5 4.3 25 - 26.0 29.4 17.0 -
A4 57N5/1.5 - IE2 90S 15 2 35 400 79.0 | 097 | 810 | 828 | 828 | 0.80 8.8 55 32 - 46.0 | 449 | 259 -
* 5 8N5/1.5 - IE2 920S 15 2 35 400 79.0 | 097 | 810 | 828 | 828 | 0.80 8,8 55 32 - 46.0 | 449 | 259 -
¢ 510N5/2.2 - IE2 90L 22 3 40 400 78.0 0.97 82.5 84.0 84.0 0.85 12,9 76 4.4 - 61.0 64.8 37.4 -
¢  511IN5/2.2 - IE2 90L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 76 44 - 610 | 648 | 374 -
¢ 512N5/2.2 - IE2 90L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 76 4.4 - 610 | 648 | 374 -
5 14N5/3.0 - IE2 | 100L 3 4 - - - - 84.1 85.8 | 855 | 0.84 - 10.2 5.9 - - 81.8 | 47.2 -
5 16N5/3.0 - IE2 | 100L 3 4 - - - - 84.1 858 | 855 | 0.84 - 10.2 59 - - 81.8 | 47.2 -
5 18F5/4.0 - IE2 |112M 4 55 - - - - 85.2| 864 | 86.1| 0.86 - 13.5 78 - - 1109 | 64.0 -
5 19F5/4.0 - IE2 |112M 4 55 - - - - 852 | 864 | 86.1| 0.86 - 13.5 78 - - 110.9 | 64.0 -
5 22F5/4.0 - IE2 |112M 4 55 - - - - 852 | 864 | 86.1| 0.86 - 135 78 - - 110.9 | 64.0 -
5 24F5/5.5 - IE2 |1328| 55 75 - - - - 858 | 874 | 87.3 | 0.88 - - 10.4 6.0 - - 83.2 | 48.0
10 2N5/0.75 - IE2 80 0.75 1 25 400 65.0 | 0.95 | 77.3 | 785 | 80.5 | 0.78 53 29 1.7 - 28.1 19.4 11.9 -
10 3N5/1.1 - IE2 80 1.1 15 36 400 740 | 097 | 795 | 81.2 | 815 | 0.78 6.5 43 25 - 26.0 | 294 17.0 -
¢ 104N5/1.5 - IE2 90S 1.5 2 35 400 79.0 | 097 | 810 | 828 | 828 | 0.80 8.8 55 32 - 46.0 | 449 | 259 -
¢  105N5/22 - IE2 o0L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 7.6 4.4 - 61.0 | 64.8 | 374 -
*  106N5/2.2 - IE2 90L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 76 44 - 61.0 | 648 | 37.4 -
10 8N5/3.0 - IE2 | 100L 3 4 - - - - 84.1 858 | 855 | 0.84 - 10.2 59 - - 81.8 | 47.2 -
10 10N5/4.0 - IE2 |112M 4 55 - - - - 852 | 86.4| 86.1| 0.86 - 13.5 78 - - 110.9 | 64.0 -
10 11N5/4.0 - IE2 |112M 4 55 - - - - 852 | 864 | 86.1| 0.86 - 135 78 - - 110.9 | 64.0 -
10 12N5/5.5 - IE2 |1328| 55 75 - - - - 858 | 87.4 | 87.3 | 0.88 - - 10.4 6.0 - - 832 | 48.0
10 14N5/5.5 - IE2 |1328| 55 75 - - - - 858 | 874 | 87.3 | 0.88 - - 10.4 6.0 - - 832 | 48.0
10 15F5/5.5 - IE2 |132S| 55 75 - - - - 858 | 874 | 87.3 | 0.88 - - 10.4 6.0 - - 83.2 | 48.0
- IE2 - - - - 86.5 | 88.3 | 88.3 | 0.87 - - 14.2 8.2 - - 115.0 | 66.4
10 16F5/7.5 1328| 75 10
- IE3 - - - - 89.4 | 91.0 | 911 0.88 - - 13.5 7.8 - - 103.9 | 60.0
- IE2 - - - - 86.5 | 88.3 | 883 | 0.87 - - 14.2 8.2 - - 115.0 | 66.4
10 18F5/7.5 1328| 7.5 10
- IE3 - - - - 89.4 | 91.0 | 911 0.88 - - 13.5 78 - - 103.9 | 60.0
- IE2 - - - - 86.5 | 88.3 | 88.3 | 0.87 - - 14.2 8.2 - - 115.0 | 66.4
10 20F5/7.5 1328| 7.5 10
- IE3 - - - - 89.4 | 91.0 | 911 0.88 - - 13.5 7.8 - - 103.9 | 60.0
- IE2 - - - - 88.1 90.0 | 89.7 | 0.90 - - 19.8 11.4 - - 1485 | 85.7
10 22F5/11 160M| 11 15
- IE3 - - - - 88.7 | 90.5 | 91.2 | 0.89 - - 19.5 1.2 - - 216.4 | 125.0
*  182F512.2 - IE2 o0L 22 3 40 400 78.0 | 0.97 | 825 | 84.0 | 84.0 | 0.85 12,9 7.6 4.4 - 61.0 | 64.8 | 374 -
18 3F5/3.0 - IE2 | 100L 3 4 - - - - 84.1 858 | 855 | 0.84 - 10.2 59 - - 81.8 | 47.2 -
18 4F5/4.0 - IE2 |112M 4 55 - - - - 852 | 86.4 | 86.1| 0.86 - 135 78 - - 1109 | 64.0 -
18 5F5/5.5 - IE2 |132S| 5.5 75 - - - - 858 | 874 | 87.3 | 0.88 - - 10.4 6.0 - - 83.2 | 48.0
18 6F5/5.5 - IE2 |1328| 55 75 - - - - 858 | 874 | 87.3 | 0.88 - - 10.4 6.0 - - 83.2 | 48.0
- IE2 - - - - 86.5 | 88.3 | 88.3 | 0.87 - - 14.2 8.2 - - 115.0 | 66.4
18 7F5/7.5 1328| 75 10
- IE3 - - - - 89.4 | 91.0 | 911 0.88 - - 13.5 7.8 - - 103.9 | 60.0
- IE2 - - - - 86.5 | 88.3 | 88.3 | 0.87 - - 14.2 8.2 - - 115.0 | 66.4
18 8F5/7.5 1328| 75 10
- IE3 - - - - 89.4 | 91.0 | 911 0.88 - - 13.5 7.8 - - 103.9 | 60.0
- IE2 - - - - 88.1 90.0 | 89.7 | 0.90 - - 19.8 1.4 - - 148.5| 857
18 10F5/11 160M| 11 15
- IE3 - - - - 88.7 90.5 91.2 0.89 - - 19.5 11.2 - - 216.4 | 125.0
- IE2 - - - - 88.1 90.0 | 89.7 | 0.90 - - 19.8 1.4 - - 1485 | 85.7
18 12F5/11 160M| 11 15
- IE3 - - - - 887 | 90.5 | 91.2 | 0.89 - - 195 | 11.2 - - 216.4 | 125.0
- IE2 - - - - 90.0 91.0 90.8 0.88 - - 27.2 15.7 - - 206.7 | 119.3
18 14F5/15 160M| 15 20
- IE3 - - - - 895 | 914 | 920 | 0.88 - - 26.7 15.4 - - 333.7 | 1927
- IE2 - - - - 90.0 | 91.0 | 90.8 | 0.88 - - 27.2 15.7 - - 206.7 | 119.3
18 15F5/15 160M| 15 20
- IE3 - - - - 89.5 914 92.0 0.88 - - 26.7 15.4 - - 333.7 | 1927
- IE2 - - - - 90.0 | 91.0 | 90.8 | 0.88 - - 27.2 15.7 - - 206.7 | 119.3
18 16F5/15 160M| 15 20
- IE3 - - - - 89.5 | 914 | 920 | 0.88 - - 26.7 15.4 - - 333.7 | 1927

Single phase motors manufactured by Ebara

Rev. J

500

E2ARA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

TECHNICAL DATA

50Hz

Rev. J

Motor
Full load efiicency Full load current [A] Locked rotor current [A]
and power-factor
Pump type Efficiency Power
Motor
) n% cos—¢
size [kW] | [HP] 230V | 400V | 690V | 230V | 400V | 690V
50% | 75% | 100% | 100%
32 1-0F5/2.2 IE2 90L 2,2 3 82,5 | 84,0 | 84,0 | 0,85 7,6 4,4 - 64,8 37,4 -
32 2-2F5/3.0 IE2 100L 3 4 84,1 | 858 | 855 | 0,84 10,2 59 - 81,8 47,2 -
32 2-0F5/4.0 IE2 112M 4 55 852 | 86,4 | 86,1 | 0,86 13,5 7,8 - 110,9 64,0 -
32 3-3F5/5.5 IE2 1328 55 75 858 | 87,4 | 87,3 | 0,88 - 10,4 6,0 - 83,2 48,0
32 3-1F5/5.5 IE2 1328 5,5 7,5 858 | 87,4 | 87,3 | 0,88 - 10,4 6,0 - 83,2 48,0
IE2 86.5 | 88.3 | 88,3 | 0,87 - 14,2 8,2 - 115,0 66,4
32 4-3F5/7.5 1328 7,5 10
IE3 89.4 [ 91.0 | 91,1 | 0,88 - 13,5 7.8 - 103,9 60,0
IE2 86.5 | 88.3 | 88,3 | 0,87 - 14,2 8,2 - 115,0 66,4
32 4-1F5/7.5 1328 75 10
IE3 89.4 [ 91.0 | 91,1 | 0,88 - 13,5 7,8 - 103,9 60,0
IE2 88,1 [ 90,0 | 89,7 | 0,90 - 19,8 11,4 - 148,5 85,7
32 5-3F5/11 160M 11 15
IE3 88.7 | 90.5 | 91,2 | 0,89 - 19,5 11,2 - 216,4 | 125,0
IE2 88,1 [ 90,0 | 89,7 | 0,90 - 19,8 11,4 - 148,5 85,7
32 5-0F5/11 160M 11 15
IE3 88.7 | 90.5 | 91,2 | 0,89 - 19,5 11,2 - 216,4 | 125,0
IE2 88,1 [ 90,0 | 89,7 | 0,90 - 19,8 11,4 - 148,5 85,7
32 6-3F5/11 160M 11 15
IE3 88.7 [ 90.5 | 91,2 | 0,89 - 19,5 11,2 - 216,4 | 125,0
IE2 88,1 [ 90,0 | 89,7 | 0,90 - 19,8 11,4 - 148,5 85,7
32 6-2F5/11 160M 11 15
IE3 88.7 | 90.5 | 91,2 | 0,89 - 19,5 11,2 - 216,4 | 125,0
IE2 90,0 [ 91,0 | 90,8 | 0,88 - 27,2 15,7 - 206,7 | 119,3
32 7-3F5/15 160M 15 20
IE3 89,5 | 914 | 92,0 | 0,88 - 26,7 15,4 - 333,7 | 192,7
IE2 90,0 [ 91,0 | 90,8 | 0,88 - 27,2 15,7 - 206,7 | 119,3
32 7-0F5/15 160M 15 20
IE3 89,5 | 914 | 92,0 | 0,88 - 26,7 15,4 - 333,7 | 192,7
IE2 90,0 [ 91,0 | 90,8 | 0,88 - 27,2 15,7 - 206,7 | 119,3
32 8-3F5/15 160M 15 20
IE3 89,5 | 91,4 | 92,0 | 0,88 - 26,7 15,4 - 333,7 | 192,7
IE2 90,0 [ 91,0 | 90,8 | 0,88 - 27,2 15,7 - 206,7 | 119,3
32 8-2F5/15 160M 15 20
IE3 89,5 | 91,4 | 92,0 | 0,88 - 26,7 15,4 - 333,7 | 192,7
IE2 90,3 [ 91,6 | 91,2 | 0,88 - 33,3 19,3 - 263,1 | 152,0
32 9-3F5/18.5 160L 18,5 25
IE3 89,7 | 91,7 | 92,4 | 0,82 - 35,3 20,4 - 451,8 | 260,8
IE2 90,3 [ 91,6 | 91,2 | 0,88 - 33,3 19,3 - 263,1 | 152,0
32 9-0F5/18.5 160L 18,5 25
IE3 89,7 | 91,7 | 92,4 | 0,82 - 35,3 20,4 - 451,8 | 260,8
IE2 90,3 [ 91,6 | 91,2 | 0,88 - 33,3 19,3 - 263,1 | 152,0
32 10-3F5/18.5 160L 18,5 25
IE3 89,7 | 91,7 | 92,4 | 0,82 - 35,3 20,4 - 451,8 | 260,8
IE2 90,3 [ 91,6 | 91,2 | 0,88 - 33,3 19,3 - 263,1 | 152,0
32 10-2F5/18.5 160L 18,5 25
IE3 89,7 | 91,7 | 92,4 | 0,82 - 35,3 20,4 - 451,8 | 260,8
IE2 90.9 [ 91.8 | 91.4 | 0,89 - 39,0 22,5 - 292,5 | 168,9
32 11-3F5/22 180M 22 30
IE3 925 [ 93.1 | 92.9 | 0.90 - 38,0 22,0 - 364,8 | 210,6
IE2 90.9 [ 91.8 | 91.4 | 0,89 - 39,0 22,5 - 292,5 | 168,9
32 11-0F5/22 180M 22 30
IE3 925 [ 93.1 | 92.9 | 0.90 - 38,0 22,0 - 364,8 | 210,6
IE2 90.9 [ 91.8 | 91.4 | 0,89 - 39,0 22,5 - 292,5 | 168,9
32 12-3F5/22 180M 22 30
IE3 925 | 93.1 | 92.9 | 0.90 - 38,0 22,0 - 364,8 | 210,6
32 13-3F5/30 IE2 200L 30 40 913 | 92.3 | 92.3 | 0,88 - 53,5 30,9 - 358,5 | 206,9
32 13-0F5/30 IE2 200L 30 40 91.3 | 92.3 | 92.3 | 0,88 - 53,5 30,9 - 358,5 | 206,9
32 14-3F5/30 IE2 200L 30 40 913 | 92.3 | 92.3 | 0,88 - 53,5 30,9 - 358,5 | 206,9
32 14-0F5/30 IE2 200L 30 40 91.3 | 92.3 | 92.3 | 0,88 - 53,5 30,9 - 358,5 | 206,9

501

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

TECHNICAL DATA

50Hz

Rev. J
Motor i
Full load efficency Full load current [A] Locked rotor current [A]
and power-factor
Pump type Efficiency Power
Motor
) n % cos—¢
size [kW] [HP] 230V | 400V | 690V | 230V | 400V | 690V
50% 75% | 100% | 100%
45 1-1F5/3.0 IE2 100L 4 84.1 85.8 85.5 0.84 10.2 5.9 - 81.8 47.2 -
45 1-0F5/4.0 IE2 112M 4 5.5 85.2 86.4 86.1 0.86 13.5 7.8 - 1109 | 64.0 -
45 2-2F5/5.5 IE2 1328 55 7.5 85.8 87.4 87.3 0.88 - 10.4 6.0 - 83.2 48.0
IE2 86.5 88.3 88.3 0.87 - 14.2 8.2 - 115.0 | 66.4
45 2-0F5/7.5 1328 75 10
IE3 89.4 91.0 91.1 0.88 13.5 7.8 103.9 | 60.0
IE2 88.1 90.0 89.7 0.90 - 19.8 11.4 - 1485 | 85.7
45 3-2F5/11 160M 11 15
IE3 88.7 90.5 91.2 0.89 19.5 11.2 216.4 | 125.0
IE2 88.1 90.0 89.7 0.90 - 19.8 11.4 - 148.5 | 85.7
45 3-0F5/11 160M 11 15
IE3 88.7 90.5 91.2 0.89 19.5 11.2 216.4 | 125.0
IE2 90.0 91.0 90.8 0.88 - 27.2 15.7 - 206.7 | 119.3
45 4-2F5/15 160M 15 20
IE3 89.5 914 92.0 0.88 26.7 15.4 333.7 | 192.7
IE2 90.0 91.0 90.8 0.88 - 27.2 15.7 - 206.7 | 1193
45 4-0F5/15 160M 15 20
IE3 89.5 914 92.0 0.88 26.7 15.4 333.7 | 192.7
IE2 90.3 91.6 91.2 0.88 - 33.3 19.3 - 263.1 | 152.0
45 5-2F5/18.5 160L 18.5 25
IE3 89.7 91.7 92.4 0.82 35.3 20.4 451.8 | 260.8
IE2 90.3 91.6 91.2 0.88 - 33.3 19.3 - 263.1 | 152.0
45 5-0F5/18.5 160L 18.5 25
IE3 89.7 91.7 92.4 0.82 35.3 20.4 451.8 | 260.8
IE2 90.9 91.8 914 0.89 - 39.0 22.5 - 2925 | 168.9
45 6-2F5/22 180M 22 30
IE3 92,5 93.1 92.9 0.90 38.0 22.0 364.8 | 210.6
IE2 90.9 91.8 91.4 0.89 - 39.0 22.5 - 2925 | 168.9
45 6-0F5/22 180M 22 30
IE3 92,5 93.1 92.9 0.90 38.0 22.0 364.8 | 210.6
45 7-2F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
45 7-0F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
45 8-2F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
45 8-0F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
45 9-2F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
45 9-0F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
45 10-2F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
45 10-0F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

EVM

TECHNICAL DATA

50Hz

Rev. J
Motor i
Ful load efficency Full load current [A] Locked rotor current [A]
and power-factor
Pump type Efficiency Power
Motor o
X n % cos—¢
size [kW] [HP] 230V | 400V | 690V | 230V | 400V | 690V
50% 75% 100% | 100%
64 1-1F5/4.0 IE2 112M 4 55 85.2 86.4 86.1 0.86 13.5 7.8 - 110.9 | 64.0 -
64 1-0F5/5.5 IE2 1328 55 75 85.8 87.4 87.3 0.88 - 10.4 6.0 - 83.2 48.0
IE2 86.5 88.3 88.3 0.87 - 14.2 8.2 - 115.0 | 66.4
64 2-2F5/7.5 132S 7.5 10
IE3 89.4 91.0 91.1 0.88 13.5 7.8 103.9 | 60.0
IE2 88.1 90.0 89.7 0.90 - 19.8 11.4 - 1485 | 85.7
64 2-1F5/11 160M 11 15
IE3 88.7 90.5 91.2 0.89 19.5 11.2 216.4 | 125.0
IE2 88.1 90.0 89.7 0.90 - 19.8 11.4 - 1485 | 85.7
64 2-0F5/11 160M 11 15
IE3 88.7 90.5 91.2 0.89 19.5 11.2 216.4 | 125.0
IE2 90.0 91.0 90.8 0.88 - 27.2 15.7 - 206.7 | 119.3
64 3-3F5/15 160M 15 20
IE3 89.5 91.4 92.0 0.88 26.7 15.4 333.7 | 192.7
IE2 90.0 91.0 90.8 0.88 - 27.2 15.7 - 206.7 | 119.3
64 3-2F5/15 160M 15 20
IE3 89.5 91.4 92.0 0.88 26.7 15.4 333.7 | 192.7
IE2 90.0 91.0 90.8 0.88 - 27.2 15.7 - 206.7 | 119.3
64 3-1F5/15 160M 15 20
IE3 89.5 91.4 92.0 0.88 26.7 15.4 333.7 | 192.7
IE2 90.3 91.6 91.2 0.88 - 33.3 19.3 - 263.1 | 152.0
64 3-0F5/18.5 160L 18.5 25
IE3 89.7 91.7 92.4 0.82 35.3 20.4 451.8 | 260.8
IE2 90.3 91.6 91.2 0.88 - 33.3 19.3 - 263.1 | 152.0
64 4-3F5/18.5 160L 18.5 25
IE3 89.7 91.7 92.4 0.82 35.3 20.4 451.8 | 260.8
IE2 90.3 91.6 91.2 0.88 - 33.3 19.3 - 263.1 | 152.0
64 4-2F5/18.5 160L 18.5 25
IE3 89.7 91.7 92.4 0.82 35.3 20.4 451.8 | 260.8
IE2 90.9 91.8 91.4 0.89 - 39.0 22.5 - 292.5 | 168.9
64 4-1F5/22 180M 22 30
IE3 92.5 93.1 92.9 0.90 38.0 22.0 364.8 | 210.6
IE2 90.9 91.8 914 0.89 - 39.0 22.5 - 292.5 | 168.9
64 4-0F5/22 180M 22 30
IE3 92.5 93.1 92.9 0.90 38.0 22.0 364.8 | 210.6
64 5-3F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 5-2F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 5-1F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 5-0F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 6-3F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 6-2F5/30 IE2 200L 30 40 91.3 92.3 92.3 0.88 - 53.5 30.9 - 358.5 | 206.9
64 6-1F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
64 6-0F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
64 7-3F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
64 7-2F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6
64 7-1F5/37 IE2 200L 37 50 91.6 92.9 92.8 0.90 - 64.5 37.2 - 406.4 | 234.6

_—J=-TETY

EBARA PUMPS EUROPE S.p.A.



	EVM 50HZ
	Contents
	Specifications
	Specifications EVM 3-18
	Specifications EVM 32-64
	Selection chart
	Selection chart EVM 3-18
	Selection chart EVM 32-64

	Type key and curve specifications
	Type key EVM 3-18
	Type key EVM 32-64
	Performance curve specifications

	Performance curve EVM 3
	Performance curve EVM 5
	Performance curve EVM 10
	Performance curve EVM 18
	Performance curve EVM 32
	Performance curve EVM 45
	Performance curve EVM 64

	Construction
	Sectional view
	Sectional view EVM 3
	Sectional view EVM 5
	Sectional view EVM 10
	Sectional view EVM 18
	Sectional view EVM 32
	Sectional view EVM 45
	Sectionale view EVM 64

	Bearings
	Mechanical seal EVM 3-18
	Mechanical seal EVM 32-64

	Dimensions and weight
	Pump 
	EVM 3-18
	EVM 32-64

	Packing
	Packing table EVM 3-5
	Packing table EVM 10-18
	Packing table EVM 32
	Packing table EVM 45
	Packing table EVM 64


	Tecnical data
	Motor data EVM 3-18
	Motor data EVM 32
	Motor data EVM 45
	Motor data EVM 64





